—_

|
1.1

-

5 ol Vaiue Pack -

For Asian Vehicles .
o Mk » KA

* Mo MA Lt v

+ Buywte i

ASSORTMENT GUIDE


https://www.carid.com/dorman/

DORMAN. Hardware
lmzzm: Assoriments

Parts Store Drawer/Wal

005-098 0 Drain Plug Gaskets..............oo....... -
005-100 0 Drain Plug Gaskets...........o.oror.. 23

005-113 0il Drain Plug and Gasket Update Kit.............. 3
005-114 0il Drain Plug and Gasket Kit..........coev-... 34
005-563 Expansion Plugs 4

008-150 Standard Automofive Grade 8 Hex Head

Cap Screws, Nuts, Washers 1/4" thru 7/16"....4-5
008-151 Standard Automofive Grade 8 Hex Head

Cap Screws, Nuts, Washers 1/2" thry 3/4"........5

008-155 Standard Grade 5 Hex Head Cap Screws,

Nuts, Washers 1/4" thru 7/16-....................5-6
008-156 Standard Grade 5 Hex Head Cap Screws,

Nuts, Washers 1/2° thit 3/4" .veereerr 6

008-160 Metric Automotive Class 10/10.9 Hex Head

Cap Screws, Nuts, Washers M6 thru MI0........... 7
008-161 Metric Automofive Class 10/10.9 Hex Head

Cap Serews, Nuts, Washers M12 thru MT6.......... 7

Dealer Pak® Coverage Guide....................20

015-624 Dealer-Pak® Whee! Hardvare... 2B

025-070 Dealer-Pak® Fasteners - Standard Grade 8
Coarse 29

025-075 Dealer-Pak® Fasteners, Metric Closs 8.9.........29
025-085 Dealer-Pak® Fasteners, Metric Closs 8.8 -
Fine Pitch 29-30
025-150 Dealer-Pok® Stondard Fasteners, Grade 5.......30
025-160 Dealer-Pak® Standard Fasteners, Grade 5 -
Popular 30-31

Cotter Pins Tech Tray.....

Self Drilling Screws

Cabin Air Filfer Hardware Tech Tray.................39
Window Guides

Wiper Linkage BUshings .............cowecveseee
Spark Plug Wire Refainers.

Heater Hose Connectors ....

Exhaust Hardware.........c..ccoeoeceeeeeser
Door Hinge Pins

Control Knobs

License Plate Hordware Tech Tray..................... 4
Vocuum Tees & Connectors Tech Tray...............44
0il Drain Plugs with Gaskets Tech Tray.............45
0il Drain Plug Gaskefs Tech Tray ........cocovc.. 45
Wheel Nut Covers Tech Tray.......oococeecvevrecee 46
Shop Hardware Tech Tray..... —
PushIn Nylon Chrismas Tree Fasteners

Tech Tray 47
GM/Chrysler Body Retainers Tech Tray............47

Ford Body Retainers Tech Tray..............oo.o......48

Stock Hardware Assoriment Fixtures ]

008-162 Mefric Class 8/8.8 Hex Head Cap Screws,

Nuts, Washers M4 thru M8...........coc...... 7-8
008-163 Metric Class 8/8.8 Hex Head Cap Screws,

Nuts, Washers MT0 thru MT2.........coocoecrc 8
008-171 Maintenance Fasleners - Clevis, Cotfer &

Roll Pins 8.9
008-640 Wheel Nut Covers 9
008-642 2005 Wheel Hardware Update.........................9
008-650 Wheel Hardware Updoe...... .
008-651 Wheel Hardware Updae...... .
008-652 Wheel Hordware Update.............ocoocvceree
008-657 0il Drain Plugs
008-658 0il Drain Plugs
008-662 Wheel Hordware
008-663 Wheel Hordware...
008-664 Wheel Hordware -
008-677 Metric and Standard Double Fnded Studs.......... 14
008-678 Metric and Standard Double Ended Studs.........

025-320 Dealer-Pak® Standard Fasteners, Grade 5 -

Full 3
025-250 Dealer-Pak® Fasteners, Metric Class 8.8 -

Fine Pitch 32
025-555 Dealer-Pak® Maintenance Hardwore .........32-33
Dealer Pak® Empty Hardware Opfions...........33
Installer-Pak® Coverage Guide....................33

047-092 Installer-Pak® 0il Drain Plug Gaskes..... 5'4
047-191 Installer-Pak® 0il Drain Plugs with Gaskefs ..

Import Body Retainers Tech Tray.............
Metric Body Bolts and Nuts Tech Tray .. A4
Push In/Screw In Retainers Tech Tray...............
Quick Disconnect™ Cooling/Transmission
Connectors & Clps Tech Tray.....
Quick Disconnect™ Connectors Tech ]’m

Quick Disconnect™ Retaining Clips Terh Tray....51
Quick Disconnect™ Transmission Line

Connectors Tech Tray .... |
Quick Disconnect™ Oif Line Connedtors

Tech Tray 52
Quick Disconnect™ Master Tech Tray ...............52
Quick Disconnect™ Fuel Line Connecors

Tech Tray 53
Quick Disconnect™ Fuel Line & Sending Unit
Repair Tech Tray 53
Quick Disconnect™ Fuel Line Repair Ki...........55
Distributor O-Rings Tech Tray.d........ .5
Coolant O-Rings Tech THay ..o

USS Grade 5 Stondard Hardware Valve Pack....56
Metric Class 8 JIS Hardware Volve Pack............56

Alphabetical Index

‘TABLE OF CONTENTS

Parls Store Stock - Empty Hardware Options...14

Wall Mount Assorfments
512110 Dorman Fosteners - Flat Wal................. L1518
512114 Dorman Chrome Wheel Hardware

(Lock Sefs). 19
512115 Dorman Chrome Wheel Hordware

{Lock And Nut Sets)...oocooeerceseerc. L20-21
512116 0il-Te® Drain Plugs ond Gaske...........21-22
512117 SPINDLETITET™ Spindle Hordware................. 23
512118 DORMAN Body Hardware............. 232
512120 DORMAN License Plate Hardware.................... 25

512327 VACU-TITER® Vacuum Conneclors & Tubing..25-26
512338 7 Drain™ Oil Drain Valves

800-999 Dorman® Quick Disconnedt® ... 27
047-614 Installer-Pak® Chrome Wheel Nuss................34
047-616 Instoller-Pak® Wheel Hardware -

Fast (Only Top MOVErs)...........oceeesrrrerennc35
047-617 Installer-Pak™ Wheel Hardware -

Popular (Com ngere (overage).... )
047-676 !nsfaﬁe.r?nk Standard Double-Ended

Wheel Studs 35-36

047-679 Installer-Pak® Metric Double-Ended Studs.......36

Installer-Pak® - Empty Hardware Opfions.......36

USS Grade 5 Standord Hardware Volve Pack....
Class 8/8.8 Metric Harcware Valve Pock ..........
Metric Class 8 DIN Hardware Valve Pack........
Elips and Snap Rings Volve Pock.............
Washers Value Pack.
Vacwum Caps Valve Pack........oooceseceeee
Vacuun Connectors Value Pack )
Horme Assortment Value Pack....................
Cotter Pins Value Pack
Stove Bolfs with Nuts Value Pork....................
Clomps Value Pack
Aluminum Rivets Volue Potk.........................
Rivet Assortment Value Pack ....
Metric 0-Rings Value Pack......
Standord 0-Rings Volve Pack ..
Meiric 0-Rings Value Pack .......
Standard 0-Rings Volue Pack.......
Stainless Stee! Hardware Valve Pack..............59
Stainless Steel Sheet Mefal Srews Volue Pack...59
Mainfenance Hardware Value Patk.................59

N

Numerical Index



Complete Dorman Assortment Summary Chart by Product

What & how to best stock each product line o

HARDWARE
based on your hardware coverage goal HABDWARE
. Parts Store Stock . Installer/Dealer-Pak Drawers . Tech Tray/Value Pack GOAL

PARTS STORE |SERVICE DEALER

% [ [7]

8 S &

< ES| B

L o o _
ASSORTMENT = A HERFRRRHEE
TYPE PART # | Z | DESCRIPTION 5|25 R |F|®|o|F| x|
BODY HARDWARE
Tech Tray 030-202 | x | Window Guides Tech Tray 12 |48 X
Tech Tray 030-709 Push-In Nylon Christmas Tree Fasteners Tech Tray 12 |60 X
Tech Tray 030-720 | x | GM/Chrysler Body Retainers Tech Tray 20 | 252 X
Tech Tray 030-722 | x | Ford Body Retainers Tech Tray 13 | 160 X
Tech Tray 030-724 | x | Import Body Retainers Tech Tray 15 [195 X
Tech Tray 030-726 | x | Metric Body Bolts and Nuts Tech Tray 20 | 205 X
Tech Tray 030-728 | x | Push In/Screw In Retainers Tech Tray 20 [190 X
Tech Tray 030-208 | x | Door Hinge Pins Tech Tray 12 |24 X
Tech Tray 030-209 | x | Door Lock Rod Clips Tech Tray 12 |80 X
Tech Tray 030-211| x | Control Knobs Tech Tray 12 | 36 X
EXPANSION PLUGS
ORIV I 005-563 | x | ExpansionPlugs [ 3044045 [ [Ix (x| | [ |
MAINTENANCE HARDWARE
LG OGRS O[H @ 008-171 | x | Maintenance Fasteners - Clevis, Cotter & Roll Pins 3 | 72 | 4689 X | x
Dealer Pak 025-555 | x | Maintenance Fasteners 1 | 45 | 2450 X
Tech Tray 80021 x | Distributor 0-Rings Tech Tray 12 |60 X X
Tech Tray 80022 | x | Coolant 0-Rings Tech Tray 12 |60 X X
Tech Tray 030-136 Cotter Pins Tech Tray 12 1390 [ x | x [ x [ x [ x [x
Tech Tray 030-180 | x | Cabin Air Filter Hardware Tech Tray 13 [110 X
Tech Tray 030-200 | x | Diesel Service Parts Tech Tray 12 | 126 X
Tech Tray 030-201 | x | Camshaft Seals Tech Tray 12 |24 X
Tech Tray 030-630 Shop Hardware Tech Tray 24 | 285 X
Tech Tray 030-203 | x | Wiper Linkage Bushings Tech Tray 6 |24 X
Tech Tray 030-204 | x | Spark Plug Wire Retainers Tech Tray 12 |48 X
Tech Tray 030-205 | x | Heater Hose Connectors Tech Tray 12 |36 X
Value Pack 799-323 E-Clips and Snap Rings Value Pack 16 | 305
Value Pack 799-360 Home Assortment Value Pack 15 [ 360
Value Pack 799-420 Cotter Pins Value Pack 7 | 106
Value Pack 799-440 Clamps Value Pack 7 |35
Value Pack 799-445 Aluminum Rivets Value Pack 7 |72
Value Pack 799-446 | x | Rivet Assortment Value Pack 16 [ 155
Value Pack 799-450 Metric 0-Rings Value Pack 8 |172
Value Pack 799-451 Standard 0-Rings Value Pack 8 [144
Value Pack 799-452 Metric 0-Rings Value Pack 32 [419 |x [ x | x X
Value Pack 799-453 Standard 0-Rings Value Pack 32 [407 |x | x | x X
Value Pack 799-550 Maintenance Hardware Value Pack 7 [102
OIL DRAIN PLUGS
Parts Store Stock [I[ILEILE] Qil Drain Plug Gaskets - Full 2 | 38 [870 X
Parts Store Stock [![IEE{!1) Qil Drain Plug Gaskets - Popular 1 120 1460 [x | x
1 O OGRS O1H @ 005-113 | x | Oil Drain Plug and Gasket Update Kit 1 115193 |x [x | x
LS 0] GRS G0 @ 005-114 | x | Oil Drain Plug and Gasket Kit 4 |54 [278 |x
LS OGN 014 O 008-657 | x | Oil Drain Plugs 4 | 72 | 346 X
L O O] 01H G 008-658 | x | Oil Drain Plugs 2 | 36 [178 X
[ e] | RETTE8 047-092 Installer-Pak® Qil Drain Plug Gaskets 1 |32 | 745 X
SEN IV 8 047-191 | x | Installer-Pak® Qil Drain Plugs with Gaskets 1132|160 X
Tech Tray 030-539 Qil Drain Plugs with Gaskets Tech Tray 22 [44 |x | x | x | x [ X
Tech Tray 030-541 Qil Drain Plug Gaskets Tech Tra 20 [115 |x | x | x | x | x
QUICK CONNECTORS
Tech Tray 800-094 Quick Disconnect™ Cooling/Transmission Connectors 7 |44 X X

& Clips Tech Tray

Tech Tray 800-095 Quick Disconnect™ Connectors Tech Tray 12 [12 X
Tech Tray 800-096 Quick Disconnect™ Retaining Clips Tech Tray 6 |26 X | x [x
Tech Tray 800-101 | x | Quick Disconnect™ Transmission Line Connectors Tech Tray 16 |28 X
Tech Tray 800-102 | x | Quick Disconnect™ Qil Line Connectors Tech Tray 10 |32 X
Tech Tray 800-103 | x | Quick Disconnect™ Master Tech Tray 19 |54 X | x
Tech Tray 800-296 | x | Quick Disconnect™ Fuel Line Connectors Tech Tray 11 |44 X X
Tech Tray 800-299 Quick Disconnect™ Fuel Line & Sending Unit Repair Tech Tray 6 [8 X
Tech Tray 800-300 | x | Quick Disconnect™ Fuel Line Repair Kit 26 [104 |x | x | x X [x

(continued)



. Parts Store Stock

ASSORTMENT
TYPE

THREADED FASTENERS

Parts Store Stock

Parts Store Stock
Parts Store Stock

Parts Store Stock

Parts Store Stock
Parts Store Stock

Parts Store Stock

Parts Store Stock

Parts Store Stock
Parts Store Stock
Dealer Pak
Dealer Pak
Dealer Pak
Dealer Pak
Dealer Pak
Dealer Pak
Dealer Pak
Tech Tray
Tech Tray
Tech Tray
Tech Tray
Value Pack
Value Pack
Value Pack
Value Pack
Value Pack
Value Pack
Value Pack
Value Pack
Value Pack

VACUUM CONNECTORS

Tech Tray
Value Pack
Value Pack

WHEEL HARDWARE

Parts Store Stock
Parts Store Stock
Parts Store Stock
Parts Store Stock
Parts Store Stock
Parts Store Stock
Parts Store Stock
Parts Store Stock
Dealer Pak
Installer Drawer
Installer Drawer
Installer Drawer
Installer Drawer
Installer Drawer

Tech Tray

DUR
ARDWAR
OVERS
. Installer/Dealer-Pak Drawers . Tech Tray/Value Pack UF
= PARTS STORE |SERVICE DEALER
3 |E @
S |Zg| &
c ES| =
S |53 2| ol ol o wo| el o
= = || E | S| S| 8| | 8|
PART # | & | DESCRIPTION E|23| 2| R|B| &R |8| &
008-150 Standard Automotive Grade 8 Hex Head Cap
Screws, Nuts, Washers 1/4" thru 7/16" 4 [82 [1652| x [x |x
008-151|x |Standard Automotive Grade 8 Hex Head Cap
Screws, Nuts, Washers 1/2" thru 3/4" 4 |68 [533 X
008-155(x |Standard Grade 5 Hex Head Cap Screws,
Nuts, Washers 1/4" thru 7/16" 10 |160 4281 x [x [x
008-156( x |Standard Grade 5 Hex Head Cap Screws,
Nuts, Washers 1/2" thru 3/4" 7 |99 [1374 X |x
008-160( x |Metric Automotive Class 10/10.9 Hex Head Cap
Screws, Nuts, Washers M6 thru M10 4 |67 [1425|x [x |x
008-161| x | Metric Automotive Class 10/10.9 Hex Head Cap
Screws, Nuts, Washers M12 thru M16 3 [52 [1075 X
008-162| x | Metric Class 8/8.8 Hex Head Cap Screws, 3 [72 [1515|x [x |x
Nuts, Washers M4 thru M8
008-163| x | Metric Class 8/8.8 Hex Head Cap Screws,
Nuts, Washers M10 thru M12 4 164 955 X [x
008-677| x | Metric and Standard Double Ended Studs 4 [64 [640 X [x
008-678| x | Metric and Standard Double Ended Studs 2 [32 [320 | x
025-070 Dealer-Pak® Standard Fasteners, Grade 8 - Coarse 1 |60 |1226 X
025-075 Dealer-Pak® Fasteners, Metric Class 8.8 1 |60 2191 X
025-085 Dealer-Pak® Fasteners, Metric Class 8.8 - Fine Pitch 1 |60 |1286] x
025-150| x | Dealer-Pak® Standard Fasteners, Grade 5 1 [60 |3322 X
025-160| x | Dealer-Pak® Standard Fasteners, Grade 5 - Popular 1 |60 |3133] x
025-320| x | Dealer-Pak® Fasteners, Standard Grade 5 - Full 2 [120 4710 X X
025-350 Dealer-Pak® Fasteners, Metric Class 8.8 - Fine Pitch - Full 2 [120 [2340 X
030-400( x |License Plate Hardware Tech Tray 15 (300 X X
030-155| x | Double Ended Studs Tech Tray 16 [128 X
030-165| x | Self Drilling Screws Tech Tray 12 1240 X
030-206 | x | Exhaust Hardware Tech Tray 12 |36
799-301 USS Grade 5 Standard Hardware Value Pack 14 |96
799-305 Metric Class 8 JIS Hardware Value Pack 15 [128
799-310 Metric Class 8 DIN Hardware Value Pack 16 [ 126
799-320 USS Grade 5 Standard Hardware Value Pack 31 | 366
799-321 Class 8/8.8 Metric Hardware Value Pack 32 [514
799-335 Washers Value Pack 8 9%
799-430 Stove Bolts with Nuts Value Pack 13 (108
799-500 Stainless Steel Hardware Value Pack 9 60
799-510 Stainless Steel Sheet Metal Screws Value Pack 8 |79
030-496 Vacuum Tees & Connectors Tech Tray 23 [115 X
799-350 Vacuum Caps Value Pack 6 [30
799-355 Vacuum Connectors Value Pack 8 65
008-640 Wheel Nut Covers 1 |20 [100 X X
008-642| x | 2005 Wheel Hardware Update 2 |32 [320
008-650( x | 2005 Wheel Hardware Update 4 [52 [520 | x
008-651| x [2005 Wheel Hardware Update 5 |77 770 X
008-652| x | 2005 Wheel Hardware Update 6 [84 (840 X
008-662| x | Wheel Hardware - Fast 7 1130 [1340] x
008-663 | x | Wheel Hardware - Popular 10 [197 |2010 X
008-664 | x | Wheel Hardware - Full 16 |321 |3265 X
015-624| x | Dealer-Pak® Wheel Hardware 1 |57 615 [x
047-614| x | Installer-Pak® Chrome Wheel Nuts 2 |27 270 X |x
047-616| x | Installer-Pak® Wheel Hardware - Fast 2 |36 [405 X |x
047-617| x | Installer-Pak® Wheel Hardware - Popular 4 [103 [1075 X
047-676 Installer-Pak® Standard Double-Ended Wheel Studs 2 [32 320 X |x
047-679 Installer-Pak® Metric Double-Ended Studs 1 (16 [160 X [X
030-611 | x | Wheel Nut Covers Tech Tray 12 |36 X X |x




Parts Store Drawer Assoriments

DOoRMAN PARTS STORE
DRAWER ASSORTMENTS

* Durable metal construction |

* Conveniently organized according fo Dorman Catalog Sections 72

* Most assortments include drawers, dividers and labels for set-up

* Merchandising is available separately for update assortments.
Please see page 000 for part numbers and descriptions.

Parts Store Drawer Assortments

Stock “X”
for overall
DRAWER AsSORTMENTS — OVERALL COVERAGE & STOCKING GUIDE | savease
goal of:
Page Drawer | Assortment  75% 85% 95%

Part # | New| # | Description Count SKU Count
005-098 2-3 | Oil Drain Plug Gasket Assortment - 95% Coverage 2 38 X
005-100 2-3 | Oil Drain Plug Gasket Assortment - 85% Coverage 1 20 X | x
005-113 | x 3 | Oil Drain Plug and Gasket Update Kit 1 15 X | x| X
005-114 | x 3-4 | Oil Drain Plug and Gasket Kit 4 54 X
005-563 | x 4 | Expansion Plugs 3 44 X | X
008-150 | x 4-5 | Standard Automotive Grade 8 Hex Head Cap Screws, Nuts, Washers

1/4" thru 7/16" 4 82 X | x | x
008-151 | x 5 | Standard Automotive Grade 8 Hex Head Cap Screws, Nuts, Washers

1/2" thru 3/4" 4 68 X
008-155 | x 5-6 | Standard Grade 5 Hex Head Cap Screws, Nuts, Washers 1/4" thru 7/16" 10 160 X | x| X
008-156 | x 6 | Standard Grade 5 Hex Head Cap Screws, Nuts, Washers 1/2" thru 3/4" 7 99 X | X
008-160 | x 7 | Metric Automotive Class 10/10.9 Hex Head Cap Screws, Nuts, Washers

M6 thru M10 4 67 X | x | x
008-161| x 7 | Metric Automotive Class 10/10.9 Hex Head Cap Screws, Nuts, Washers

M12 thru M16 3 52 X
008-162 | x 7-8 | Metric Class 8/8.8 Hex Head Cap Screws, Nuts, Washers M4 thru M8 3 72 X | x| X
008-163 | x 8 | Metric Class 8/8.8 Hex Head Cap Screws, Nuts, Washers M10 thru M12 4 64 X | X
008-171| x 8-9 | Maintenance Fasteners - Clevis, Cotter & Roll Pins 3 72 X | x
008-640 9 | Wheel Nut Covers 1 20 X
008-642 | x 9 | 2005 Wheel Hardware Update 2 32 X
008-650 | x 10 | Wheel Hardware Update Assortment 4 52 X
008-651 | x 10 | Wheel Hardware Update Assortment 5 77 X
008-652 | x 10 | Wheel Hardware Update Assortment 6 84 X
008-657 | x [10-11 | Qil Drain Plug Assortment - 95% Coverage 4 72 X
008-658 | x |10-11 | Oil Drain Plug Assortment - 85% Coverage 2 36 X
008-662 | x |11-13 | Wheel Hardware Assortment - 75% Coverage 7 130 X
008-663 | x |11-13 | Wheel Hardware Assortment - 85% Coverage 10 197 X
008-664 | x |11-13 | Wheel Hardware Assortment- 95% Coverage 16 321 X
008-677 | x 14 | Metric and Standard Double Ended Studs 4 64 X | X
008-678 | x 14 | Metric and Standard Double Ended Studs 2 32 X

Avoid costly time-consuming trips fo deliver small items

#
m * Don't miss the sale.

e Assortments shipped with full box quantities for easy put away and additional value.
* Model master assortments selected by parts professionals for the parts professional.

005-098 & 005-100 OIL DRAIN PLUG GASKETS xl?:;%"} Q
Sl
S & e S &
Asst# Q% Q% N @%

75% 95%

75% 95%

Part # |Description Part # |Description

Aluminum Copper

095-015 | 1/2"D.0., 9/16", M14 15 | 15 095-001 | 1/2",1/2"S.0., M12, M12 S.0. 25
095-016 |11/16", 11/16" S.0., M18 15 095-002 | 5/8", M16, M16.4 25
095-143 ' 1/2", M12, M12 S.0. 25 (continued)




Parts Store Drawer Assortments

005-098 & 005-100 OIL DRAIN PLUG GASKETS (continued)

)
-
S & RN 2
Asst# N Asst# N =]
Coverage 75% 95% Coverage 75% 95% 2
Part # | Description Part # | Description (1)
Copper (continued) Nylon (continued) (=]
095-003 | 5/8"S.0., 11/16", M18 25 097-012 | 3/4"S.0., 13/16", M20 | | 25 -
095-004 | 11/16" S.0., 3/4" 25 25 097-022 | 1/2", M12, M12 S.0. 10 10 Q
095-005 | 7/8", M22 25 Nylon Ribbed S
095-006 | 1", M25 25 097-116 | M12 25 2
095-010 | 1/2"D.0., 1/2" T.0.,, M14, M14 S.0. 25 25 097-117 | 1/2",M12 S.0. 25 »
095-012 | 3/4"S.0., 13/16", M20 10 097-118 | 1/2"S.0.,,1/2"D.0., 1/2" T.0., M14 25 [
Fiber Rubber '8
097-016 | M12 25 25 097-115 | M12 | | 25 :-
097-017 | M16 25 25 097-119 | M12 10
097-018 | 11/16" S.0.,, M18 25 25 Rubber/Metal 5
097-019 | M20 25 25 097-021 | 1/2", M12, M12 S.0. | 25 | 25 g
097-020 | 1", M25 25 097-025 | 1/2"D.0, 1/2" T.0., 9/16", M14 10 10 g
097-026 | 1/2"D.0., 9/16", M14 25 25 Metal Crush “
097-027 | 1/2", M12 S.0. 25 25 095-014 | 1/2" M12 S.0. | | 25
097-029 | 1/2" T.0., 5/8", M14 S.0. 25 Synthetic
097-120 | 1/2"S.0. 25 097-127 | 1/2", M12, M12 S.0. 25
Nylon 097-128 | 1/2"D.0., M14 25
097-001 | 1/2", M12, M12 S.0. 25 25
097-002 | 1/2"T.0., 5/8", M14 S.0., M16 25 25
097-003 5/8" SO, 11/1 6", M16.4 25 25 | Assortment SKU Count | 20 | 38 |
097-004 | 11/16" S.0., 3/4", M18 25 25
097-005 | 7/8" M32 S | Assortment Drawer Count | 1 | 2 |
097-010 | 1/2" S.0, 1/2" D.0., 9/16", M14 25 | 25 | Assortment Piece Count | 460 | 870 |

005-113 OIL DRAIN PLUG AND GASKET UPDATE KIT

a % ﬂ i(m' NEW!

Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
0il Drain Plug - Standard w/Gasket 0il Drain Plug - Pilot Point (continued) 0il Drain Plug Gasket (continued)
090-102 | M32-1.50 (Transmission) 3 090-156 | M12-1.75 (Inset Gasket) | 5 097-135 | Copper
090-111 |1"-18 5 090-161 | M14-1.50 (Inset Gasket) 5 097-138 | Metal 10
090-151 | M22-1.50 (CS Hex) 5 0il Drain Plug - Magnetic
090-154 | M14-1.50 5 090-091 | M12-1.75 (Inset Gasket) | 5
090-162 | M14-1.50 (Inset Gasket) 5 0090-149 M1 4};1 .25 5
0il Drain Plug - Pilot Point il Drain Plug Gasket
090-098 | Mi4-150 (Molded Gasket) 5 097-133 | Metal/Rubber 10 [ Assortment SKU Count | 15|
090-115 | M14-1.50 5 097-134 | Copper Crush 10 [ Assortment Piece Count | 93 |
005-114 OIL DRAIN PLUG AND GASKET KIT H% m )(m' NEW?!
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
0il Drain Plug Standard w/Gasket 0il Drain Plug - Pilot Point w/Gasket 0il Drain Plug - Pilot Point w/Gasket
090-054 |M16-1.5 5 090-049 | M12-1.25 5 (continued)
090-055 |M22-1.5 3 090-052 |1/2"-20 5 090-161 | M14-1.50 Inset Gasket | 5
090-066 |M12-1.75 5 090-053 |M14-1.5 5 090-162 | M14-1.50 Inset Gasket 5
090-075 | M14-1.50 5 090-058 | 1/2-20 Molded Gasket 5 0il Drain Plug - Magnetic w/Gasket
090-088 | M12-1.50 5 090-059 | M12-1.75 Molded Gasket| 5 090-074 | 3/4"-16 3
090-102 | M32-1.50 Transmission 3 090-060 |M12-1.75 Inset Gasket 5 090-114 | M18-1.5 5
090-111 |1"-18 5 090-076 |M14-1.25 5 090-149 | M14-1.25 5
090-151 | M22-1.50 CS Hex 5 090-079 | M12-1.75 Inset Gasket 5 0il Drain Plug - Universal
090-154 | M14-1.50 5 090-084 | M16-1.50 5 090-057 | 1/2"/ M12 Rubber 3
0il Drain Plug - Oversize w/Gasket 090-089 | M12-1.50 5 090-064 | 5/8"/ M16 Rubber 3
090-081 |M12-1.75 S.0. 5 090-091 | M12-1.75 Inset Gasket 5 090-080 | 1/2"to 3/4" or M12 to
090-082 | M14-1.50 S.0. 5 090-098 | M14-1.50 Molded Gasket 5 M18 Winged 3
090-085 | 1/2-20 Transmission 5 090-105 | M18-1.5 5 Pipe Plug
090-086 |M12-1.25 S.0. Piggyback| 5 090-115 | M14-1.50 5 090-047 | 3/8"-18 | 5
090-087 | M14-1.50 S.0. Piggyback| 5 090-156 | M12-1.75 Inset Gasket 5 (continued)




Parts Store Drawer Assoriments

005-114 OIL DRAIN PLUG AND GASKET KIT (continued)

2
5 Assort./ Assort./
E Part# Size Box Qty. Part# Size Part# Size Box Qty.
': Pipe Plug (continued) Pipe Plug (continued) 0il Drain Plug Gaskets (continued)
(<) 090-067 |1/4"-18 5 090-106 | M8-1.0 5 097-134 | Copper Crush
A 090-071 |1/4"-18 5 090-107 | M10-1.0 5 097-135 | Copper 10
é 090-072 | 3/4"-14 5 090-108 | M12-1.50 5 097-138 | Metal 10
P 090-073 |1/16"-27 5 090-109 | M14-1.50 5
[T 090-092 | 1/2"-14 5 090-110 | M16-1.50 [ Assortment SKU Count | 54 |
S 090-100 | 1/2"-14 Magnetic | 5 0il Drain Plug Gaskets -
L 090-101 | 3/4"-14 Magnetic 5 097-133 | Metal/Rubber | 10 | Assortment Piece Count | 278 |
Q
(1)
' 005-563 EXPANSION PLUGS @ - NEW!
a .,
.E Assort./ Assort./ Assort./
S Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
(- Steel Steel (continued) Brass (continued)
550-007 | 3/4" (Concave) 10 555-036 | 1-49/64" 10 565-024 | 1-1/4" (Shallow Cup) 10
550-017 | 1-1/4" (Concave) 10 555-048 | 2-1/16" 10 565-023 | 1-1/4" 10
550-022 | 1-1/2" (Concave) 10 555-049 | 2-3/32" (Shallow Cup) 10 565-030 | 1-5/8" 10
555-011 | 5/8" (Shallow Cup) 10 555-068 | 1-41/64" 10 565-028 | 1-1/2" (Shallow Cup) 10
555-012 | 3/4" 10 555-069 | 2" (Shallow Cup) 10 565-068 | 1-41/64" 10
555-014 | 7/8" 10 555-077 | 1-1/2" 10 565-077 | 1-1/2" 10
555-017 | 1" 10 555-087 | 41.5mm 10 565-093 | 35mm 10
555-018 | 1" (Shallow Cup) 10 555-091 | 1" (Shallow Cup) 10 565-095 | 40mm 10
555-023 | 1-1/4" 10 555-093 | 35mm 10 Rubber
555-024 | 1-1/4" (Shallow Cup) 10 555-095 | 40mm 10 570-009 | 1-1/2" | 5
555-025 | 1-3/8" 10 555-100 | 30mm 10 570-010 1-5/8" 5
555-3% 1 } g" 1 8 555-104 | 34.3mm 10 570-008 1-3/8" 5
555- -1/2" 555-108 | 16.2mm 10
555-029 | 1-9/16" 10 555-110 | 42.3mm 10 | Assortment SKU Court | 44 |
ggggg? 12;2 18 g?:s-;ﬁ 3/8" 10 | Assortment Drawer Count | 3 |
555-034 | 1-3/4" 10 565-027 | 1-1/2" [ 10 | Assortment Piece Count | 425 |
008-150 STANDARD HEX HEAD CAP SCREWS, NUTS, ™) NEW/!
WASHERS - 1/4" THRU 7/16" onsd
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw Hex Head Cap Screw (continued) Hex Head Cap Screw (continued)
860-005 | 1/4"-20 x 1/2" 47 860-325 | 7/16"-14 x 2-1/2" 6 862-315 | 7/16"-20 x 1-1/2" 8
860-010 | 1/4"-20 x 1" 32 860-330 | 7/16"-14x 3" 5 862-320 | 7/16"-20x 2" 7
860-015 | 1/4"-20 x 1-1/2" 26 860-335 | 7/16"-14 x 3-1/2" 9 862-325 | 7/16"-20 x 2-1/2" 6
860-020 | 1/4"-20 x 2" 20 860-340 | 7/16"-14 x 4" 8 862-330 | 7/16"-20x 3" 5
860-025 | 1/4"-20 x 2-1/2" 16 862-005 | 1/4"-28 x 1/2" 47 862-335 | 7/16"-20 x 3-1/2" 9
860-030 | 1/4"-20 x 3" 13 862-007 | 1/4"-28 x 3/4" 34 862-340 | 7/16"-20 x 4" 8
860-105 | 5/16"-18 x 1/2" 31 862-010 | 1/4"-28 x 1" 28 Hex Nut
860-107 | 5/16"-18 x 3/4" 25 862-015 | 1/4"-28 x 1-1/2" 24 865-010 | 1/4"-20 44
860-110 | 5/16"18 x 1" 22 862-020 | 1/4"-28 x 2" 20 865-011 | 5/16"-18 36
860-112 | 5/16"-18 x 1-1/4" 19 862-030 | 1/4"-28 x 3" 12 865-012 | 3/8'-16 28
860-115 | 5/16"-18 x 1-1/2" 17 862-105 | 5/16"-24 x 1/2" 28 865-013 | 7/16"-14 14
860-120 | 5/16"-18 x 2" 14 862-110 | 5/16"-24 x 1" 22 867-010 | 1/4"-28 44
860-125 | 5/16"-18 x 2-1/2" 11 862-115 | 5/16"-24 x 1-1/2" 17 867-011 | 5/16"-24 36
860-130 | 5/16"-18x 3" 8 862-120 | 5/16"-24 x 2" 14 867-012 | 3/8"-24 28
860-135 | 5/16"-18 x 3-1/2" 13 862-125 | 5/16"-24 x 2-1/2" 11 867-013 | 7/16"-20 14
860-140 | 5/16"-18 x 4" 13 862-130 | 5/16"-24 x 3" 9 Flat Washer
860-207 | 3/8"-16 x 3/4" 17 862-135 | 5/16"-24 x 3-1/2" 12 868-010 | 1/4" 40
860-210 | 3/8"-16x 1" 16 862-140 | 5/16"-24 x 4" 11 868-011 | 5/16" 31
860-215 | 3/8"-16x 1-1/2" 12 862-207 | 3/8"-24 x 3/4" 16 868-012 | 3/8" 31
860-220 | 3/8"-16 x 2" 10 862-210 | 3/8"-24 x 1" 16 868-013 | 7/16" 28
860-225 | 3/8"-16 x 2-1/2" 8 862-212 | 3/8"-24 x 1-1/4" 14 Split Lock Washer
860-230 | 3/8"-16 x 3" 7 862-215 | 3/8"-24 x 1-1/2" 12 870-010 | 1/4" 125
860-235 | 3/8"-16 x 3-1/2" 12 862-220 | 3/8"-24 x 2" 10 870-011 | 5/16" 87
860-240 | 3/8"-16 x 4" 9 862-225 | 3/8"-24 x 2-1/2" 8 870-012 | 3/8" 68
860-250 | 3/8"-16 x 5" 5 862-230 | 3/8"-24x 3" 7 870-013 | 7/16" 42
860-307 | 7/16"-14 x 3/4" 11 862-235 | 3/8"-24 x 3-1/2" 11
860-310 | 7/16"-14 x 1" 10 862-240 | 3/8"-24 x 4" 9 | Assortment SKU Count | 82 |
860-312 | 7/16"-14 x 1-1/4" 9 862-250 | 3/8"-24 x 5" 6
860-315 7/1 6'-14 x 1_1/2u 8 862-310 7/1 6"-20 x 1" 10 | Assortment Drawer Count | 4 |
860-320 | 7/16"-14 x 2" 7 862-312 | 7/16"-20 x 1-1/4" 9 | Assortment Piece Count | 1652 |




Paris Store Drawer Assoriments

008-151 STANDARD HEX HEAD cAP SCREWS A NEW! -
NUTS, WASHERS - 1/2" THRU 3/4" 2
(7]
Assort./ Assort./ Assort./ @
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty. g
Hex Head Cap Screw Hex Head Cap Screw (continued) Hex Nut (5
860-410 | 1/2'-13 x 1" 8 862-412 | 1/2'-20 x 1-1/4" 7 865-014 | 1/2'-13 13 -
860-412 | 1/2-13 x 1-1/4" 7 862-415 | 1/2-20 x 1-1/2" 6 865-015 | 9/16"-12 17 =
860-415 | 1/2-13 x 1-1/2" 6 862-420 | 1/2'-20 x 2" 5 865-016 | 5/8'-11 7 )
860-420 | 1/2'-13 x 2" 5 862-425 | 1/2-20 x 2-1/2" 4 865-017 | 3/4-10 7 s
860-425 | 1/2-13 x 2-1/2" 4 862-430 | 1/2"-20 x 3" 4 867-014 | 1/2"-20 13 )
860-430 | 1/2-13 x 3" 4 862-435 | 1/2-20 X 3-1/2" i 867-015 | 9/16™-18 17 =
860-435 | 1/2-13 x 3-1/2" 7 862-440 | 1/2'-20 x 4" 7 867-016 | 5/8'-18 14 >
860-440 | 1/2'-13 x 4" 6 862-450 | 1/2"-20 x 5" 3 867-017 | 3/4"-16 7 a
860-450 | 1/2'-13 x 5" 4 862-515 | 9/16"-18 x 1-1/2" 9 Flat Washer o
860-515 | 9/16"-12 x 1-1/2" 9 862-520 | 9/16"-18 x 2" 8 868-014 | 1" 20 1
860-520 | 91612 x 2" 8 862-525 | 91618 x 2-1/2" 7 868-015 | 9/16" 15 S
860-530 | 9/16"-12 x 3" 6 862-530 | 9/16"-18 x 3" 6 868-016 | 5/8" 1 -
860-535 | 9/16"-12 x 3-1/2" 6 862-535 | 9/16"-18 x 3-1/2" 5 868-017 | 3/4" 20 1
860-615 | 5/8'-11 x 1-1/2" 4 862-540 | 9/16"-18 x 4" 5 Split Lock Washer >
860-620 | 5/8'11 x 2" 3 862-615 | 5/8'-18 x 1-1/2" 8 870-014 | 1/2" 31
860-625 | 5/8"-11 x 2-1/2" 3 862-620 | 5/8-18x " 7 870-015 | 9/16" 42
860-630 | 5/8'-11x 3" 5 862-625 | 5/8'-18 x 2-1/2" 6 870-016 | 5/8" 14
860-635 | 5/8"-11 x 3-1/2" 4 862-630 | 5/8"-18 x 3" 5 870-017 | 3/4" 19
860-640 | 5/8'-11 x 4" 4 862-635 | 5/8'-18 x 3-1/2" 4
860-650 | 5/8'-11 x 5" 3 862-640 | 5/3"-18 x 4" 4
860-720 | 3/4 10X 2" 4 862-650 | 5818 X 5" 3
860-725 | 3/4"-10 x 2-1/2" 4 862-720 | 3/4"-16 x 2" 4 [ Assortment SKU Count | 68 |
860-730 | 3/4"-10 x 3" 3 862-725 | 3/4-16 x 2-1/2" 4
860-735 | 3/4"-10 x 3-1/2" 3 862-730 | 3/4"-16 x 3" 3 | Assortment Drawer Count | 4 |
860-740 | 3/4"-10 x 4" 2 862-735 | 3/4"-16 x 3-1/2" 3 .
862-410 T1/2°-20 X " 8 862-740 T 3416 X &7 7 | Assortment Piece Count | 533 |

008-155 STANDARD HEX HEAD CAP SCREWS, NUTS, {_ T NEW!
WASHERS GRADE 5 - 1/4" THRU 7/16" Q @ o 5

Assort./ Assort./ Assort./
Part# Size Part# Size Box Qty. Part# Size
Hex Head Cap Screw Hex Head Cap Screw (cont/nued) Hex Head Cap Screw (cont/nued)
803-005 | 1/4"-20x1/2" 50 803-222 | 3/8"-16 x 2-1/4" 1 807-040 | 1/4"-28 x
803-006 | 1/4"-20 x 5/8" 50 803-225 | 3/8"-16 x 2-1/2" 11 807-105 | 5/16"-24 x 1/2“ 31
803-007 | 1/4"-20 x 3/4" 50 803-227 | 3/8"-16 x 2-3/4" 10 807-107 | 5/16"-24 x 3/4" 31
803-010 | 1/4"-20x 1" 45 "803-230 | 3/8™-16 x 3" 9 807-110 | 5/16"-24 x 1" 27
803-012 | 1/4"-20 x 1-1/4" 37 803-235 | 3/8"-16 x 3-1/2" 14 807-112 | 5/16"-24 x 1-1/4" 23
803-015 | 1/4™-20 x 1-1/2" 32 803-240 | 3/8"-16 x 4" 12 807-115 | 5/16™-24 x 1-1/2° 21
803-017 | 1/4"-20 x 1-3/4" 27 803-245 | 3/8"-16 x 4-1/2" 8 807-117 | 5/16"-24 x 1-3/4" 19
803-020 | 1/4"-20x 2" 24 803-250 | 3/8"-16 x 5" 8 807-120 | 5/16"-24 x 2" 17
803-022 | 1/4"-20 x 2-1/4" 21 "803-255 | 3/8™-16 x 5-1/2" 7 807-122 | 5/16"-24 x 2-1/4" 15
803-025 | 1/4"-20 x 2-1/2" 18 803-260 | 3/8"-16 x 6" 5 807-125 | 5/16"-24 x 2-1/2" 14
803-027 | 1/4"-20 x 2-3/4" 16 803-307 | 7/16"-14 x 3/4" 14 807-127 | 5/16"-24 x 2-3/4" 13
803-030 | 1/4"-20x 3" 14 803-310 | 7/16"-14x 1" 13 807-130 | 5/16"-24 x 3" 12
803-035 | 1/4"-20 x 3-1/2" 22 803-312 | 7/16"-14 x 1-1/4" 11 807-135 | 5/16"-24 x 3-1/2" 18
803-040 | 1/4"-20 x 4" 17 803-315 | 7/16™14 x 1-1/2" 10 807-140 | 5/16"-24 x 4" 13
803-045 | 1/4"-20 x 4-1/2" 13 803-317 | 7/16"-14 x 1-3/4" 9 807-145 | 5/16"-24 x 4-1/2" 11
"803-050 | 1/4™-20 x 5" 12 803-320 | 7/16"-14x2" 8 807-150 | 5/16™-24x 5" 10
803-105 | 5/16"-18 x 1/2" 31 803-322 | 7/16"-14 x 2-1/4" 8 807-207 | 3/8"-24 x 3/4" 22
803-107 | 5/16"-18 x 3/4" 31 803-325 | 7/16"-14 x 2-1/2" 7 807-210 | 3/8"-24 x 1" 20
803-110 | 5/16"-18x 1" 27 803-327 | 7/16™-14 x 2-3/4" 7 807-212 | 3/8"-24 x 1-1/4" 18
803-112 | 5/16"-18 x 1-1/4" 23 803-330 | 7/16"-14 x 3" 6 807-215 | 3/8"-24 x 1-1/2" 16
803-115 | 5/16"-18 x 1-1/2° 21 803-335 | 7/16"-14 x 3-1/2" 10 807-217 | 3/8™-24 x 1-3/4" 14
803-117 | 5/16"-18 x 1-3/4" 19 803-340 | 7/16"-14x 4" 8 807-220 | 3/8"-24 x 2" 13
803-120 | 5/16"-18 x 2" 17 803-345 | 7/16"-14 x 4-1/2" 7 807-222 | 3/8"-24 x 2-1/4" 11
803-122 | 5/16"-18 x 2-1/4" 15 803-350 | 7/T6-14x5" 6 807-225 | 3/8"-24 x 2-1/2" 11
803-125 | 5/16"-18 x 2-1/2" 14 803-355 | 7/16"-14 x 5-1/2" 5 807-227 | 3/8"-24 x 2-3/4" 10
803-127 | 5/16"-18 x 2-3/4" 13 803-360 | 7/16"-14 x 6" 5 807-230 | 3/8"-24x3" 9
803-130 | 5/16"-18x 3" 12 807-005 | 1/4"-28 x 1/2" 50 807-235 | 3/8"-24 x 3-1/2" 14
803-135 | 5/16"-18 x 3-1/2" 18 807-007 | 1/4"-28 x 3/4" 50 807-240 | 3/8"-24 x 4" 12
803-140 | 5/16"-18x 4" 13 807-010 | 1/4"-28x 1" 45 807-245 | 3/8"-24 x 4-1/2" 8
803-145 | 5/16"-18 x 4-1/2" 11 807-012 | 1/4"-28 x 1-1/4" 37 807-250 | 3/8"-24 x 5" 8
"803-150 | 5/16-18x 5" 10 807-015 | 1/4"-28 x 1-1/2" 32 807-255 | 3/8™-24 x 5-1/2" 7
803-160 | 5/16"-18x 6" 9 807-017 | 1/4"-28 x 1-3/4" 27 807-260 | 3/8"-24 x 6" 5
803-207 | 3/8"-16 x 3/4" 22 807-020 | 1/4"-28 x 2" 24 807-307 | 7/16"-20 x 3/4" 14
803-210 | 3/8"-16 x 1" 20 807-022 | 1/4-28x 2-1/4" 21 807-310 | 7/16"-20x 1" 13
803-212 | 3/8"-16 x 1-1/4" 18 807-025 | 1/4"-28 x 2-1/2" 18 807-312 | 7/16"-20 x 1-1/4" 11
803-215 | 3/8-16 x 1-1/2" 16 807-027 | 1/4"-28 x 2-3/4" 16 807-315 [ 7/16-20 x 1-1/2° 10
803-217 | 3/8"-16 x 1-3/4" 14 807-030 | 1/4"-28 x 3" 14
803-220 | 3/8"-16x2" 13 807-035 | 1/4"-28 x 3-1/2" 22 (continued)




Parts Store Drawer Assortments

Paris Store Drawer Assoriments

008-155 STANDARD HEX HEAD CAP SCREWS, NUTS,
WASHERS GRADE 5 - 1/4" THRU 7/16"

Part#

Size

Hex Head Cap Screw (continued)

Assort./
Box Qty.

Part#

Size

Nylon Ring Insert Hex Lock Nut

==f OO0

Assort./

Part#

Fender Washer (continued)

Size

NEW?!

807-317 | 7/16"-20 x 1-3/4" 9 250-010 | 1/4"-20 50 367-030 | 3/8
807-320 | 7/16"-20 x 2" 8 250-011 | 5/16™-18 50 367-031
807-322 | 7/16"-20 x 2-1/4" 8 250-012 | 3/8"-16 50 367-128 50
807-325 | 7/16"20 x 2-1/2" 7 250-013 | 7/16™14 50 367-129 | 5/16" 50
807-327 | 7/16"-20 x 2-3/4" 7 251-010 | 1/4"-28 50 367-130 | 3/8" 50
807-330 | 7/1620 X 3" 6 251-011 | 5/16™-24 50 367-131 | 5/16" 50
807-335 | 7/16"20 x 3-1/2" 10 251-012 | 3/8"-24 50 367-132 | 1/4" 50
807-340 | 7/16"-20 x 4" 8 251-013 | 7/16"-20 50 Battery Hardware
807-345 | 7/16"-20 x 4-1/2" 7 Flat Washer 392-003 | 5/16"-18x 1-1/4"Bolt | 100
807-350 | 7/16"-20 x 5" 6 312-010 | 1/4" 100 392-004 | 3/8"x 3/8" Side
"807-355 | 7/16"-20 X 5-1/2° 5 312-011 | 5/16" 100 Terminal Bolt 25
807-360 | 7/16"-20 x 6" 5 312-012 | 3/8" 100 390-005 | 5/16"18 x 10"
Hex Nut 312-013 | 7/16" 100 Hold-down 10
810-010 | 1/4"-20 95 Split Lock Washer
810-011 | 5/16"-18 62 270-010 | 1/4" 100
810-012 | 3/8"-16 45 270-011 | 5/16" 100
810-013 | 7/16"14 24 270-012 | 3/8" 100 | Assortment SKU Count | 160 |
814-010 | 1/4"-28 95 270-013 | 7/16" 100
31481; gﬂ;624214 % FenderWash;ar | Assortment Drawer Count | 10 |
4- 367-028 | 1/4" 50 :
814-013 | 7/16"-20 24 367-029 | 5/16" 50 |__Assortment Piece Count | 4281 |
008-156 STANDARD HEX HEAD CAP SCREWS, NUTS, 3 NEW?!
WASHERS GRADE 5 - 1/2" THRU 5/8" -

Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw Hex Head Cap Screw (continued) Hex Nut
803-407 | 1/2-13 x 3/4" 11 803-655 | 5/8"-11 x 5-1/2" 3 810-014 | 1/2-13 17
803-410 | 1/2"-13 x 1" 10 803-660 | 5/8"-11 x 6" 3 810-015 | 9/16"12 21
803-412 | 1/2"-13 x 1-1/4" 9 807-407 | 1/2-20 x 3/4" 11 810-016 | 5/8"11 17
803-415 | 1/2"-13 x 1-1/2" 9 807-410 | 1/2"-20 x 1" 10 814-014 | 1/2"-20 17
803-417 | 1/2"-13 x 1-3/4" 8 807-412 | 1/2"-20 x 1-1/4" 9 814-015 | 9/16"-18 21
803-420 | 1/2"-13x 2" 7 807-415 | 1/2"-20 x 1-1/2" 9 814-016 | 5/5"-18 17
803-422 | 1/2"-13 x 2-1/4" 6 807-417 | 1/2"-20 x 1-3/4" 8 Nylon Ring Insert Hex Lock Nut
803-425 | 1/2"-13 x 2-1/2" 6 807-420 | 1/2"-20 x 2" 7 250-014 [ 1/2"-13 50
803-427 | 1/2-13 x 2-3/4" 5 807-422 | 1/2"-20 x 2-1/4" 6 250-015 | 9/16"-12 25
803-430 | 1/2"-13 x 3" 5 807-425 | 1/2"-20 x 2-1/2" 6 250-016 | 5/8"-11 25
803-435 | 1/2"-13 x 3-1/2" 8 807-430 | 1/2"-20 x 3" 5 251-014 | 1/2"-20 50
803-440 | 1/2-13 x 4" 7 807-435 | 1/2-20 x 3-1/2" 8 251-015 | 9/16"-18 25
803-445 | 1/2"-13 x 4-1/2" 6 807-440 | 1/2"-20 x 4* 7 251-016 | 5/3™-18 25
803-450 | 1/2"-13 x 5" 5 807-445 | 1/2"-20 x 4-1/2" 6 Flat Washer
803-455 | 1/2"-13 x 5-1/2" 5 807-450 | 1/2"-20 x 5" 5 312-014 |1/2" 100
803-460 | 1/2"-13 X 6" ] 807-455 | 1/2"-20 X 5-1/2" 5 312-015 | 9/16" 50
803-510 | 9/16"-12 x 1" 11 807-460 | 1/2'-20 x 6" 4 312-016 | 5/8" 50
803-512 | 9/16"-12 x 1-1/4" 9 807-510 | 9/16"-18 x 1" 11 Split Lock Washer
803-515 | 9/16"-12 x 1-1/2" 9 807-515 | 9/16"-18 x 1-1/2" 9 270-014 | 1/2" 100
803-520 | 9/16"-12 x 2" 8 807-520 | 9/16"-18 x 2" 8 270-015 | 9/16" 50
803-525 | 9/16"-12 x 2-1/2" 7 807-525 | 9/16™-18 x 2-1/2" 7 270-016 | 5/8" 50
803-530 | 9/16"-12 x 3" 6 807-530 | 9/16"-18 x 3" 6 Bumper Bolt
803-535 | 9/16"-12 x 3-1/2" 5 807-535 | 9/16"-18 x 3-1/2" 5 605-005 | 7/16"-14 x 1-1/4" 25
803-540 | 9/16"-12 x 4" 5 807-540 | 9/16"-18 x 4" 5 605-006 | 7/16"-14 x 1-1/2" 25
803-545 | 9/16"-12 x 4-1/2" 4 807-545 | 9/16"-18 x 4-1/2" 4 605-018 | 1/2"-13 x 1-1/4" 25
803-550 | 9/16™-12 X 5" 4 807-550 | 9/16™-18 X 5" 7 605-019 | 1/2"-13 x 1-1/2" 25
803-610 | 5/8"-11x 1" 10 807-610 | 5/8"-18x 1" 10 605-021 | 3/8"-16 x 1" 25
803-612 | 5/8"-11 x 1-1/4" 9 807-615 | 5/8"-18 x 1-1/2" 9 605-022 | 3/8™-16 x 1-1/4" 25
803-615 | 5/8"-11 x 1-1/2" 9 807-620 | 5/8"-18x 2" 8 605-023 | 5/16"-18 x 3/4" 25
803-617 | 5/8"-11 x 1-3/4" 8 807-625 | 5/8"-18 x 2-1/2" 7
803-620 | 5/8™-11 x 2" 3 807-630 | 5/8™-18 x 3" 6
803-625 | 5/8"-11 x 2-1/2" 7 gg;ggg g;g}gx 2-1/2" g
803-630 | 5/8"-11 x 3" 6 - 18 x 4"
803-635 | 5/8"11 x 3-1/2" 5 807-645 | 5/818 x 4-1/2" 4 [_Assortment SKU Gount | 88|
803-640 | 5/8"-11 x 4" 5 807-650 | 5/8"-18 x 5" 4 | Assortment Drawer Count | 7 |
803-645 | 5/8™-11 x 4-1/2" ] 807-655 | 5/8™-18 x 5-1/2" 3 ,
803-650 | 5/8"-11 x 5" 4 807-660 | 5/8'-18 x 6" 3 | Assortment Piece Count | 1374 |




Paris Store Drawer Assoriments

008-160 METRIC HEX HEAD CAP SCREWS, My A NEW! S
NUTS, WASHERS - M6 THRU M10 ~ s Q @ S
“
Assort./ Assort./ Assort./ =]
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty. g
Hex Head Cap Screw - DIN Hex Head Cap Screw - DIN (continued) Hex Nut - DIN (continued) (5
460-230 | M6-1.0 x 30mm 25 460-545 | M10-1.50 x 45mm 10 430-308 | M8-1.25 25 o
460-235 | M6-1.0 x 35mm 25 460-550 | M10-1.50 x 50mm 10 430-310 | M10-1.50 25 =~
460-240 | M6-1.0 x 40mm 25 460-560 | M10-1.50 x 60mm 10 431-308 | M8-1.0 25 2
460-250 | M6-1.0 x 50mm 10 460-570 | M10-1.50 x 70mm 10 431-310 | M10-1.0 25 S
460-260 | M6-1.0 x 60mm 10 460-575 | M10-1.50 x 75mm 10 431-410 | M10-1.25 25 Q
460-270 | M6-1.0 x 70mm 10 460-580 | M10-1.50 x 80mm 10 Flat Washer
460-280 | M6-1.0 x 80mm 10 460-590 | M10-1.50 x 90mm 10 437-306 | M6 50 a
460-416 | M8-1.25 x 16mm 25 460-592 | M10-1.50 x 100mm 10 437-308 | M8 50 8
460-420 | M8-1.25 x 20mm 25 460-595 | M10-1.50 x 113mm 10 437-310 | M10 50 3
460-425 | M8-1.25 x 25mm 25 460-597 | M10-1.50 x 120mm 10 Split Lock Washer 5
460-430 | M8-1.25 x 30mm 25 461-420 | M8-1.0 x 20mm 10 435-306 | M6 100 -
460-435 | M8-1.25 x 35mm 25 461-425 | M8-1.0 x 25mm 10 435-308 | M8 100 ]
460-440 | M8-1.25 x 40mm 25 461-430 | M8-1.0 x 30mm 10 435-310 | M10 100 >
460-450 | M8-1.25 x 50mm 10 461-435 | M8-1.0 x 35mm 10 Wave Washer
460-460 | M8-1.25 x 60mm 10 461-440 | M8-1.0 x 40mm 15 436-006 | M6 | 25
460-470 | M8-1.25 x 70mm 10 461-450 | M8-1.0 x 50mm 10 Wave Washer
460-475 | M8-1.25 x 75mm 10 461-460 | M8-1.0 x 60mm 10 436-008 | M8 25
460-480 | M8-1.25 x 80mm 10 461-470 | M8-1.0 x 70mm 10 436-010 | M10 25
460-490 | M8-1.25 x 90mm 10 461-541 | M10-1.25 x 40mm 15
460-495 | M8-1.25 x 110mm 10 461-551 | M10-1.25 x 50mm 15
460-497 | M8-1.25 x 120mm 10 461-560 | M10-1.25 x 60mm 15
460-498 | M8-1.25 x 130mm 10 461-570 | M10-1.25 x 70mm 15
460-499 | M8-1.25 x 140mm 10 461-580 | M10-1.25 x 80mm 15 | Assortment SKU Count | 67 |
460-500 | M8-1.25 x 150mm 10 461-590 | M10-1.25 x 90mm 10
460-530 | M10-1.50 x 30mm 25 461-592 | M10-1.25 x 100mm 10 | Assortment Drawer Count | 4 |
460-535 | M10-1.50 x 35mm 25 Hex Nut - DIN :
460-540 | M10-1.50 x 40mm 25 430-306 | M6-1.0 | 25 | Assortment Piece Count | 1425 |
008-161 METRIC HEX HEAD CAP SCREWS, e e NEW!
NUTS, WASHERS - M12 THRU M16 : © Q Yot 0
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw - DIN Hex Head Cap Screw - DIN (continued) Hex Nut - DIN (continued)
460-630 | M12-1.75 x 30mm 25 460-870 | M14-2.0 x 70mm 5 431-312 | M12-1.25 | 25
460-635 | M12-1.75 x 35mm 25 460-880 | M14-2.0 x 80mm 5 431-412 | M12-1.50 25
460-640 | M12-1.75 x 40mm 25 460-890 | M14-2.0 x 90mm 5 Flat Washer
460-650 | M12-1.75 x 50mm 10 460-892 | M14-2.0 x 100mm 5 437-312 | M12 50
460-660 | M12-1.75 x 60mm 10 460-895 | M14-2.0 x 110mm 5 437-314 | M14 50
460-670 | M12-1.75 x 70mm 10 461-625 | M12-1.25 x 25mm 15 437-316 | M16 50
460-675 | M12-1.75 x 75mm 10 461-630 | M12-1.50 x 30mm 15 Split Lock Washer
460-680 | M12-1.75 x 80mm 10 461-635 | M12-1.25 x 35mm 15 435-312 | M12 100
460-690 | M12-1.75 x 90mm 10 461-640 | M12-1.50 x 40mm 15 435-314 | M14 100
460-692 | M12-1.75 x 100mm 10 461-650 | M12-1.25 x 50mm 15 435-316 | M16 100
460-695 | M12-1.75 x 110mm 10 461-651 | M12-1.50 x 50mm 15 Wave Washer
460-697 | M12-1.75 x 120mm 10 461-660 | M12-1.50 x 60mm 15 436-012 | M12 25
460-760 | M16-2.0 x 60mm 5 461-670 | M12-1.25 x 70mm 15 436-014 | M14 25
460-770 | M16-2.0 x 70mm 5 461-671 | M12-1.50 x 70mm 15 436-016 | M16 25
460-790 | M16-2.0 x 90mm 5 461-675 | M12-1.50 x 75mm 15
460-830 | M14-2.0 x 30mm 10 461-680 | M12-1.25 x 80mm 15
460-835 | M14-2.0 x 35mm 10 461-690 | M12-1.25 x 90mm 10 | Assortment SKU Count | 52 |
460-840 | M14-2.0 x 40mm 10 Hex Nut - DIN
460-850 | M14-2.0 x 50mm 5 430-312 | M12-1.75 25 | Assortment Drawer Count | 3|
460-855 | M14-2.0 x 55mm 5 430-314 | M14-2.0 25 -
460-860 | M14-2.0 x 60mm 5 430-316 | M16-2.0 25 |__Assortment Piece Count | 1075 _|
008-162 METRIC HEX HEAD CAP SCREWS, NUTS, WASHERS m Q @ o NEW!
CLASS 8/8.8 - M4 THRU M3 -
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw - DIN Hex Head Cap Screw - DIN (continued) Hex Head Cap Screw - DIN (continued)
423-010  M4-0.7 x 10mm 25 423-020  M4-0.7 x 20mm 25 423-110  M5-0.8 x 10mm 25

423-016  M4-0.7 x 16mm 25 423-025 M4-0.7 x 25mm 25 (continued)




Paris Store Drawer Assortments

008-162 METRIC HEX HEAD CAP SCREWS, NUTS, WASHERS CLASS 8/8.8 - M4 THRU M8 (continued)

2
q=, Assort./ Assort./
E Part# Size Box Qty. Part# Size Box Qty. Part# Size
T Hex Head Cap Screw - DIN (continued) Hex Head Cap Screw - DIN (continued) Hex Nut-DIN (continued)
o 423-112 | M5-0.8 x 12mm 25 423-410 | M8-1.25 x 10mm 25 430-008 | M8-1.25 Standard | 25
A 423-116 | M5-0.8 x 16mm 25 423-412 | M8-1.25 x 12mm 25 431-008 | M8-1.0 Fine 25
a 423-120 | M5-0.8 x 20mm 25 423-416 | M8-1.25 x 16mm 25 Flat Washer
' 423-125 | M5-0.8 x 25mm 25 423-420 | M8-1.25 x 20mm 25 437-004 | M4 25
o 423-130 | M5-0.8 x 30mm 25 423-425 | M8-1.25 x 25mm 25 437-005 | M5 25
E 423-135 | M5-0.8 x 35mm 25 423-430 | M8-1.25 x 30mm 25 437-006 | M6 25
E 423-140 | M5-0.8 x 40mm 25 423-435 | M8-1.25 x 35mm 25 437-007 | M7 25
() 423-210 | M6-1.0 x 10mm 25 423-440 | M8-1.25 x 40mm 25 437-008 | M8 25
@ 423-212 | M6-1.0 x 12mm 25 423-445 | M8-1.25 x 45mm 10 Split Lock Washer
[ 423-216 | M6-1.0 x 16mm 25 423-450 | M8-1.25 x 50mm 10 435-004 | M4 25
.P_ 423-220 | M6-1.0 x 20mm 25 423-460 | M8-1.25 x 60mm 10 435-005 | M5 25
(%) 423-225 | M6-1.0 x 25mm 25 423-470 | M8-1.25 x 70mm 10 435-006 | M6 25
[ 423-230 | M6-1.0 x 30mm 25 423-475 | M8-1.25 x 75mm 10 435-007 | M7 25
': 423-235 | M6-1.0 x 35mm 25 423-480 | M8-1.25 x 80mm 10 435-008 | M8 25
S 423-240 | M6-1.0 x 40mm 25 423-490 | M8-1.25 x 90mm 10 Wave Spring Washer
Q 423-245 | M6-1.0 x 45mm 10 423-492 | M8-1.25 x 100mm 10 436-004 | M4 25
423-250 | M6-1.0 x 50mm 10 423-495 | M8-1.25 x 110mm 10 436-005 | M5 25
423-260 | M6-1.0 x 60mm 10 423-497 | M8-1.25 x 120mm 10 436-006 | M6 25
423-270 | M6-1.0 x 70mm 10 428-420 | M8-1.0 x 20mm 10 436-008 = M8 25
423-280 | M6-1.0 x 80mm 10 428-430 | M8-1.0 x 30mm 10
423-316 | M7-1.0 x 16mm 25 428-440 | M8-1.0 x 40mm 10
423-320 | M7-1.0 x 20mm 25 Hex Nut-DIN
423-325 | M7-1.0 x 25mm 25 430-004 | M4-0.7 25 | Assortment SKU Count [ 72 |
423-330 | M7-1.0 x 30mm 25 430-005 | M5-0.8 25
423-340 | M7-1.0 x 40mm 25 430-006 | M6-10 25 [ Assorment Drawer Gount [ /8]
423-350 | M7-1.0 x 50mm 10 430-007 | M7-1.0 25 | Assortment Piece Count | 1515 |
008-163 METRIC HEX HEAD CAP SCREWS, NUTS, WASHERS m Q @ 0 NEW!
CLASS 8/8.8 - M10 THRU M12
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Cap Screw - DIN Cap Screw - DIN (continued) Cap Screw - DIN (continued)
423-520 | M10-1.50 x 20mm 25 423-680 | M12-1.75 x 80mm 10 429-540 | M10-1.25 x 40mm 10
423-525 | M10-1.50 x 25mm 25 423-690 | M12-1.75 x 90mm 10 429-550 | M10-1.25 x 50mm 10
423-530 | M10-1.50 x 30mm 25 423-692 | M12-1.75 x 100mm 10 429-560 | M10-1.25 x 60mm 10
423-535 | M10-1.50 x 35mm 25 423-695 | M12-1.75 x 110mm 10 Hex Nut-DIN
423-540 | M10-1.50 x 40mm 25 423-697 | M12-1.75 x 120mm 10 430-010 | M10-1.50 25
423-545 | M10-1.50 x 45mm 10 428-541 | M10-1.25 x 40mm 10 430-012 | M12-1.75 25
423-550 | M10-1.50 x 50mm 10 428-551 | M10-1.25 x 50mm 10 431-110 | M10-1.25 25
423-555 | M10-1.50 x 55mm 10 428-560 | M10-1.25 x 60mm 10 431-112 | M12-1.50 25
423-560 | M10-1.50 x 60mm 10 428-570 | M10-1.25 x 70mm 10 431-210 | M10-1.25 25
423-570 | M10-1.50 x 70mm 10 428-580 | M10-1.25 x 80mm 10 Flat Washer
423-575 | M10-1.50 x 75mm 10 428-590 | M10-1.25 x 90mm 10 437-010 | M10 | 25
423-580 | M10-1.50 x 80mm 10 428-592 | M10-1.25 x 100mm 10 437-012 | M12 25
423-590 | M10-1.50 x 90mm 10 428-620 | M12-1.50 x 20mm 10 Split Lock Washer
423-592 | M10-1.50 x 100mm 10 428-630 | M12-1.50 x 30mm 10 435-010 | M10 | 25
423-595 | M10-1.50 x 110mm 10 428-640 | M12-1.50 x 40mm 10 435-012 | M12 25
423-597 | M10-1.50 x 120mm 10 428-651 | M12-1.50 x 50mm 10 Wave Spring Washer
423-620 | M12-1.75 x 20mm 25 428-655 | M12-1.50 x 55mm 10 436-010 | M10 ‘ 25
423-625 | M12-1.75 x 25mm 25 428-665 | M12-1.50 x 65mm 10 436-012 | M12 25
423-630 | M12-1.75 x 30mm 25 428-675 | M12-1.50 x 75mm 10
423-635 | M12-1.75 x 35mm 25 428-690 | M12-1.50 x 90mm 10
423-640 | M12-1.75 x 40mm 25 428-692 | M12-1.50 x 100mm 10
423-650 | M12-175 x 50mm 10 429520 | M10-1.25 x 20mm 10 | Assoriment SKU Count | 64 |
423-660 | M12-1.75 x 60mm 10 429-525 | M10-1.25 x 25mm 10 | Assortment Drawer Count | 4 |
423-670 | M12-1.75 x 70mm 10 429-530 | M10-1.25 x 30mm 10
423-675 | M12-1.75 x 75mm 10 429-535 | M10-1.25 x 35mm 10 | Assortment Piece Count | 955 |
008-171 MAINTENANCE FASTENERS - NEW!
CLEVIS, COTTER & ROLL PINS
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Clevis Pin (continued) Clevis Pin (continued) Clevis Pin (continued)
120-001 | 1/4" x 1" Standard 10 120-006 | 3/8"x 1" Standard 10 120-009 | 3/8"x 1-1/4" Standard 10
120-002 | 5/16"x 1" Standard 10 120-007 | 3/8"x 1-1/16" Standard 10 120-011 | 3/8"x 1-3/8" Standard 10
120-003 | 5/16" x 1-1/4" Standard 10 120-008 | 3/8"x 1-1/8" Standard 10 (continued)




Parts Store Drawer Assortments

008-171 MAINTENANCE FASTENERS - CLEVIS, COTTER & ROLL PINS (continued) -
£~
Assort./ Assort./ Assort./ a.
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Clevis Pin (continued) Cotter Pin (continued) Roll Pin (continued) (%)
120-012 | 7/16"x 1-1/4" Standard 10 800-307 | 7/64" x 3/4" 191 623-020 | 7/32" x 1-3/4" 25 '°"
120-017 | 1/2"x 1-3/8" Standard 10 800-310 | 7/64"x 1" 140 623-022 | 1/4"x 1-1/4" 25 =
120-018 | 1/2"x 1-1/2" Standard 10 800-410 | 1/8"x 1" 200 623-023 | 1/4"x 2-1/4" 25 @
120-022 | 3/8"x 1-1/2" Standard 10 800-412 | 1/4"x 1-1/4" 155 623-025 | 5/16"x 1-1/2" 25 (=]
120-024 | 7/16" x 1-3/4" Standard 10 800-415 | 1/8"x 1-1/2" 140 623-026 | 5/16"x 2" 25 E
120-032 | 3/8"x 2" Standard 10 800-417 | 1/8"x 1-3/4" 130 623-028 | 3/8"x 1-1/2" 25 s
120-038 | 1/4"x 7/8" Standard 10 800-420 | 1/8"x 2" 120 623-029 | 3/8" x 2" 25 T
120-040 | 1/4"x 2" Multi-hole 10 800-425 | 1/8"x 2-1/2" 85 623-046 | 1/8"x 1" 25 N
120-041 | 5/16" x 2" Multi-hole 10 800-430 | 1/8"x 3" 80 623-047 | 1/8"x 1-1/2" 25 a
120-042 | 3/8"x 2" Multi-hole 10 800-510 | 5/32"x 1" 123 623-051 | 5/32"x 1" 25 A
120-043 | 7/16" x 2-1/2" Multi-hole 10 800-515 | 5/32" x 1-1/2" 100 623-052 | 5/32"x 1-1/2" 25 (=]
120-044 | 1/2"x 2" Multi-hole 10 800-520 | 5/32"x 2" 70 623-055 | 3/16" x 1-1/4" 25 :.
120-047 | 1/2"x 2-1/2" Multi-hole 10 800-525 | 5/32"x 2-1/2" 62 623-056 | 3/16"x 1-1/2" 25 S
120-049 | 3/16"x 5/8" Standard 10 800-615 | 3/16"x 1-1/2" 57 623-058 | 3/16" x 2" 25 (1]
120-051 | 3/16"x 1" Standard 10 800-620 | 3/16"x 2" 65 623-061 | 1/4"x 1" 25 ]
120-052 | 1/4"x 3/4" Standard 10 800-625 | 3/16"x 2-1/2" 40 623-062 | 1/4"x 1-1/2" 25 a
Cotter Pin 800-720 | 1/4"x 2" 25 623-064 | 1/4"x 2" 25
800-107 | 1/16" x 3/4" 377 Roll Pin 623-071 | 3/8"x 2-1/2" 25
800-110 | 1/16"x 1" 375 623-008 | 3/32"x 5/8" 25
800-115 | 1/16" x 1-1/2" 317 623-009 | 3/32"x 1-1/4" 25 | Assortment SKU Count | 72 |
800-207 | 3/32"x 3/4" 317 623-011 | 1/8" x 3/4" 25
800-210 | 3/32"x 1" 300 623-012 | 1/8"x 1-1/4" 25 | Assortment Drawer Count | 3 |
800-215 | 3/32"x 1-1/2" 200 623-015 | 5/32" x 1-1/4" 25 -
800-220 | 332" x 2" 180 623017 [ 3716°x 1" %5 |__Assortment Piece Count | 4689 |
008-640 WHEEL NUT COVERS
* 60% of vehicles with wheel nut covers are missing at least one.
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Wheel Nut Covers Wheel Nut Covers (continued) Wheel Nut Covers (continued)

611-613 | M27-2.0 x 22mm
611-615 | M24-2.0 x 19mm
611-616 | M24-2.0 x 19mm
611-617 | M24-2.0 x 19mm
611-618 | M24-2.0 x 19mm
611-619 | M24-2.0 x 19mm
611-620 | M24-2.0 x 19mm
611-621 | M24-2.0 x 19mm
611-622 | M27-2.0 x 22mm

611-602 | Push on, 3/4"

611-605 | M24-2.0 x 19mm (Black)
611-606 | M24-2.0 x 19mm (Grey)
611-607 | M27-2.0 x 22mm
611-608 | M24-2.0 x 19mm
611-609 | M24-2.0 x 19mm (Black)
611-610 | M24-2.0 x 19mm (Grey)
611-611 | M27-2.0 x 21mm
611-612 | M24-2.0 x 19mm

611-623 | M27-2.0 x 22mm 5
611-624 | M27-2.0 x 19mm 5

| Assortment SKU Count | 20 |
| Assortment Drawer Count | 1|

oot ot o1 o1 Ol
oo oroljor ot o1 o1 O

| Assortment Piece Count | 100 |

008-642 2005 WHEEL HARDWARE UPDATE NEW!
* Coverage through 2005.

Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Wheel Bolt Wheel Stud (continued) Wheel Nut (continued)
610-456 |M14-1.50x31.8mm | 10 610-479 | 1/2"-20 x 2-3/32" 10 611-223 | M14-2.0 x 30.6mm 10
Wheel Stud 610-480 | 1/2"-20 x 2-1/4" 10 611-224 | M12-1.50 x 26mm 10
610-457 | M12-1.50 x 41.3mm 10 610-482 | M12-1.50 x 48.7mm 10 611-226 | M12-1.50 x 26.5mm 10
610-460 | M12-1.50 x 46mm 10 610-486 | M12-1.50 x 51mm 10 611-227 | M12-1.50 x 28mm 10
610-462 | M12-1.50 x 44mm 10 610-487 | 5/8"-18 x 3-53/64" 10 611-230 | M14-1.50 x 45mm 10
610-463 | M12-1.50 x 55mm 10 Wheel Nut 611-231 | M12-1.25 x 26mm | 10
610-464 | 1/2"-20 x 2-3-32" 10 611-214 | M12-1.50 x 42mm 10
610-468 | M12-1.50 x 43.8mm 10 611-215 | M12-1.50 x 28.5mm 10
610-471 | 9/16"-18 x 2‘-115.%“ 18 611-216 | M12-1.50 x 39mm 10
610-473 | M12-1.50 x 45.5mm 611-217 | M12-1.50 x 35.5mm 10
610-474 | M12-1.50 x 43.8mm 10 611-218 | M12-1.50 x 36.5mm 10 [ Assortment SKU Count [ 782 ]
610-475 | 1/2"-20 x 1-29/32" 10 611-219 | M12-1.50 x 27mm 10 | Assortment Drawer Count | 2|
610-476 | M12-1.50 x 44.5mm 10 611-220 | M12-1.50 x 37.5mm 10 -
610-477 | M12-1.50 x 43mm 10 611-222 | 1/2-20 x 1" 10 | Assortment Piece Count | 320 |




Parts Store Drawer Assoriments

P98 008-650, 008-651 & 008-652 WHEEL HARDWARE UPDATE NEWI
L STEP 1: Go to your current Wheel Hardware set and find your last (highest) wheel stud part number and your last (highest) wheel nut number.
qE" STEP 2: Locate your last stud and nut numbers on the chart below. NOTE: Your last stud and last nut should give matching assortment numbers.
T LAST WHEEL STUD | LAST WHEEL NUT | ASSORTMENT NEEDED
a 610453 611212 008-642
é 610-432 611-199 008-650
N 610-414 611-172 008-651
o 610-393 611-172 008-652
)
3 &L S
& NESES
Q Part# Application Assort./Box Qty. Part# Application Assort./Box Qty.
3 Wheel Bolt Wheel Stud (continued)
L3 610-395 1/2"-20 x 2" 10 610-482 M12-1.50 x 48.7mm 10 |10 |10
©» 610-396 M12-1.25 x 35mm 10 610-486 M12-1.50 x 43.8mm 10 (10 |10
.E 610-401 M12-1.25 x 41.5mm 10 610-487 | 5/8"-18 x 3-53/64" 10 {10 [10
610-403 | M12-1.25 x 45.5mm 10 Wheel Nut
E 610-404 M12-1.25 x 46mm 10 611-173 M12-1.50 x 40.5mm 10 |10
610-410 | M12-1.50 x 46mm 10 611-175 | 1/2"-20x1" 10 |10
610-414 | M12-1.50 x 45mm 10 611-176 | M12-1.50 x 36mm 10 |10
610-415 M12-1.50 x 50.5mm 10 |10 611-177 M12-1.25 x 33mm 10 |10
610-417 M12-1.50 x 41mm 10 |10 611-178 1/2"-20 x 1-1/8" 10 |10
610-456 M14-1.50 x 31.8mm 10 [10 [10 611-179 | 7/16"-20 x 1-1/8" 10 [ 10
Wheel Stud 611-181 M12-1.50 x 43mm 10 |10
610-416 M12-1.50 x 52mm 10 |10 611-194 M12-1.50 x 37mm 10 |10
610-418 | 5/8"-18 x 3-13/16" 10 |10 611-195 M12-1.50 x 29mm 10 |10
610-419 | 9/16"-18 x 2-5/8" 10 |10 611-196 | M14-2.0 x 22.5mm 10 [ 10
610-421 5/8"-18 x 2" 10 |10 611-197 | 1/2"-20 x 1-5/32" 10 [ 10
610-424 | M14-2.0 x 73mm 10 [10 611-199 | 1/2"-20 x 1-1/4" 10 |10
610-426 | 1/2"-20 x 2-15/64" 10 |10 611-201 M12-1.50 x 29.5mm 10 |10 [ 10
610-427 M12-1.50 x 55mm 10 |10 611-203 M12-1.50 x 32mm 10 |10 |10
610-428 M14-1.50 x 65.5mm 10|#10 611-204 | 9/16"-18 x 1-1/2" 10 {10 [10
610-429 | 5/8"-18 x 4-3/32" 10 |10 611-205 M12-1.50 x 29.5mm 10 {10 [ 10
610-431 M14-1.50 x 80mm 10 |10 611-207 M12-1.50 x 28.5mm 10 (10 |10
610-432 M14-1.50 x 52.5mm 10 |10 611-208 M12-1.50 x 38.5mm 10 |10 [ 10
610-438 | M12-1.50 x 44.5mm 10 (10 |10 611-209 | M12-1.50 x 30mm 10 |10 |10
610-440 M12-1.50 x 36.5mm 10 (10 |10 611-210 M12-1.25 x 29mm 10 {10 [10
610-441 1/2"-20 x 2-3/16" 10 (10 |10 611-211 M12-1.50 x 36.5mm 10 {10 [ 10
610-442 M14-2.0 x 58mm 10 [10 [10 611-212 M12-1.50 x 46.5mm 10 (10 |10
610-443 M12-1.50 x 51.5mm 10 [10 |10 611-214 M12-1.50 42mm 10 |10 [ 10
610-444 | 1/2"-20 x 2-5/64" 10 |10 |10 611-215 | M12-1.50 x 28.5mm 10 (10 |10
610-445 M12-1.50 x 49mm 10 (10 |10 611-216 M12-1.50 x 39mm 10 [10 [10
610-446 | 1/2"-20 x 1-15-16" 10 (10 |10 611-217 | M12-1.50 x 35.5mm 10 {10 [ 10
610-449 | 1/2"-20 x 1-15/16" 10 [10 [10 611-218 | M12-1.50 x 36.5mm 10 (10 |10
610-453 M12-1.25 x 39mm 10 [10 |10 611-219 M12-1.50 x 27mm 10 |10 |10
610-457 M12-1.50 x 41mm 10 (10 |10 611-220 M12-1.50 x 37.5mm 10 (10 |10
610-460 M12-1.50 x 46mm 10 (10 |10 611-222 1/2"-20 x 1" 10 {10 [10
610-462 | M12-1.50 x 44mm 10 (10 |10 611-223 | M14-2.0 x 30.5mm 10 (10 |10
610-463 M12-1.50 x 55mm 10 [10 [10 611-224 M12-1.50 x 26mm 10 |10 |10
610-464 1/2"-20 x 2-3/32" 10 (10 |10 611-226 M12-1.50 x 26.5mm 10 |10 |10
610-468 M12-1.50 x 44mm 10 (10 |10 611-227 M12-1.50 x 28mm 10 (10 |10
610-471 9/16"-18 x 2-1/2" 10 (10 |10 611-230 M14-2.0 x 45mm 10 [10 [10
610-473 | M12-1.50 x 45.5mm 10 (10 |10 611-231 M12-1.25 x 26mm 10 (10 |10
610-474 M12-1.50 x 44mm 10 [10 [10
610-475 | 1/2"-20 x 1-29/32" 10 (10 |10
610-476 | M12-1.50 x 44.5mm 10 {10 |10 | Assortment SKU Count SIS
610-477 | M12-1.50 x 43mm 10 |10 |10 | Assortment Drawer Count | 4| 5 [ 6 |
610-479 1/2"-20 x 2-3/32" 10 (10 |10 -
610-480 | 1/2'-20 x 2-1/4" 10 |10 |10 | Assortment Piece Count | 520] 770 [840 |
008-657 & 008-658 OIL DRAIN PLUGS . . l( ma
* Every vehicle requires frequent oil changes. Don't miss sales % m =
for this type of repair. %f';b V«Q & o “ V@b wé;\
Asst# N Asst# NI
Coverage 75% | 95% Coverage 75% | 95%
Part # Description/Size Assort./Box Qty. Part # Description/Size Assort./Box Qty.
Drain Plug - Standard w/Gasket Drain Plug - Standard w/Gasket (continued)
090-005 | 1/2"-20 5 5 090-018 | 7/8"-16 5
090-006 | 5/8"-18 5 5 090-024 | 5/8"-18 5
090-008 | 3/4"-16 5 090-027 | 1"-20 5
090-011 | 7/8"-18 5 (continued)




Parts Store Drawer Assortments

008-657 & 008-658 -
OIL DRAIN PLUGS (continued) g?;b %93‘3\ 533’ %533\ §.
Asst# S S Asst# N

Coverage 75% | 95% Coverage 75% | 95% *
Part # Description/Size Assort./Box Qty. Part # Description/Size Assort./Box Qty. 2

Drain Plug - Standard w/Gasket (continued) 0il Drain Plug - Pilot Point w/Gasket (continued) ®

090-030 | 9/16"-18 5 090-098 | M14-1.50 Molded Gasket 5 5 S
090-033 | M14-1.50 5 5 090-115 | M14-1.50 5 5 E

090-038 | M12-1.25 5 5 090-156 | M12-1.75 Inset Gasket 5 5 s

090-039 | M16.4-1.33 5 5 090-161 | M14-1.50 Inset Gasket 5 5 o

090-040 | M20-1.50 5 5 0il Drain Plug - Magnetic w/Gasket -

090-042 | M18-1.50 5 5 090-036 | M14-1.50 5 5 E
090-054 | M16-1.50 5 090-043 | 1/2"-20 5 5 a

090-055 | M22-1.50 3 090-050 | M12-1.75 5 o

090-061 | M22-1.50 3 090-074 | 3/4"-16 3 =
090-066 | M12-1.75 3 5 090-114 | M18-1.50 5 S

090-075 | M14-1.50 5 5 0il Drain Plug - Universal )

090-088 | M12-1.50 5 090-057 | 1/2" Rubber 3 3 =

090-151 | M22-1.50 6 090-064 | 5/8" Rubber 3 o
090-162 | M14-1.50 (Inset Gasket) 5 5 090-080 | 1/2"to 3/4" or M12 to M18 Winged 3

0il Drain Plug - Oversize w/Gasket 0il Drain Plug - Differential

090-015 | 1/2"-20 S.0. 5 5 090-062 | 3/4" Rubber | | 3

090-016 | 5/8"-18 S.0. 5 Pipe Plug

090-020 | 3/4"-16 S.0. 5 090-001 | 3/8"-18 5

090-031 | 1/2"-20 D.0. 5 5 090-002 | 1/2"-14 5

090-032 | 1/2"-20T. Q. 5 5 090-019 | 3/8"-18 5

090-081 | M12-1.75 S.0. 5 090-022 | 1/2"-14 5 5

090-082 | M14-1.50 S.0. 3) 5 090-026 | 1/4"-18 5 5

090-035 | 1/2"-20 S.0. Piggyback 5 5 090-028 | 3/8'-18 5 5

090-045 | 1/2"-20 D.0. Piggyback 5 090-046 | 1/8"-27 5 5

090-086 | M12-1.25 S.0. Piggyback 5 090-047 | 5/8"-18 5

090-087 | M14-1.50 S.0. Piggyback 5 090-067 | 1/4"-18 5

0il Drain Plug - Pilot Point w/Gasket 090-068 | 1/4"-18 Pilot Point 5

090-034 | M12-1.75 5 5 090-071 | 1/4"-18 5

090-049 | M12-1.25 5 5 090-072 | 3/4"-14 5

090-052 | 1/2"-20 5 5 090-092 | 1/2"-14 5

090-053 | M14-1.50 5 5 090-100 | 1/2"-14 Magnetic 5

090-058 | 1/2"-20 Molded Gasket 5 5 090-101 | 3/4"-14 Magnetic 5

090-059 | M12-1.75 Molded Gasket 5 5

090-060 | M12-1.75 Inset Gasket 5 5

090-076 | M14-1.25 515 | Assortment SKU Count | 36 | 72 |

090-079 | M12-1.75 Inset Gasket 5 5

090-084 | M16-1.50 5 | Assortment Drawer Count | 2 [ 4 |

090-089 | M12-1.50 5 :

090-191 | M12-175 Inset Gasket 5 | 5 | Assortment Piece Count | 178 | 346 |

008-662, 008-663 & 008-664 WHEEL HARDWARE

* Make Every Hardware Sale - Dorman has the most up-to-date
wheel hardware coverage

* Have availability when the wheel hardware is lost or A S N>

broken during brake and wheel repair & @@ q_,fée

&S

Asst# Asst#
Coverage 75% 85% 95% Coverage 75% 85% 95%
Part # Size Assort./Box Qty. Part # Size Assort./Box Qty.
Wheel Bolt Wheel Bolt (continued)
610-018 | 1/2"-20x 1" 10 [ 10 | 10 610-403 | M12-1.25 x 45.5mm 10
610-019 | 9/16"-18x 1" 10 | 10 610-404 | M12-1.25 x 46mm 10 |10
610-025 7/16"-20 x 1-5/16" 10 | 10 610-409 M12-1.50 x 56mm 10
610-247 M12-1.50 x 29mm 10 610-410 M12-1.50 x 46mm 10 |10 |10
610-317 M12-1.5 x 42.67mm 10 | 10 610-414 M12-1.50 x 45mm 10 110 [ 10
610-318 | M14-1.5x34.93mm 10 [ 10 610-475 | M72-1.50 x 50.5mm 10
610-349 | 1/2"-20 x 3/4" 10 610-417 | M12-1.50 x 41mm 10 {10 [ 10
610-350 | 1/2"-20x 1" 10 | 10 610-456 | M14-1.50 x 31.8mm 10 110 [ 10
610-351 1/2"-20 x 1-3/4" 10 | 10 Wheel Stud
610-353 | 9/16"-18 x 1-1/4" 10 610-024 | 7/16"-20 x 1-3/8" 10
610-354 | 9/16"-18 x 1-1/8" 10 [ 10 | 10 610-032 | 1/2"-20 x 1-3/8" 10
610-355 | 9/16"-18 x 1-1/2" 10 | 10 610-034 | 1/2"-20x 1-17/32" 10
610-357 | 5/8"-18 x 1-7/16" 10 610-039 | 1/2"-20 x 1-5/8" 10
610-367 | M12-1.50 x 29.5mm 10 610-041 7/16"-20 x 1-3/8" 10
610-394 | 1/2"-20 x 1-29/32" 10 610-049 | 5/8"-18x 3" 10
610-395 [ 172720 x 2 070|710 610-073 | 1/2-20 x 2-3/8" 10 |10
610-396 | M12-1.25 x 35mm 10 610-080 | 1/2"-20 x 1-15/16" 10
610-399 | M12-1.25 x 38mm 10 610-085 | 1/2"-20 x 1-9/16" 10
610-401 M12-1.25 x 41.5mm 10 110 110 (continued)




008-662, 008-663 & 008-664 NEW!

“v)
Y
3 WHEEL HARDWARE (continued) & & & S &
E Asst# S S Asst# S
1 T 75% Coverage 75%
8 Part # | Size Assort./Box Qty. Part # | Size Assort./Box Qty.
a Wheel Stud (continued) Wheel Stud (continued)
610-092 | 1/2"-20 x 1-5/16" 10 610-306 | M12-1.5 x 48mm 10 [ 10
a 610-096 | 7/16"-20x 1-7/16" 10 610-307 | M12-1.5 x 39.5mm 10
> 610-103 | 1/2"-20 x 1-19/32" 10 (10 |10 610-308 | M10-1.25 x 29mm 10 |10
B 610-109 | 1/2"-20 x 1-5/8" 10 (10 |10 610-312 | M12-1.5x 44.5mm 10 (10 |10
Ay 610-114 | 7/16"-20 x 1-21/32" 10 610-315 | 1/2"-20 x 1-5/8" 10
Q 610-126 | 1/2™-20 x 1-1/2" 10 610-320 | Mi2-1.25x 417.5mm 10 [10 [10
[ 610-138 | 1/2"-20x 1-17/32" 10 (10 |10 610-322 | M12-1.25 x 31mm 10
i 610-144 | 1/2"-20 x 2-7/8" 10 610-323 | M12-1.5x 54mm 10 |10
.P_ 610-146 | Double End Stud, 3/4"-10 10 610-324 | M12-1.5x 34.5mm 10 |10 [ 10
(%) 610-148 | 1/2"-20 x 1-13/16" 10 610-325 | M14-1.5 x 49mm 10 | 10
7)) 610-149 | 1/2"-20 x 1-15/16" 10 610-326 | M14-1.5x 76mm 10 [ 10
': 610-153 | 1/2"-20 x 1-11/16" 10 610-327 | M14-1.5x45.5mm 10 |10 [ 10
<] 610-156 | 7/16"-20 x 1-23/32" 10 610-328 | M14-1.5x 43mm 10 |10 [ 10
(- 610-157 | 7/16"-20 x 2-1/8" 10 |10 610-329 | M14-1.5 x 43mm 10 [ 10
610-159 | 1/2"-20 x 1-5/8" 10 [10 [10 610-330 | M14-1.5 x 46mm 10 | 10
610-163 | 1/2"-20 x 1-3/4" 10 [10 610-331 M14-1.5 x 53.5mm 10
610-174 | 1/2"-20 x 1-3/4" 10 |10 610-332 | M14-1.5 x 54.5mm 10 (10 |10
610-176 | 1/2"-20 x 2" 10 |10 610-333 | M14-1.5x90.5mm 10 |10
610-179 | 7/16"-20 x 1-3/4" 10 (10 |10 610-334 | M12-1.25x 33.5mm 10
610-180 | 9/16"-18 x 2-1/8" 10 610-336 | M12-1.25 x 37.5mm 10 | 10
610-181 9/16"-18 x 1-7/8" 10 610-340 | MT2-1.5x 42mm 10 |10 [10
610-182 | 9/16"-18 x 2-5/32" 10 610-342 | M12-1.5x 46.5mm 10
610-183 | 1/2"-20 x 1-11/16" 10 610-343 | M12-1.50 x 46.5mm 10
610-186 | 7/16"-20 x 1-1/2" 10 (10 |10 610-344 | M12-1.5 x 46mm 10
610-189 | 9/16"-18x 3" 10 610-345 | 1/2"-20 x1-7/8" 10 [10 [ 10
610-191 1/2"-20 x 1-1/2" 10 610-346 | 9/16"-18 x 2-9/16" 10
610-192 | 1/2"-20 x 2-1/32" 10 610-347 | 9/16"-18 x 2-29/32" 10 |10
610-194 | 9/16"-18 x 3-17/32" 10 (10 |10 610-358 | 1/2"-20 x 2" 10
610-215 | 5/8"-18 x 2-29/32" 10 610-359 | 9/16"-18 x 4-1/32" 10
610-218 | 9/16"-18x 2" 10 610-360 | M12-1.5 x 42mm 10 | 10
610-219 | 1/2"-20 x 1-29/32" 10 [10 |10 610-362 | M12-7.5x 34mm 10 [10 [10
610-228 | 9/16"-18 x 2-25/32" 10 |10 610-363 | 1/2"-20 x 2-11/32" 10
610-233 | 9/16"-18L x 2-25/32" 10 610-364 | 1/2"-20 x 1-15/32" 10 |10 [ 10
610-234 | 1/2"-20 x 1-5/8" 10 (10 |10 610-365 | M12-1.5x 51.5mm 10 |10 [ 10
610-235 | 1/2"-20 x 1-3/4" 10 |10 610-366 | 1/2"-20 x 2" w/ Clip Head 10 | 10
610-236 | 1/2"-20 x 1-11/16" 10 [10 610-368 | 1/2"-20 x 1-31/32" 10 [10 [10
610-240 | M12-1.25 x 32mm 10 [10 610-369 | M12-1.5x 46mm 10 |10 [ 10
610-244 | M12-1.5 x 37mm 10 |10 |10 610-370 | M12-1.5 x 44mm 10 10
610-252 | 1/2"-20 x 1-15/16" 10 610-376 | M12-1.5 x 49mm 10
610-253 | M12-1.5 x 38.5mm 10 [10 610-378 | M12-1.25 x 42mm 10 [10 [ 10
610-254 | M12-1.5x 41.5mm MOPF|I0=—[:10 610-379 | 1/2"-20 x 1-15/16" 10 [10 [ 10
610-256 | 1/2"-20 x 1-3/4" 10 610-380 | 9/16"-18 x 2-5/16" 10
610-258 | 1/2"-20 x 1-23/32" 10 610-381 9/16"-18 x 2-1/2" 10
610-259 | 7/16"-20 x 1-3/4" 10 |10 610-382 | 9/16"-18 x 2-13/32" 10
610-260 | 1/2"-20 x 1-13/16" 10 [10 [10 610-383 | 9/16"-18 x 3-5/32" 10
610-261 M12-1.5 x 42.5mm 10 [10 [10 610-384 | M12-1.5 x 45mm 10 |10 [10
610-262 M12-1.5 x 37.5mm 10 (10 |10 610-387 M12-1.5 x 49mm 10
610-264 M12-1.5 x 52.5mm 10 610-388 M12-1.5 x 51mm 10
610-265 | M12-1.50 x 44.5mm 10 610-389 | 9/16"-18 x 2-5/16" 10
610-266 | M12-1.5 x 40mm 10 [10 [10 610-390 | M12-1.75 x 51mm 10 {10 [ 10
610-269 | M12-1.5 x 36mm 10 |10 |10 610-391 1/2"-20 x 2-1/8" 10 [10 [ 10
610-273 | 1/2"-20 x 1-5/8" 10 610-392 | 5/8-18x3" 10
610-275 | M12-1.5x 41.5mm 10 |10 610-393 | M12-1.75 x 54.5mm 10 |10
610-276 | M12-1.5x 35.5mm 10 |10 610-416 | M12-1.50 x 52mm 10 |10 [ 10
610-277 | 1/2"-20 x 2-1/4" 10 |10 610-418 | 5/8"-18 x 3-13/16" 10 [10 [ 10
610-278 | 9/16"-18 x 2-5/8" 10 [10 610-419 | 9/16"-18 x 2-5/8" 10 [10 [10
610-279 | 1/2"-20 x 2-1/4" 10 610-421 5/8"-18 x 2" 10
610-280 | 1/2"-20 x 1-7/8" 10 610-424 | M14-2.0 x 73mm 10 |10 [ 10
610-281 5/8"-18 x 2-7/32" 10 610-426 | 1/2"-20 x 2-15/64" 10 |10 [ 10
610-283 | 9/16"-18 x 2-17/32" 10 610-427 | M12-1.50 x 55mm 10 {10 [ 10
610-284 | 9/16"-18 x 1-31/32" 10 610-428 | M14-1.50 x 65.5mm 10 [10 [ 10
610-285 | M12-1.5x 41mm 10 |10 |10 610-429 | 5/8"-18 x 4-3/32" 10 |10 [ 10
610-286 | 1/2"-20 x 2-3/16" 10 610-431 M14-1.50 x 80mm 10 (10 |10
610-287 | 1/2"-20 x 1-29/32" 10 (10 |10 610-432 | M14-1.50 x 52.5mm 10 |10
610-290 | 1/2"-20 x 2-3/16" 10 [10 [10 610-434 | M14-1.5 x 58mm 10
610-292 | 9/16™-18 x 2-1/16" 10 610-438 | M12-1.50 x 44.5mm 10
610-293 | 1/2"-20 x 1-9/16" 10 610-440 | M12-1.50 x 36.5mm 10 |10
610-295 | M12-1.5x 37.5mm 10 610-441 1/2"-20 x 2-3/16" 10 |10 [ 10
610-298 | 1/2"-20x 2" 10 610-442 | M14-2.0 x 58mm 10 |10
610-300 | 9/16"-18 x 2-7/16" 10 |10 610-443 | M12-1.50 x 51.5mm 10 | 10
610-301 9/16"-18 x 3-1/4" 10 610-444 | 1/2"-20 x 2-5/64" 10 |10 [10
610-302 M12-1.5 x 42mm 10 610-445 M12-1.50 x 49mm 10
610-303 | 9/16"-18 x 3-9/32" 10 (10 |10 610-446 | 1/2"-20 x 1-15-16" 10 |10 [ 10
610-305 | 9/16"-18 x 2-1/8" 10 610-449 | 1/2"-20 x 1-15/16" 10 |10 [ 10
(continued)

12




Parts Store Drawer Assortments

008-662, 008-663 & 008-664 NEW! -
WHEEL HARDWARE (continued) %fg‘g'%'ééb V@\ %géb vé;b %fé"“ §.
Asst# S & & asstz e
Coverage 75% Coverage 75% [85% | 95% ‘-é.'
Part # Size Assort./Box Qty. Part # Size Assort./Box Qty. -~
Wheel Stud (continued) Wheel Nut (continued) ®
610-453 M12-1.25 x 39mm 10 611-118 M14-1.50 10 S
610-455 M14.2.0 x 66.8mm 10 611-121 1/2"-20 10 | 10 =
610-457 M12-1.50 x 41mm 10 (10 | 10 611-122 1/2"-20 10 |10 | 10 -
610-460 M12-1.50 x 46mm 10 (10 | 10 611-123 1/2"-20 10 E
610-462 M12-1.50 x 44mm 10 [ 10 | 10 611-127 9/16"-18 10 | 10 2
610-463 MT12-1.50 x 55mm 10 10 [ 10 611-132 M12-1.50 10
610-464 1/2"-20 x 2-3/32" 10 (10 | 10 611-133 M12-1.50 10 |10 | 10 a
610-468 M12-1.50 x 44mm 10 (10 | 10 611-136 M12-1.50 10 |10 | 10 17
610-471 9/16"-18 x 2-1/2" 10 |10 | 10 611-137 M12-1.50 10 |10 [ 10 (-]
610-473 M12-1.50 x 45.5mm 10 {10 | 10 611-138 M12-1.50 10 [ 10 | 10 :-
610-474 M12-1.50 x 44mm 10 {10 [ 10 611-141 M12-1.50 10 [10 [ 10 a
610-475 1/2"-20 x 1-29/32" 10 | 10 | 10 611-142 M12-1.50 10 (1°]
610-476 M12-1.50 x 44.5mm 10 (10 | 10 611-143 1/2"-20 10 =
610-477 M12-1.50 x 43mm 10 (10 | 10 611-144 M12-1.50 10 |10 | 10 a'
610-479 1/2"-20 x 2-3/32" 10 [ 10 | 10 611-145 7/16"-20 10
670-480 1/2"-20 x 2-1/4" 10 [ 10 [ 10 611-147 M14-1.50 10
610-482 M12-1.50 x 48.7mm 10 (10 | 10 611-149 M14-1.50 10 | 10
610-486 M12-1.50 x 43.8mm 10 |10 | 10 611-150 M12-1.50 10 |10 | 10
610-487 5/8"-18 x 3-53/64" 10 [ 10 | 10 611-151 M12-1.50 10 |10 | 10
Wheel Nut 611-159 1/2"-20 10
611-014 7/16"-20 x 9/16" 25 |25 | 25 611-161 9/16"-18 SPEC 10
611-016 1/2"-20 x 5/8" 25 |25 | 25 611-162 9/16"-18 10 | 10
611-026 1/2"-20L x 9/16" 25 611-163 1/2"-20 10 |10 [ 10
611-027 1/2"-20 x 9/16" 25 |25 | 25 611-167 M12-1.50 10 | 10
611-044 5/8"-18 x 21/32" 10 [ 10 611-168 M12-1.50 10
611-047 | 9/16™-18 x 5/8" 10 611-169 | Mi2-1.50 10
611-049 3/4"-10 x 3/4" 10 611-171 1/2"-20 10 | 10
611-051 5/8"-18 x 29/32" 10 611-172 M12-1.75 10 |10 | 10
611-052 9/16"-18 x 3/4" 10 (10 | 10 611-173 M12-1.50 x 40.5mm 10 | 10
611-053 9/16"-18 x 21/32" 10 [ 10 | 10 611-175 1/2"-20 x 1" 10
611-054 9/16"-18 x 5/8" 10 611-176 M12-1.50 x 36mm 10
611-055 5/8"-18 x 21/32" 1 Q{10 611-177 M12-1.25 x 33mm 10
611-057 5/8"-18 x 1-1/16" 10 | 10 611-178 1/2"-20 x 1-1/8" 10 |10 | 10
611-058 | 9/16"-18 x 21-32" J0zs1=10 611-179 | 7/16"-20 x 1-1/8" 10
611-059 9/16"-18L x 21-32" 10 611-181 M12-1.50 x 43mm 10 [ 10 | 10
“611-061 9/16"-18 x 31/32" 10 [ 10 611-194 M12-1.50 x 37mm 10
611-062 M12-1.50 x 14mm 10 | 10 | 10 611-195 M12-1.50 x 29mm 10
611-063 M12-1.50 x 23mm 10 (10 | 10 611-196 M14-2.0 x 22.5mm 10 | 10
611-064 M12-1.25 x 16mm 10 (10 | 10 611-197 1/2"-20 x 1-5/32" 10 |10 | 10
611-065 M12-1.25 x 16mm 10 [ 10 | 10 611-199 1/2"-20 x 1-1/4" 10 |10 | 10
611-066 MT12-1.50 x T6mm 10 [10 [ 10 611-201 M12-1.50 x 29.5mm 10 [10 [ 10
611-067 M14-1.50 x 20.5mm 10 611-203 M12-1.50 x 32mm 10
611-070 7/16"-20 x 1-1/8" 10 | 10 611-204 | 9/16"-18 x 1-1/2" 10
611-071 1/2"-20 x 1-15/32" 10 |10 | 10 611-205 M12-1.50 x 29.5mm 10
611-072 M12-1.50 x 18mm 10 {10 | 10 611-207 M12-1.50 x 28.5mm 10
611-073 1/2"-20 x 1-1/8" 10 611-208 M12-1.50 x 38.5mm 10
611-074 M12-1.50 x 31mm 10 | 10 | 10 611-209 M12-1.50 x 30mm 10
611-075 M12-1.50 x 24.5mm 10 | 10 | 10 611-210 M12-1.25 x 29mm 10
611-076 M12-1.25 x 24mm 10 | 10 611-211 M12-1.50 x 36.5mm 10
611-077 M12-1.50 x 27mm 10 [ 10 611-212 M12-1.50 x 46.5mm 10
611-078 M12-1.50 x 33.5mm 10 611-214 M12-1.50 42mm 10 |10 [ 10
611-084 M12-1.50 x 36mm 10 (10 | 10 611-215 M12-1.50 x 28.5mm 10 |10 | 10
611-085 M12-1.50 x 22mm 10 | 10 611-216 M12-1.50 x 39mm 10 |10 | 10
611-087 M12-1.50 x 29.5mm 10 | 10 611-217 M12-1.50 x 35.5mm 10 |10 | 10
611-089 M12-1.50 x 32mm 10 [ 10 611-218 M12-1.50 x 36.5mm 10 [ 10 | 10
611-091 172"-20 x 1-1/16" 10 | 10 611-219 M12-1.50 x 27mm 10 [10 [ 10
611-092 9/16"-18 x 1" 10 | 10 611-220 M12-1.50 x 37.5mm 10 |10 | 10
611-093 1/2"-20 x 15/16 10 | 10 | 10 611-222 1/2"-20 x 1" 10 |10 [ 10
611-094 1/2"-20 x 1-5/8" 10 (10 | 10 611-223 M14-2.0 x 30.5mm 10 |10 [ 10
611-096 M10-1.25 x 21mm 10 611-224 M12-1.50 x 26mm 10 [ 10 | 10
-097 7/16"-20 10 [ 10 611-226 M12-1.50 x 26.5mm 10 [10 [ 10
611-098 1/2"-20 10 (10 | 10 611-227 M12-1.50 x 28mm 10 |10 | 10
611-099 M12-1.25 10 611-230 M14-2.0 x 45mm 10 |10 | 10
611-100 M12-1.50 10 | 10 611-231 M12-1.25 x 26mm 10 110 | 10
611-105 7/16"-20 10 Wheel Nut Cover
611-106 1/2"-20 10 [ 10 611-605 | M24-2.0, Black | 5 | 5 | 5
611-108 M12-1.50 10
611-109 M12-1.50 10 |10 | 10
611-110 M14-1.50 10 (10 | 10
611-112 | M12-1.50 10 | 10 [ Assortment SKU Count | 130] 197 [321 |
611-113 M12-1.25 10
611-114 | M12-1.25 10 |10 | 10 | Assortment Drawer Count | 7 | 10 | 16 |
611-115 M14-1.50 10 (10 | 10
611-117 | M12-150 10 |10 | 10 | Assortment Piece Count [1340[2010]3265]

13



Parts Store Drawer Assoriments

) 008-677 & 008-678 DOUBLE ENDED STUDS NEW!
5 A >
'E 2 “’56\ %'6(\ s’é\%
H Asst# S & Asst# & §
“ Box Box Box Box
é Part # Sizes Qty. Qty. Part # Sizes Qty. Qty.
P Double-Ended Studs Double-Ended Studs (continued)
g 675-001 | 5/16"-24 x 1/2", 5/16"-18 x 3/4", 1/4", 1-1/2" 10 |10 675-104 | 7/16"-14 x 1", 7/16"-14 x 3/4", 1/4", 2" 10 | 10
8 675-003 | 3/8"-24 x 1" 3/8"-16 x 5/8", 3/8", 2" 10 |10 675-106 | 7/16"-14 x 1-1/4", 7/16"-14 x 3/4", 1/2", 2-1/2" 10 | 10
- 675-004 | 3/8"-16x 1", 3/8"-16 x 5/8", 1/2", 2-1/8" 10 |10 675-107 | 7/16"-20 x 1-3/8", 7/16"-14 x 3/4", 3/8", 2-1/2" 10 | 10
Q 675-006 | 3/8"-16x 3/4", 3/8"-16 x 2", 1-1/4", 4" 10 |10 675-108 | 7/16"-20 x 1-13/16", 7/16"-14 x 3/4", 7/16", 3" 10 | 10
o 675-007 | 3/8"-24 x 1", 3/8"-16 x 3/4", 1" 2-3/4" 10 [10 675-109 | 1/2"-20 x 1", '1/2"-13 x 3/4", 1/2", 2-1/4" 10
‘°- 675-008 | 3/8"-16 x 5/8", 3/8"-24 x 1-15/16", 1-7/16", 4" 10 675-111 | 3/8"-16 x 1-5/8", 3/8"-16 x 1/2", 15/16", 3-1/16" 10 | 10
4 675-010 | 7/16"-20 x 3/4", 7/16"-14 x 3/4", 3/4", 2-1/4" 10 |10 675-113 | 5/16"-18 x 5/8", 5/16-24" x 1/7/8",1-3/8", 3-7/8" | 10
©» 675-011 | 7/16"-20 x 1-7/8", 7/16"-14 x 5/8", 3/4", 3-1/4" 10 675-115 | 3/8"-16 x 1-1/2", 3/8"-16 x 7/16", 1/4", 2-7/32" 10 [ 10
(2] 675-013 | 7/16"-14 x 5/8", 7/16"-20 x 1-3/4", 1-1/4", 3-5/8" |10 675-116 | 3/8"-16 x 7/16", 3/8"-16 x 1-5/8", 1", 3-5/16" 10 | 10
t 675-029 | 7/16"-14 x 5/8", 7/16"-14 x 1-7/8", 5/8", 3-1/8" 10 675-201 | 5/16"-24 x 1-5/8", 5/16"-18 x 5/8", 3/4", 3" 10
E 675-030 | 7/16"-14 x 5/8", 7/16"-14 x 1-7/8", 3/4", 3-1/4" 10 675-315 | M6-1.0 x 17mm, M6-1.0 x 7.5mm, 3mm, 27.5 mm | 10
675-031 | 1/2"-20 x 1-1/16", 1/2"-13 x 3/4", 11/16", 2-1/2" 10 |10 675-316 | M6-1.0 x 15mm, M6-1.0 X 7.5mm, 2mm, 31 mm | 10
675-034 | 7/16"-14 x 9/16", 7/16"-20 x 3/4", 7/16", 1-3/4" 10 675-330 | M8-1.25 x 17mm, M8-1.25 x 9mm, 4mm, 30mm | 10
675-041 | 7/16"-20 x 7/8", 7/16"-14 x 3/4", 3/8", 2" 10 |10 675-331 | M8-1.25 x 16mm, M8-1.25 x 10mm, 9mm, 35mm |10 | 10
675-042 | 7/16"-20 x 1", 7/16"-14 x 13/16", 11/16", 2-1/2" 10 675-332 | M8-1.25 x 21mm, M8-1.25 x 10mm, 9mm, 40mm |10 [ 10
675-046 | 9/16"-12 x 3/4", 9/16" x 1", 3/4" 2-1/2" 10 675-333 | M8-1.25 x 23mm, M8-1.25 x 10mm, 12mm, 45mm|[ 10 | 10
675-052 | 5/8"-11 x 1", 5/8"-18 x 1-1/4", 3/4", 3" 10 675-334 | M8-1.25 x 23mm, M8-1.25 x 10mm, 17mm, 50mm| 10 | 10
675-053 | 5/8"-11 x 1-1/4", 5/8"-18 x 1-1/2", 3/4", 3-1/2" 10 675-335 | M8-1.25 x 23mm, M8-1.25 x 10mm, 22mm, 55mm| 10 | 10
675-056 | 1/2"-20 x 15/16", 1/2"-13 x 5/8", 7/16", 2" 10 675-336 | M8-1.25 x 24mm, M8-1.25 x 10mm, 26mm, 60mm| 10
675-070 | 3/8"-24 x 3/4", 3/8"-16 x 1/2", 1/2", 1-3/4" ) Yo 675-338 | M8-1.25 x 24mm, M8-1.25 x 10mm, 36mm, 70mm| 10
675-082 | 1/2"-20 x 2", 1/2"-13 x 3/4", 1/4", 3" 10 675-339 | M8-1.25 x 18mm, M8-1.25 x 17mm, 3mm, 38mm | 10
675-084 | 1/4"-20 x 3/8", 1/4"-28 x 7/16", 3/16", 1" 10 675-350 | M10-1.50 x 27mm, M10-1.50 x 12mm, 3mm, 42mm |10 | 10
675-085 | 1/4"-28 x 1/2", 1/4"-20 x 1/2", 1/4" 1-1/4" 10 675-351 | M10-1.50 x 27mm, M10-1.50 x 12mm, 8mm, 47mm |10 | 10
675-086 | 1/4"-28 x 3/4",1/4"-20 x 1/2", 1/4" 1-1/2" 10 675-352 | M10-1.50 x 27mm, M10-1.50 x 12mm, 13mm, 52mm | 10
675-087 | 1/4"-20 x 1/2", 1/4"-28 x 1", 1/2", 2" 10 675-353 | M10-1.50 x 28mm, M10-1.50 x 12mm, 17mm, 57mm | 10
675-090 | 5/16"-24 x 1/2", 5/16"-18 x 3/8", 1/8", 1" 10 675-354 | M10-1.50 x 28mm, M10-1.50 x 12mm, 22mm, 62mm | 10
675-091 | 5/16"-24 x 5/8", 5/16"-18 x 7/16", 3/16", 1-1/4" 10 (10 675-359 | M10-1.25x 21mm, M10-1.25x 13mm, 7mm, 41mm |10 | 10
675-092 | 5/16"-24 x 7/8", 5/16"-18 x 9/16", 5/16", 1-3/4" 10 |10 675-572 | M10-1.25 x 13mm, M10-1.25 x 21mm, 3mm, 37mm | 10
675-093 | 5/16"-24 x 1", 5/16"-18 x 9/16", 7/16", 2" 10 |10 675-573 | M10-1.25 x 21mm, M10-1.25 x 13mm, 7mm, 41mm | 10
275-094 5/16"-24 x 1-1/2", 5/16"-18 x 1/2", 1/2", 2-1/2" 10 |10
75-095 | 5/16"-18 x 7/8", 5/16"-18 x 7/16", 3/16", 1-1/2" 10 [10
§75-096 | 51618 1" 51618 x 7/16". 9/16", 2" 10 | Assortment SKU Count | 64 | 32 |
675-098 | 3/8"-24 x 3/4", 3/8"-16 x 1/2", 1/4", 1-1/2" 10 |10
675-000 | 3/8"-24 x 2", 3/8'-16 x 5/8" 38", 3" 10 [10 L Assortment Drawer Court | 4 | 2 |
675-101 | 3/8"-16x 1-1/8", 3/8"-16 x 5/8", 1/4", 2" 10 |10 | Assortment Piece Count | 640 | 320 |

JOBBER STOCK - EMPTY HARDWARE OPTIONS

005-900 Orange Frames (No Drawers)

005-901 Black Frames (No Drawers)

005-910 Empty Drawer W/ 12 Dividers

005-911 Empty Drawer W/ Blank Decal and Divider Labels
005-915 6" High Base

005-920 End Panel

005-922 12-5/8" Long Divider (Full Length)

005-925 3-5/8" Drawer Divider

005-930-D Blank Drawer Decal

005-930-T Blank Drawer Labels (Tabs)

14




512110 DORMAN FASTENERS - FLAT WALL NEW!

* Flat Wall assortment includes the produdt listed below, wire pegs,
and reorder cards

* All parts shipped quantity of 2.
* Top selling hardware SKUs.

* Put an expert on your sales floor — easy to shop — fresh new
package design — save time with ordering and put away

* Upsell opportunity with high-strength hardware

Display Specifications
Height 42"
Width 40"
SKU Count 200

*High Strength Flanged C
Sc;',e"ws, Nuts and Washe:sp

SsjuawipIossy junopy JjoMm

M81.25 |

HEX FLANGED WUTS

® ® 8 ® ® & % ® ® ® % ® % & ® 8 8 8 & =8 = 4o

982-008

® % & & 8 8 2 & 8 80 e s e s o

51 2 1 o
Standard Hex Head Cap Screws and Nuts

760-005N |f 760-007N || 760-010N W
\),> o ,
» 5>

WO Sy OOy Sy Sy S Oy Sy
DY S WP S S S S S

\3,3‘3 \f)\X 5 \5‘3)\> \51)\S \5'3)\> \553 \;3)\X

Parts listing may not be in assortment order. (continued)

15



Wall Mount Assortments

16

512110 DORMAN FASTENERS - FLAT WALL (continued)

Standard Hex Head Cap Screws and Nuts (continued)

5
)

960-007
1/4"-20
x3/4"

HEX FLANGED CAP SCREWS

7/16"

FLAT WASHERS

&
2O, ) 2OV, 2
\) ) v
o) 2

960-107
5/16"-18
x3/4'

FLAT WASHERS
ﬂm’mﬂﬂ?
QY: 4 b

p

HEX FLANGED CAP SCREWS
cuass

Parts listing may not be in assortment order.

HEX FLANGED NUTS

e
canne

HEX FLANGED CAP SCREWS

;2 109

WIS
SRS

180-216N

965-003 9 §965-010
3/16" 1/4"(M6)

(M4, M5)
FLAT WASHERS FLAT WASHERS

g 8

982-006§ §982-008
M6-1.0 M8-1.25

HEX FLANGED NUTS HEX FLANGED NUTS

g

780-230N |§ 780-245N

5/16" (M8) J 3/8" (M10)
FLAT WASHERS FLAT WASHERS
8

982-010
M10-1.50

HEX FLANGED NUTS

M10-1.25

HEX FLANGED NUTS

180-320N | 780-312N

180-530N | 780-540N

182-011

183-010N

.

(continued)




Wall Mount Assortments

512110 DORMAN FASTENERS - FLAT WALL (continued)

Flat, Fender and Split Lock Washers

765-008N ] 765-010N || 765-011N )] 765-012N || 765-013N )] 765-014N ] 766-009N )f 766-010N ] 766-011N | 766-012N
3/16" (M5) | 1/4"(M6) | 516" (m8) | 3/8"(M10) | 716" 1/2" 3/16' 1/4' (me) | 5/16" (M8) | 3/8" (M10)

SPLITLOCK WASHERS SPLITLOCK WASHERS SPLITLOCK WASHERS SPLITLOCK WASHERS SPLITLOCK WASHERS SPLIT LOCK WASHERS (M4, M5)
FLAT WASHERS FLAT WASHERS FLAT WASHERS

FLAT WASHERS
CITYA 20 QTY: 18 Qry: 18 QTY: 18

QTY: 30 QTY: 20 Qny: 12 Q1Y: 12 QrY: 12 QTY: 30

166-109 | 766-110 | 766-112 | 766-118

5/16"(M8) | 1/4"(Me) | 3/8" (M10) (.24135,

FENDER WASHERS FENDER WASHERS FENDER WASHERS FENDER WASHERS
QrY: 9 QrY: 9 QTY: 9 ary: 15

766-013N || 766-014N
716" | 1/2*(M12)

FLAT WASHERS FLAT WASHERS

QTY: 18 QTy: 8

Stainless Steel Hardware
7184-100 184-110 184-115 184-125 B 784-130 BER 784-135 BN 784-140 BiR 784-150 BN 784-155 Bl 784-160

784-180 Bin 784-185 Bi8 784-190 184-300

sjuawpiossy junopy jjom

184-305044784-328 88 784-332 BiN 184-334

785-102 [N 785-104 [ 785-108 [ 785-110 [l 785-114 [l 785-116 [ 785-126 [ 785-130 Il 185-132 JN785-500

1/4" 1/4" 1/4'-20 1/4' 1/4" M6-1.0 1/4" (#14) 1/4" (#14) M6.3-1.81 1/4"
x 3/4" x1-1/4" x5/8" x5/8",3/4"  x1/2,5/8" X 16mm x5/8'FORD  x5/8'GM  x16mmIMPORT X 3/4"
UGENSEWARDWARENT  LCENSEMARDWAREKT ~ LCENSENARDWARENT  LCENSEWARDWAREKT  LCENSEWARDWAREKT  UCENSEMARDWARENT LCENSEWARDWARET LCENSEMARDWAREKT UCEMSEHARDWARENT  LICENSE WARDWARE IT
Qny: 12 Q: 4 0TY:°1 0 Q1Y: 12 m: 20 ng£16 ony: 8 ny: 8 Qry: 8 ny: 12{
¢ > 00x ; o o g " = A
-3 4 LS K@ & \‘ ao oC ] { ¥ ] R

Maintenance and Specialty Hardware

184-600 § 784-602 | 784-604 | 784-608 | 784-610 | 784-612 | 784-614| | 784-620 § 784-622 | 784-624

Parts listing may not be in assortment order. (continued)

17



512110 DORMAN FASTENERS - FLAT WALL (continued)

Maintenance and Specialty Hardware (continued)
184-626 | 784-628 | 784-632 | 784-634 | 784-100 J 784-102 | 784-110 184-116 | | 784-150

184-1712 | 184-114| | 184-116

(7]
':-: 961-01501961-03088 961-03580% 961-040 8% 961-045 84 961-050 M 961-055MH961-060 Ml 961-070 Bl 961-075
E 1/8" 3/16" 316" 1564',14' 14" 1/4" 1/4" 5/16" 172" 1/4"
.: STEEL RIVETS a.uminumpivers STEEL RIVETS NYLONRIVETS NYLONRIVETS NYLONRIVETS NYLONRIVETS NYLONRIVETS NYLONRIVETS GRiLL HEADLAMP
ASSORTMENT ASSORTMENT ASSORTMENT ASSORTMENT ASSORTMENT ASSORTMENT RIVETS
a QTY: 21 QTY: 15 QTY: 10 Q1Y: 6 QTY: 6 Q1Y: 6 QTY: 2 QTY: 2 QY: 2 on: 4
~ B S SR Sl X * ¢
S
mmmmmmmmm
— #10 #8, M4.2 #8 #0x3/4',1" #8,#14 U-TYPE U-TYPE U-TYPE WIDE PANEL 5/16" 3/8"
‘B X 3/4',1"  BLACKTRIMSCREWS CHROME TRIM SCREWS CHROME TRIM SCREWS J-TYPE SPEED NUTS  SPEED NUTS M6, M8 M6, M8 SPEED NUTS
BLACK TRIM SCREWS ASSORTMENT ASSORTMENT ASSORTMENT SPEED NUTS ASSORTMENT ASSORTMENT SPEED NUTS SPEED NUTS ASSORTMENT
E Q1Y: 10 QTY: 10 QTY: 12 QTY: 10 Q1Y: 6 QmY: 12 QTY: 12 Q1Y: 4 QTY: 6 QTY: 5

A P o A 4 $ % ) ) s

961-33000 961-355 BN 963-005 81N 963-015 BN 963-025 ¥ 963-040 BN 963-045 BN 963-050 BN 963-055 8N 963-060
THREAD NYLON NUTS CHRYDSLER, CHRYSLER, CHRYSLER, GM CHRYSLER, PANEL CHRYSLER, CHRYSLER,

CUTTING NUTS e FORD,GM FORD,GM  FORD, GM T FORD,GM  RETAINERS FORD FORD
ASSORTENT PANEL RETAINERS PANEL RETAINERS PANEL RETAINERS PANEL RETAINERS ASSORTMENT PANEL RETAINERS PANEL RETAINERS

QTY: 15 QTY: 15 QTY: 6 0"5 6 OTV‘ 6 Qry: 3 QTY: 9 QTY: 6 Qry: 7 Qmy: 4

& { P ) - P 2 P b N

963-075 BN 963-081 1N 963-082 BN 963-083 NN 963-084 NN 964-010 BN 964-015 BN 964-040 BN 964-045 NN 964-050
PANEL NISSAN/  NISSAN/ NISSAN NISSAN  M6x25mm,  M8-1.25 3/8"-16 7116"-14 1/2"13

RETAINERS  INFINITY INFINITY SENTRA ALTIMA M6.3x25mm  x25mm x1-1/4" x14/2" x 1-3/4"
ASSORTMENT DOORPANELRETAINERS ~ DOORPANELRETAINERS DOOR PANELRETAINERS ~  DOOR PANEL RETAINERS BODY BOLTS BODY BOLTS BUMPER BOLT BUMPER BOLT BUMPER BOLT
QTY: 12 Qny:4 Qny: 4 QmY: 4 Qmy:4 Qny: 4 Qmy: 2 Qy:3 Qy: 3 Qmy:3

2 & >

Parts listing may not be in assortment order.




i

Wall Mount Assortments

512114 DORMAN CHROME NEW!
WHEEL HARDWARE Display Specifications
(LOCK SETS) Height 14"

* Flat Wall assortment includes the product listed Width 48
below, wire pegs, and reorder cards. SKU Count 22

« All parts shipped quantity of 1.
* Sales opportunity — new tuner and spline-drive additions.

* Fresh, new packaging art and updated space-efficient
clamshell design.

S
—
=
e
]
-y
k=
(7]
(7]
o B °
ChEnim m%% §
W HFFE
ﬁﬂm’i‘ﬂﬁ'_% oo o S
Plated for Durabl a
711-221 711-225 711-226 711-227 711-241 711-245
1/2" - 20 1/2" - 20 1/2" - 20 1/2" - 20 1/2" - 20 1/2" - 20

711-255
1/2" - 2

ci (ST €

& LOCKRIT i 5 el ik bgk

Parts listing may not be in assortment order.

19



=
S
£
=
(=
“
“
<
=
=
Q
=
3
=

20

Wall Mount Assortments

512115 DORMAN CHROME NEW!
WHEEL HARDWARE Display Specifications
(LOCK AND NUT SETS) Height 21"
Width 48"

* Flat Wall assortment includes the product listed
below, wire pegs, and reorder cards SKU Count 38

< All parts shipped quantity of 1.
* Sales opportunity — new tuner and spline-drive additions.

* Fresh, new packaging art and updated space-efficient
clamshell design.

et o D)
E\_*‘J 3 '.'lf P
.

711-241

_ CHROME [@WE r r
.WHEH NiTs

M
for Durability.

oouue Plated
for Durability

711-201 711-205 711-207
1/2" - 20 1/2" - 20 1/2" - 20

M
for Durability.

'HRBM 'HRBM L GoE - W% " % (CHROMWE] iHRﬂM
711-208 711-209 711-221 711-225 711-226 711-227
1/2" - 20 1/2" - 20 1/2" - 20 1/2" - 20 1/2" - 20 1/2" - 20
\WHEFIIN TR/ LA B o
LR Nt e Lo
711-241 . 711-245 711-255
1/2" - 20 1/2" - 20 1/2" -

Parts listing may not be in assortment order. (continued)




Wall Mount Assortments

_ TUNER:
VHEEL LOCKs

512116 OIL-TITE! DRAIN PLUGS AND GASKETS
el ADD ON SALES!

* Flatwall assortment includes the produd listed below, wire pegs, Place 512116 next o
reorder cards and an application guide.

< All parts shipped quantity of 2.

Wi O%
Display Specifications o

Height 60" 4 O
Width 18" .

SKU Count 81

your oil & filter section

SjuawiLIoSsy junoly [jom

OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN
PLUG - PLUG - PLUG - PLUG - PLUG - 65215
UNIVERSAL  UNIVERSAL  PILOT POINT  MAGNETIC OVERSIZE **
1/2" 5/8" 1/2"-20 1/2"-20 1/2"-20 SO M14-1.50

Pilot Paint

OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN
PLUG - PLUG - PLUG - PLUG - PLUG -
MAGNETIC OVERSIZE OVERSIZE PIGGYBACK  PIGGYBACK
1/2"-20 SO 1/2"-20 DO 1/2"-20 TO 1/2"-20 SO 1/2"-20 DO

OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN

PLUG - PLUG - PLUG - PLUG-  PLUG - PILOT OIL-TITE!
OVERSIZE PILOT POINT  MAGNETIC OVERSIZE POINT
5/8"-18 SO M12-1.75 M12-1.75  M12-1.75S0  M12-1.25 65215
(continued)
Parts listing may not be in assortment order. 512116

n



j‘ 4 ._'-. i) - %\’ -

Wall Mount Assortments

512116 OIL-TITE! DRAIN PLUGS AND GASKETS (continued)

65215 MY 65216 B 65217 i 65219 B 65220 Bi§ 65221 By 65223 M 65225 BN 65226 N 65228 |

OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN

PLUG - PILOT PLUG - PLUG - PLUG - PILOT PLUG - PLUG - PLUG - PLUG - PLUG - PLUG -
POINT MAGNETIC OVERSIZE POINT STANDARD STANDARD STANDARD PIGGYBACK  STANDARD PIGGYBACK
M14-1.50 M14-1.50 M14-1.50 SO M16-1.50 M18-1.50 M20-1.50 M22-1.50 5/8"-18 SO 3/4"-16 M12-1.25 SO

65220 By 65230 B 65231 M 65232 Qi 65233 B 65235 M 65236 [l 65240 QY 65241 B 65245 |

OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN

PLUG - PLUG - PLUG - PLUG - PILOT PLUG - PLUG - PLUG - PLUG - PLUG - PLUG -
PIGGYBACK  STANDARD STANDARD POINT STANDARD STANDARD STANDARD UNIVERSAL  PIGGYBACK  STANDARD
M14-1.50 SO M14-1.50 7/8"-18 M14-1.25 1/2"-20 M16.4-1.33 M12-1.50 1/2" to 3/4" 1/2"-20 1/2"-20

65246 Bl 65253 | 65256 i 65263 Qi 65265 M 65266 M 65267 B 65268 QY 65260 W 65270 |

OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN COPPER  METAL/RUBBER NYLON

'l“-' PLUG - PILOT PLUG - PLUG - PLUG - PLUG - PILOT PLUG - PILOT PLUG - PILOT GASKET GASKET GASKET

5 POINT STANDARD MAGNETIC STANDARD POINT POINT POINT 1/2" DO, 1/2" 1/2" DO, 1/2" 1/2, M12

E M14-1.50 - M14-1.50 M14-1.25 M12-1.25 M12-1.75 M14-1.50 1/2"-20 T0, M14,M14  TO, 9/16", M14

T Molded Gasket S0

Qo

v

lﬂﬂlﬂﬂl@ﬂlﬂllﬂﬂlﬂilﬂlmm

3 COPPER NYLON COPPER  METAL/RUBBER ~ COPPER COPPER COPPER COPPER COPPER FIBER

= GASKET GASKET GASKET GASKET GASKET GASKET GASKET GASKET GASKET GASKET

é 1/2",1/2" 80, 1/2" 80, 1/2" 5/8", M16, 1/2", M12, 5/8" SO, 7/8", M22 3/4" SO, 11/16" SO, 1", M25 Assortment
M12, M12 SO DO, 9/16", M16.4 M12 SO 11/16", M18 13/16", M20 3/4"

== M14

| 65261 By 65282 MY 65287 M 65288 Qi 65290 NN 65292 M 65301 B 65303 [ 65304 B 65306 |

COPPER ALUMINUM  OIL CHANGE  OIL CHANGE ~ ALUMINUM  ALUMINUM  SYNTHETIC  SYNTHETIC  SYNTHETIC CRUSH

GASKET GASKET REMINDER REMINDER GASKET GASKET GASKET GASKET GASKET GASKET
Assortment Assortment STICKER STICKER 1/2", M12, 1/2" DO, 1/2", M12, 1/2"to 5/8",  M16.4, M18 M10
Vinyl Paper M12 SO 9/16", M14 M12 SO M14 SO, M16

65310 B 65311 I 65327 M 65330 MY 65356 Bl 65371 | 65372 | 65378 Y 65384 il 65385 |

CRUSH CRUSH RUBBER NYLON FIBER OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN OIL DRAIN
GASKET GASKET GASKET GASKET GASKET PLUG - PILOT PLUG - PLUG - PILOT PLUG - PLUG - PILOT
1/2"S0, 3/4"S0, M12 1/2", M12, 11/16"S0, POINT MAGNETIC POINT STANDARD POINT
1/2"DO, 13/16", M20 M12 SO M18 M12-1.75 - M12-1.75 M12-1.75 - M22-1.50 M12-1.75 -
1/2'10, M14 Inset Gasket Molded Gasket Molded Gasket

| 65388 i 65450 BN 66301 B 66302 B 66303 [ 66451 |

METAL/RUBBER ~ OIL DRAIN NYLON RIB NYLON RIB NYLON RIB RUBBER

GASKET PLUG - PILOT GASKET GASKET GASKET GASKET
M20 POINT M12 1/2", M12. S0 1/2'S0, 1/2'DO, M12
M12-1.75 - 1/2'T0, M14

Inset Gasket

Parts listing may not be in assortment order.

22




= L.

» 0>

e 9‘ 'Lh-.l"

512117 SPINDLE-TITE! - SPINDLE HARDWARE

* Includes popular coverage of non-reusable spindle nuts.
* Flatwall assortment includes product listed below, NEW?!

wire racks and reorder boards.
* All parts shipped quantity of 2.

Display Specifications
Height 45"
Width 9"
SKU Count 15

05105 05107 05110

SPINDLE SPINDLE SPINDLE
LOCK LOCK LOCK
NUT KIT NUT KIT NUT KIT

05101 05104

SPINDLE SPINDLE
LOCK LOCK
NUT KIT NUT KIT

SPINDLE-TITE!

05113 05121 05145 05170 05172 05183 05184

W § ¥ @& & @ & @ ° ° 8 © e ® ® @ ® @& ° ° & @ @ e« & o o @

SPINDLE SPINDLE SPINDLE SPINDLE SPINDLE SPINDLE SPINDLE M : E
LOCK LOCK LoCK LOCK LOCK LoCK LoCK s ﬁ T ﬂ =
NUT KIT NUT KIT NUT KIT NUT KIT NUT KIT NUT KIT NUT KIT > = =
)
S
05185 05186 05187 05190 05191 05193 05194 ;
SPINDLE SPINDLE SPINDLE SPINDLE SPINDLE SPINDLE SPINDLE a
LOCK LOCK LOCK LOCK LOCK LOCK LOCK o
NUT KIT NUT KIT NUT KIT NUT KIT NUT KIT NUT KIT NUT KIT :;.a.
512117 ®
=
@
512118 DORMAN BODY HARDWARE NEW!

* Flatwall assortment includes the product listed below, wire pegs, and reorder cards.

* All parts shipped quantity of 2. Q - 8@‘

* Assortment includes bulk paks — a better value for the most popular SKUs. / e o
Display Specifications ﬁ )

Height 50"

Width 20" *

SKU Count 87
| 961-015 BN 961-020 BN 961-025 BN 961-030 Bl 961-035 799-100 BN 799-105 Bl 799-110 [LIIIE
1/8" 1/8" 5/32" 3/16" 3/16" 15/64",1/4" 5/16" /2" 1/4"
STEEL RIVETS STEELRIVETS ~ ALUMINUMRIVETS ALUMINUMRIVETS STEEL RIVETS NYLON RIVETS NYLON RIVETS NYLON RIVETS GRILL HEADLAMP RIVETS msusmums
ASSORTMENT ASSORTMENT ASSORTMENT ASSORTMENT ASSORTMENT ASSORTMENT
oTY: 21 0TY: 16 QTY: 20 0TY: 15 0TY: 10 QTY: 6 QTY: 15 amy: 10 QT: 15 QTY: 15

Al A A
19320 B oo-125 B 196-120 B 199-130 N 10515 M 105 0 B 10945 i o610 i o6r-0a5 B 961050

GM NYLON TRIM/ GM CHRYSLER, NISSAN, HEADLINER 1/8" 1/4" 1/4"'
mnnemusns PANEL RETAINERS EENECCHIRS PANEL RETAINERS FORD, GM TOYOTA RETAINER 5 ywinummivers NYLONRIVETS NYLON RIVETS
ASSORTMENT PANEL RETAINERS PANEL RETAINERS UNIVERSAL ASSORTMENT ASSORTMENT ASSORTMENT
QTY: 15 QTY: 8 QTY: 10 QTY: 15 QTY: 15 QTY: 15 QTY: 15 QTY: 18 0TY: 6 oTY: 6
\ t 2
Parts listing may not be in assortment order. (continued)

23



Wall Mount Assortments

512118 DORMAN BODY HARDWARE (continued)
961-055 BN 961-060 MY 961-065 961-075

14" 5/16" 14 12 14"
NYLON RIVETS NYLON RIVETS NYLON RIVETS NYLON RIVETS GRILL HEADLAMP RIVETS
Q1Y: 2 Qmy: 2 QY: 2 Q1Y: 2 Qmy: 4

X P P P P
961-080/14 961-100 BN 961-120 BN 961-130 BiN 961-200

FORD  MOLING GM,FORD 48 = #8
R 2 ASSORTHENT LI T vn:’i(muun’mmm m;uenm’snnws

QY: 6 Q1Y: 9 QTY: 6 Q1Y: 6 QTY: 6

¥ o S e e

961-205008 961-210 BN 961-215 N 961-220 88 961-225
#8 #10 #8,#10 #8,M4.2 #8 963-058
x5/8" 1" X3/4'y1"  BLACKTRIMSCREWS BLACKTRIMSCREWS CHROME TRIM SCREWS
BLACK TRIM SCREWS BLACK TRIM SCREWS ASSORTMENT ASSORTMENT ASSORTMENT
QTY: 10 QTY: 10 QTY: 12 QTY: 10 QTY: 12
- g s L 4 L &
L4
S 961-23000 961-235 00 961-298 011 961-30011961-30500% 961-310)
g #0x3/4',1" #8,#10 #6 #8,#14 U-TYPE U-TYPE
t CHROME TRIM SCREWS  CHROME TRIM SCREWS SPEED NUTS J-TYPE SPEED NUTS  SPEED NUTS
(-] ASSORTMENT ASSORTMENT SPEED NUTS ASSORTMENT ASSORTMENT
3 QTY: 10 Qry: 12 om:3 QTY: 6 0TY: 12 0TY: 12
2 ¢ v e % % 9
s 1961-313 8 961-315 88 961-320 808 961-32584 961-3308I8961-335
= 1/4'-20 U-TYPE WIDE PANEL 5/16", 3/8" THREAD TUBULAR
—] SPEED NUTS M6, M8 M6, M8 SPEED NUTS CUTTING NUTS NUTS
a SPEED NUTS SPEED NUTS ASSORTMENT ASSORTMENT ASSORTMENT
=

Qry: 2 QTY: 4 Q1Y: 6 QnY: 5 QTY: 15 QTY: 9

) ® © At =3 &
961-345001961-350 48 961-355 01 961-356 848 961-357 N 961-375811961-38 014 963-005 963015

#10-16 1/4"14 1/2",5/8" 3/8" CHRYSLER, FORD CHRYSLER.
PUSH NU'I'S “YI-ON NUTS “YI-O“ NUTS n n 1) y
S LB il SELF nxmgl{ﬁmm SELF :uu?{:cnws REK IR R NYLON lﬁr'sfscms Fl?u!mr’mmsm PAVELFETANESS Fguggr’ufnsM
QTY: 16 QTY: 12 QTY: 15 QmY: 5 Qry: 3 QTY: 6 QTY: 6 QTY: 6 QTY: 15 QTY: 6

963-020 Bl 963-025| 1963-035 81 963-040 MY 963-045 Ml 963-050 BI¥ 963-055| 963-058
GM GM

CHRYSLER,  GM GM  CHRYSLER, PANEL  CHRYSLER, AMC,GM, CHRYSLER,
GM PANEL RETAINERS PANEL RETAINERS PANEL RETAINERS PANEL RETAINERS FORD! GM RETAINERS FORD cHRVSLEh FORD! GM

PANEL RETAINERS PANEL RETAINERS ASSORTMENT PANEL RETAINERS PANEL RETAINERS PANEL RETAINERS
qmv: 3 Qmy: 3 QT 2 Qmy: 3 m:3 QTY: 9 QTY: 6 Qm:7 amy: 3 Qm:3
~ A P S N S |
963-060 BN 963-065 BN 963-070 BN 963-071 BN 963-075 BN 963-079 BN 963-080 BN 963-081 8l 963-082 Bl 963-083
CHRYSLER, GM HOOD HONDA HONDA PANEL FORD NYLON NISSAN/ NISSAN/ NISSAN
FORD RETAINER  HEADLINER ~ MOODTRUNK ~  RETAINERS ~ euawwims  TRIM CLIPS  INFINITY INFINITY SENTRA
PANEL RETAINERS PANEL RETAINERS PANEL RETAINER ASSORTMENT PANEL RETAINERS DOOR PANEL RETAINERS DOOR PANEL RETAINERS DOOR PANEL RETAINERS
QY: 4 Q1Y: 3 QmY: 2 QTY: 4 QTY: 12 Qry: 3 QTY: 6 oTY: 4 on: 4 oTY: 4

P ~ > 2 /7 > ¢ >

963-084 888 964-005 B 964-010 BN 964-015 BEN 964-020 BEN 964-025 BiN 964-030 B8 964-040 964-050
NISSAN ~ M4.21.41 M6x25mm, M8-1.25  1/4'20  516-18  3/8-16  3/8-16 71614  1/2"13

ALTIMA X 20mm M6.3 x25mm X 25mm x1" x7/81-1/4" x1'11/2" x1-1/4" x1-1/2" x 1-3/4"
DOOR PANEL RETAIERS BODY BOLTS B00Y BOLTS BODY BOLTS BODY BOLTS BODY BOLTS BODY BOLTS BUNPER BOLT BUMPERBOLT BUMPER BOLT
Qny: 4 Qmy:4 Qny:4 Q1Y: 2 Qmy: 2 Qny:4 Q1Y: 2 Qmy:3 Qry:3 omy:3

I } ) } ) ) A ::- & "‘:» o ’O\ w»

Parts listing may not be in assortment order.

24



e (&l (R i

Wall Mount Assortments

512120 DORMAN LICENSE PLATE HARDWARE

* Flatwall assortment includes the product listed below, wire pegs, and reorder cards

e All parts shipped quantity of 5. e o o .
Display Specifications 4 o g D ) = :"j S
Height 20" oy, ﬁ P o .
Width 10" i\ % ‘ (> o ¥ .
SKU Count 20 o mba .
785-100 8 785-101 [N 785-102 N 785-104 BN 785-106 = ( ®
oo, guxae 6 i .4 '
égghzﬁh?g R M RNEN ucius)i( HARDWARE KIT lIGEﬁE u;nn{mnim LICENSE HARDWARE ¢ -_ a
QTY: 12 0TY: 12 0TY: 12 0TY: 4 aT: 12 e 8 *
r '“\ . :4 ’\ e ° :‘,J s
785-107 Jl 785-108 Jil 785-109 785-111 . o la Jie s .
SECURITY  1/4"-20 1/4".20 14" #6x38" . Em =1 = >
SCREWS x5/8" X 5/8" x5/8', 3/4" LICENSE HARDWARE KIT o B b 2
LICENSE HARDWARE KIT LICENSE HARDWARE KIT LICENSE HARDWARE KIT LICENSE HARDWARE KIT 785-100 : I;«j | g
QTY: 8 QTY: 10 QTY: 24 QTY: 12 QTY: 8 . k 0 2
L gg'@ a\@ X &~ . o= o .
512120
785-112| 185-128 185-500
#8 1/4" M6-1.0 1/4"-20 1/4" (#14) 1/4" (#14) 1/4" (#14) M6.3-1.81 WHITE ‘é,'l?'-“c'( 1/4"
x1/2" x1/2",5/8" X 16mm x1/2",5/8" x5/8"FORD x1-3/16'GM  x5/8'GM  x16mm IMPORT X 3/4"
LICENSE HARDWARE KIT LICENSE HARDWARE KIT LICENSE HARDWARE KIT LICENSE HARDWARE KIT LICENSE HARDWARE KIT LICENSE HARDWARE LICENSE HARDWARE KIT LICENSE HARDWARE KIT LICENSE HARDWARE KIT LICENSE HARDWARE KIT
o1Y: 8 g: 20 &'I;L 16 QTY: 16 QTY: 8 Q1Y: 4 QTY: 8 QTY: 8 QTY: 20 QTY: 13{
& o ) - e =
b o© o® -® R ) { L8 ® -
512327 VACU-TITE!® - VACUUM CONNECTORS & TUBING AiEii

* Flatwall assortment includes the product
listed below, wire pegs, reorder cards.

o All parts shipped quantity of 2.

41300

STRAIGHT
VACUUM
CONNECTOR

1/8"x 1/8"

LYED |

VACUUM
RESTRICTOR

3/16"
0.0185"

41303

STRAIGHT
VACUUM
CONNECTOR

3/16" x 3/16"

41326
VACUUM
TEE

1/8" x 1/8" x
3/16"

413017

STRAIGHT
VACUUM
CONNECTOR

Assortment

41328

VACUUM
TEE

Assortment

Parts listing may not be in assortment order.

41308

STRAIGHT
VACUUM
CONNECTOR

Assortment

41329

VACUUM
TEE

Assortment

Display Specifications

Height 34" N
Width 24" '

SKU Count 49 ‘4

41309

STRAIGHT
VACUUM
CONNECTOR

Universal

41333
VACUUM
TEE

5/32" x 5/32" x
5/32"

(continued)

i

VACU-TITE!

47300

512327

SJUaWILIOSSY junoly [jom

25



=
=
o
£
(]
“
“
<
T
=
(~]
=
3
=

26

Wall Mount Assortments

512327 VACU-TITE!® (continved)

47334

VACUUM
TEE

3/16"

47353
VACUUM "Y"
CONNECTOR

1/4" x 1/4"
x 1/4"

47393

RUBBER
VACUUM
CAP

7

47413

VACUUM
ELBOW
CONNECTOR

47336

VACUUM
TEE

3/16" x 3/16" xJ 3/16" x 3/16" x

1/4"

47354

VACUUM “Y"
CONNECTOR

Assortment

47394

RUBBER
VACUUM
CAP

5/16"

47415

VACUUM
TEE

CONNECTOR
3/16" x 3/16" || 7/64" x 7/64" x

/64"

47337
VACUUM
TEE

3/16" x 1/4"
x 3/16"

47356

VACUUM “F"
CONNECTOR

3/16" x 3/16" x

3/16"

47395

RUBBER
VACUUM
CAP

3/8"

47417

HARD
VACUUM/
EMISSION

TUBING

1/8"x 3'

47338
VACUUM
TEE

1/4" x 1/4"
x1/4"

47361

4 & 5 WAY
VACUUM
CONNECTOR

3/16"

47396

RUBBER
VACUUM
CAP

Assortment

47418

HARD
VACUUNM/
EMISSION

TUBING

5/32"x 3'

47342

VACUUM
TEE

5/16" x 5/16" x
5/16"

47380
VACUUM

ASSORTMENT
Value Pack

47397

VINYL
VACUUM
CAP

Assortment

47419

HARD
VACUUNM/
EMISSION

TUBING

3/16"x 3'

3/8" x 3/8" x

VACUUM CAP
CONNECTOR J§ ASSORTMENT

Value Pack

47343

VACUUM
TEE

47345
VACUUM
TEE

3/8" x 3/8" x

3/8" 1/4"

47388 47389

RUBBER
VACUUM
CAP

1/8"

47402

STRAIGHT
VACUUM
CONNECTOR

1/8" x 5/32"

47421

HARD
VACUUM/
EMISSION

TUBING

1/ "y 3

47430

2" VACUUM
HOSE

Assortment

47348

STRAIGHT
VACUUM
CONNECTOR

3/8" x 3/8"

47390

RUBBER
VACUUM
CAP

5/32“

47403

STRAIGHT
VACUUM
CONNECTOR

1/8" x 7/32"

47431

VACUUM
ELBOW
CONNECTOR

Assortment

47349

VACUUM TEE § VACUUM "Y"

CONNECTOR
Universal
1/ " x 3/8"

47391

RUBBER
VACUUM
CAP

3/16"

47408

SOFT
VACUUM
ELBOW

1/8" x 5/32"

47432

RUBBER
VACUUM
CONNECTOR

Assortment

47352

CONNECTOR

3/16" x 3/16" x

3/16"

47392

RUBBER
VACUUM
CAP

7/32"

47411

SOFT
VACUUM
ELBOW

9/64" x 5/32"

512338 EZ DRAIN™ OIL DRAIN VALVES

* No Mess Oil Drain Valve
* Easy to use - push, twist and drain

Display Specifications
Height 8"
Length 19-3/4"
Depth 1-3/4"
SKU Count 5

092-003
M12-1.25




300-999 “DORMAN

(=][=»SOLUTIONS

':.—-r" -. .’p B i |

* Flat WallWaterfall - —— 1 =
assortment includes the D_ISplay Specifications - : SR l_;id:_i{q’._j_: 2l -
product Iisteddbelové, . Height 60" = SRRV RV R TTTTI /)
wire pegs and reorder cards [ \iqith 18" - CEERBERE
* All parts shipped SKU Count 63 _lil—MfLLLL :
quantity of 1. B B> ll
800-001 i 800-002 i 800-003 | 800-004 M 800-005 i 800-008 : E Ty g ! e
FUEL LINE FUEL LINE FUEL LINE FUEL LINE FUEL LINE FUEL oy __ e .

CLIP CLIP CLIP CLIP CLIP RETAINER ===

Ford 1/4" 1/2" Duckbill  Ford 5/16" Ford 3/8" GM 5/16" 13MM Ford

DISCONNECT  DISCONNECT ~ FUELLINE  NYLON VITON* FORD
To0L To0L UNION UNION 0-RINGS  RETAINER
14516, 38" 172" 38" 5/16" 516'3/8"  5/16"3/8"
800-016 | 800-017 j 800-025 j 800-050 i 800-051 M 800-052
GM FORD GMSTEEL  REPAIRKIT  REPAIRKIT  REPAIR KIT

RETAINER  RETAINER  FUEL LINE Ford Ford Ford

5163/8"  10.5,13MM CLIPS 516"180°  5/16" 90° 3/8" 180°
800-001 800-999

REPAIRKIT ~ REPAIRKIT ~ REPAIRKIT ~ REPAIRKIT ~ REPAIRKIT  REPAIRKIT  REPAIRKIT ~ REPAIRKIT  NYLON LINE - NYLON LINE -

Ford Ford Ford Ford GM GM GM GM UNIVERSAL  UNIVERSAL
1/4" x 516"  5/16"x 3/8"  3/8" x 5/16" 3/8" 90° 5/16" 180° 3/8" 180° 3/8" 90° 5/16" 90° 5/16" x 18" 3/8" x 18"

FUEL LINE FUELLINE  FUEL FILTER FUEL FILTER  FUEL LINE FUELLINE  FUEL FILTER  FUEL FILTER ~ FUEL LINE SENDING
CONNECTOR  CONNECTOR REPAIR LINE REPAIR LINE DOUBLE BEAD DOUBLE BEAD REPAIR LINE REPAIR LINE DOUBLE BEAD UNIT REPAIR

Steel 5/16"  Steel 3/8"  516"x18"  3/8"x18"  12x516"  12"x3/8"  516"x30"  3/8"x30"  12'x1/4~  DOUBLE BEAD

516" x 12"
800-402

SENDING  SENDING UNIT SENDING UNIT SENDING UNIT SENDING UNIT SENDING UNIT SENDING UNIT
UNIT REPAIR REPAIR REPAIR REPAIR LINE  REPAIR LINE  LINE W/HOSE LINE W/HOSE
DOUBLE BEAD DOUBLE BEAD DOUBLE BEAD ~ STEEL NUT  W/STEEL NUT BARB BARB

3/8"x 12"  516"x4-3/4" 3/8"x4-3/4" 5/16"x4-3/4"  3/8" x 4-3/4"

800-406 [§| 800-407 '§ 800-408 |§ 800-602 g 800-603
800-605 '§ 800-606 § 800-607 [§ 800-608 ' 800-609
Order OE Solutions

800-610 800-701 800-705 800-801 '§ 800-802 | MBI NLN 4
# 2500000 for
quick & easy
product
identification.

sjusuwipiossy junoy jIom

800-403 [§ 800-405

Also available, 800-300 Fuel Line Repair Kit.
See page 56 for details.

Parts listing may not be in assortment order. *Viton® is a Registered Trademark of DuPont® Dow® Elastomers.

27



Dealer-Pake® Assortments

DormaAN DEALER-PA
CABINET

* Ideal for smaller jobbers and service dealers

* Open face cabinet mounts on wall to organize
and display a large quantity of parts in 1 B -

TR

efficient space.
® Stock “X”
DeaLER-Pak® AsSORTMENTS — OVERALL COVERAGE & STOCKING GUI tosra
goal of:
Page Cabinet | Assortment (75% 85% 95%
Part # | New| # | Description Count SKU Count
015-624 | x 28 | Dealer-Pak® Wheel Hardware 1 57 X
025-070 | x 29 | Dealer-Pak® Fasteners - Standard Grade 8 Coarse 1 60 X
025-075 29| Dealer-Pak® Fasteners, Metric Class 8.8 1 60 X
025-085 29-30 | Dealer-Pak® Fasteners, Metric Class 8.8 - Fine Pitch 1 60 X
025-150 30| Dealer-Pak® Standard Fasteners, Grade 5 1 60 X
025-160 30-31| Dealer-Pak® Standard Fasteners, Grade 5 - Popular 1 60 X
025-320 | x 31| Dealer-Pak® Standard Fasteners, Grade 5 - Full 2 120 X
025-350 32| Dealer-Pak® Fasteners, Metric Class 8.8 - Fine Pitch 2 120 X
025-555 | x |32-33| Dealer-Pak® Maintenance Hardware 1 45 X
015-624 DEALER-PAK® NEW!
WHEEL HARDWARE
-v_) Assort./ Assort./
§ Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
E Wheel Stud Wheel Stud (continued) Wheel Nut (continued)
'= 610-103| 1/2"-20 x 1-31/32" 10 610-368 | 1/2"-20 x 1-31/32" 10 611-074 | M12-1.50 x 30.5mm 10
o 610-109 | 1/2"-20 x 1-5/8" 10 610-369 | M12-1.50 x 46mm 10 611-084 | M12-1.50 x 36mm 10
v 610-138| 1/2"-20 x 1-17/32" 10 610-378 | M12-1.25 x 42mm 10 611-093 | 1/2"-20 x 15/16" 10
'qﬂ 610-159 | 1/2"-20 x 1-5/8" 10 610-379| 1/2"-20 x 1-15/16" 10 611-094 | 1/2"-20 x 1-5/8" 10
610-179| 7/16"-20 x 1-3/4" 10 610-416 | M12-1.50 x 52.2mm 10 611-098 | 1/2"-20 x 1-3/8" 10
® 610-186| 7/16"-20 x 1-1/2" 10 610-428 | M14-1.50 x65.5mm | 10 611-109 | M12-1.50 x 27.5mm 10
i 610-219| 1/2"-20 x 1-29/32" 10 Wheel Bolt 611-110| M14-1.50 x 20mm 10
a. 610-244 | M12-1.50 x 37mm 10 610-018 | 1/2"-20 x 1" 10 611-114| M12-1.25 x 29mm 10
i 610-254 | M12-1.50 x 41.5mm 10 610-414| M12-1.50 x 45mm 10 611-115| M14-1.50 x 28.5mm 10
[ 610-260 | 1/2"-20 x 1-13/16" 10 Wheel Nut 611-117 | M12-1.50 x 32mm 10
~B 610-262 | M12-1.50 x 37.5mm 10 611-014 | 7/16"-20 x 9/16" 25 611-122| 1/2"-20 x 1-5/16" 10
o 610-266 | M12-1.50 x 40mm 10 611-016 | 1/2"-20 x 5/8" 25 611-138 | M12-1.50 x 35mm 10
a 610-269 | M12-1.50 x 36mm 10 611-027 | 1/2"-20 x 7/16" 25 611-141| M12-1.50 x 26mm 10
610-285| M12-1.50 x 41mm 10 611-052 | 9/16"-18 x 3/4" 10 611-144| M12-1.50 x 19.5mm 10
610-303| 9/16"-18 x 3-9/32" 10 611-053 | 9/16"-18 x 21/32" 10 611-150 | M12-1.50 x 31mm 10
610-312| M12-1.50 x 44.5mm 10 611-062| M12-1.50 x 14mm 10
610-320| M12-1.25 x 41.5mm 10 611-063 | M12-1.50 x 23mm 10
610-327 | M14-1.50 x 45.5mm 10 611-064 | M12-1.25 x 16mm 10 | Assortment SKU Count | 57 |
610-332| M14-1.50 x 54.5mm 10 611-065| M12-1.25 x 16mm 10 -
610-340 | M12-1.50 x 42mm 10 611-066 | M12-1.50 x 16mm 10 | Assortment Cabinet Count | 1 |
610-362 | M12-1.50 x 34mm 10 611-071| 1/2"-20 x 1-15/32" 10 -
610-365| M12-1.50 x 51.5mm 10 611-072| M12-1.50 x 18mm 10 | Assortment Piece Count | 615 |

28




Dealer-Pake Assortments

025-070 DEALER-PAK° STANDARD FASTENERS, GRADE 8 COARSE NEW?!
* Popular assortment of Grade 8 fasteners consisting of cap screws, hex nuts,
flat and spring lock washers. Q O o /l*
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw Hex Head Cap Screw (continued) Hex Nut (continued)
860-005 | 1/4"-20 x 1/2" 47 860-225 | 3/8"-16 x 2-1/2" 8 865-013 | 7/16"-14 14
860-007 | 1/4"-20 x 3/4" 37 860-230 | 3/8"-16 x 3" 7 865-014 | 1/2"-13 13
860-010| 1/4"-20 x 1" 32 860-310| 7/16"-14 x 1" 10 865-016 | 5/8"-11 7
860-012 | 1/4"-20 x 1-1/4" 28 860-312| 7/16"-14 x 1-1/4" 9 Flat Washer
860-015| 1/4"-20 x 1-1/2" 26 860-315| 7/16"-14 x 1-1/2" 8 868-010 | 1/4" 40
860-020 | 1/4"-20 x 2" 20 860-317 | 7/16"-14 x 1-3/4" 7 868-011 | 5/16" 31
860-025 | 1/4"-20 x 2-1/2" 16 860-320 | 7/16"-14 x 2" 7t 868-012 | 3/8" 31
860-030| 1/4"-20 x 3" 13 860-325| 7/16"-14 x 2-1/2" 6 868-013 | 7/16" 28
860-107 | 5/16"-18 x 3/4" 25 860-330 | 7/16"-14 x 3" 5 868-014| 1/2" 20
860-110| 5/16"-18 x 1" 22 860-410 1/2"-13 x 1" 8 868-016 | 5/8" 11
860-112| 5/16"-18 x 1-1/4" 19 860-412| 1/2"-13 x 1-1/4" 7 Split Lock Washer
860-115| 5/16"-18 x 1-1/2" 17 860-415| 1/2"-13 x 1-1/2" 6 870-010| 1/4" 125
860-117 | 5/16"-18 x 1-3/4" 15 860-417 | 1/2"-13 x 1-3/4" 6 870-011 | 5/16" 87
860-120| 5/16"-18 x 2" 14 860-420 | 1/2"-13 x 2" 9 870-012 | 3/8" 68
860-125 | 5/16"-18 x 2-1/2" 11 860-425| 1/2"-13 x 2-1/2" 4 870-013 | 7/16" 42
860-130 | 5/16"-18 x 3" 8 860-430| 1/2"-13 x 3" 4 870-014 | 1/2" 31
860-207 | 3/8"-16 x 3/4" 17 860-615 | 5/8"-11 x 1-1/2" 4 870-016 | 5/8" 14
860-210 | 3/8"-16 x 1" 16 gggggﬂ 5783"-H X 5“1/2 g
860-212 | 3/8"-16 x 1-1/4" 14 -625| 5/8"-11 x 2-1/2"
860-215 | 3/8"-16 x 1-1/2" 12 Hex Nut [ Assortment SKU Count | 60|
860-217 | 3/8"-16 x 1-3/4" 11 865-010| 1/4"-20 44 | Assortment Cabinet Count | 1 |
860-220 | 3/8"-16 x 2" 10 865-011 | 5/16"-18 36
860-222 | 3/8"-16 x 2-1/4" 9 865-012| 3/8"-16 28 | Assortment Piece Count | 1226 |
025-075 DEALER-PAK® FASTENERS, METRIC CLASS 8.8 m Q Q o
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw Hex Head Cap Screw (continued) Hex Nut Tcont/'nued)
875-016 | M4-0.7 x 16mm 33 875-435| M8-1.25 x 35mm 12 878-508 | M8-1.25 | 6
875-025| M4-0.7 x 25mm 22 875-440 | M8-1.25 x 40mm 10 Flat Washer
875-112| M5-0.8 x 12mm 30 875-445| M8-1.25 x 45mm 9 879-204 | M4 150
875-120 | M5-0.8 x 20mm 26 875-450 | M8-1.25 x 50mm 9 879-205| M5 125
875-125| M5-0.8 x 25mm 24 875-460 | M8-1.25 x 60mm 8 879-206 | M6 100
875-210 | M6-1.0 x 10mm 28 875-470 | M8-1.25 x 70mm il 879-207 | M7 85
875-212| M6-1.0 x 12mm 28 875-520 | M10-1.50 x 20mm 8 879-208 | M8 70
875-216 | M6-1.0 x 16mm 26 875-525 | M10-1.50 x 25mm 8 879-210 | M10 50
875-220 | M6-1.0 x 20mm 22 875-530 | M10-1.50 x 30mm 8 879-212| M12 30 ()
875-225| M6-1.0 x 25mm 20 875-540 | M10-1.50 x 40mm {/ Split Lock Washer o
875-230 | M6-1.0 x 30mm 20 875-550 | M10-1.50 x 50mm 6 879-004 | M4 150 o
875-240 | M6-1.0 x 40mm 18 875-570 | M10-1.50 x 70mm 3 879-005 | M5 125 ‘.T
875-245| M6-1.0 x 45mm 18 875-630 | M12-1.75 x 30mm 4 879-006 | M6 95 -
875-250 | M6-1.0 x 50mm 16 875-650 | M12-1.75 x 50mm 3 879-007 | M7 80 ."
875-260 | M6-1.0 x 60mm 12 Hex Nut 879-008 | M8 65 )
875-320| M7-1.0 x 20mm 14 878-004 | M4-0.7 110 879-010| M10 50 _~
875-330 | M7-1.0 x 30mm 12 878-005| M5-0.8 90 879-012| M12 40 ®
875-350 | M7-1.0 x 50mm 10 878-006 | M6-1.00 70 »
875-412| M8-1.25 x 12mm 18 878-007 | M7-1.00 55 “
875-416 | M8-1.25 x 16mm 16 §78-008| M8-1.25 40 | Assortment SKU Court | 60| a
875-420 | M8-1.25 x 20mm 16 878-010| M10-1.50 25 [ Assortment Cabinet Count | 1|  [B=4
875-425| M8-1.25 x 25mm 14 878-012| M12-1.75 16
875-430 | M8-1.25 x 30mm 13 878-506 | M6-1.00 6 | Assortment Piece Count | 2191 | ‘Eb
=
7

025-085 DEALER-PAK® FASTENERS, METRIC CLASS 8.8 - FINE PITCH Q O
* Popular assortment of metric 8.8 standard, fine & extra fine pitch fasteners that includes cap screws, JIS cap screws, '

hex nuts, nylon ring insert lock nuts, wing nuts, flat, split lock and wave spring washers.

Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw Hex Head Cap Screw (continued) Hex Head Cap Screw (continued)
875-210 | M6-1.0 x 10mm 28 875-225 | M6-1.0 x 25mm 20 875-420 | M8-1.25 x 20mm 16
875-212 | M6-1.0 x 12mm 28 875-230 | M6-1.0 x 30mm 20 875-425 | M8-1.25 x 25mm 14
875-216 | M6-1.0 x 16mm 26 875-240 | M6-1.0 x 40mm 18 875-430 | M8-1.25 x 30mm 13
875-220 | M6-1.0 x 20mm 22 875-416 | M8-1.25 x 16mm 16 (continued)

29



Dealer-Pake® Assortments

025-085 DEALER-PAK® FASTENERS, METRIC CLASS 8.8 - FINE PITCH (continued)

Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw (continued) Fine Hex Head Cap Screw Wing Nut
875-435 | M8-1.25 x 35mm 12 876-430 | M8-1.00 x 30mm 10 878-508 | M8-1.25 | 6
875-440 | M8-1.25 x 40mm 10 876-630 | M12-1.50 x 30mm 4 Flat Washer
875-445 | M8-1.25 x 45mm 9 876-640 | M12-1.50 x 40mm 4 879-206 | M6 100
875-450 | M8-1.25 x 50mm 9 Extra Fine Hex Head Cap Screw 879-208 | M8 70
875-460 | M8-1.25 x 60mm 8 876-540 | M10-1.00 x 40mm 6 879-210 | M10 50
875-470 | M8-1.25 x 70mm 7 876-625 | M12-1.25 x 25mm 4 879-212 | M12 30
875-520 | M10-1.50 x 20mm 8 876-635 | M12-1.25 x 35mm 4 Split Lock Washer
875-525 | M10-1.50 x 25mm 8 876-650 | M12-1.25 x 50mm 3 879-006 | M6 95
875-530 | M10-1.50 x 30mm 8 Hex Nut 879-008 | M8 65
875-540 | M10-1.50 x 40mm 7 878-006 | M6-1.00 70 879-010 | M10 50
875-550 | MT0-1.50 x 50mm 6 878-008 | M8-1.25 40 879-012 | M12 40
875-570 | M10-1.50 x 70mm 3 878-010 | M10-1.50 25 Wave Spring Washer
875-630 | M12-1.75 x 30mm 4 878-012 | M12-1.75 16 879-106 | M6 85
875-650 | M12-1.75 x 50mm 3 Fine Hex Nut 879-108 50
Fine JIS Hex Head Cap Screw 878-108 | M8-1.00 25
877-520 | M10-1.25 x 20mm 7 878-210 | M10-1.25 16
877-525 | M10-1.25 x 25mm 7 878-212 | M12-1.50 11
877-530 | M10-1.25 x 30mm 6 Extra Fine Hex Nut
877-535 | M10-1.25 x 35mm 6 878-110 | M10-1.00 16 L Assortment SKU Gount | 60|
877-540 | M10-1.25 x 40mm 6 878-112 | M12-1.25 1 | Assortment Cabinet Count | 1|
877-550 | M10-1.25 x 50mm 5 Nylon Ring Insert Hex Lock Nut
877-560 | M10-1.25 x 60mm 4 878-308 | M8-1.25 | | Assortment Piece Count | 1286 |

025-150 DEALER-PAK® STANDARD FASTENERS, GRADE 5 M Q @ o /*
* Popular assortment of Grade 5 fasteners consisting of cap screws, hex nuts, flat and spring lock

washers, cotter pins, battery hardware, license plate hardware, stove bolts w/nuts, sheet metal screws and grease fittings. NEW!?
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw Hex Head Cap Screw (continued) Split Lock Washer (continued)
803-005 | 1/4"-20 x 1/2" 50 807-215 | 3/8"-24 x 1-1/2" 16 818-012 | 3/8" 137
803-010 | 1/4"-20 x 1" 45 807-220 | 3/8"-24 x 2" 13 Fender Washer
803-015 | 1/4"-20 x 1-1/2" 32 807-225 | 3/8"-24 x 2-1/2" 11 367-028 | 1/4" 50
803-020 | 1/4"-20 x 2" 24 Hex Nut 367-029 | 5/16" 50
803-107 | 5/16"-18 x 3/4" 31 810-010 | 1/4"-20 95 367-030 | 3/8" 50
803-110 | 5/16"-18 x 1" 27 810-011 | 5/16"-18 62 367-128 | 1/4" 50
803-115 | 5/16"-18 x 1-1/2" 21 810-012 | 3/8"-16 45 367-130 | 3/8" 50
803-120 | 5/16"-18 x 2" 17 814-010 | 1/4"-28 95 Battery Hardware
803-125 | 5/16"-18 x 2-1/2" 14 814-011 | 5/16"-24 62 844-003 | 5/16" -18 x 1-1/4" 12
803-130 | 5/16"-18 x 3" 12 814-012 | 3/8"-24 45 844-004 | 3/8"x 3/8" Side Terminal Bolt 4
803-210 | 3/8"-16x 1" 20 849-004 | 3/8"-16 x 5/16" Brass 13 Cotter Pin
803-215 | 3/8"-16 x 1-1/2" 16 Nylon Insert Ring Hex Lock Nut 800-210 | 3/32"x 1" 300
wv 803-220 | 3/8"-16x 2" 13 250-010 | 1/4"-20 50 800-415 | 1/8" x 1-1/2" 140
'E 803-225 | 3/8"-16 x 2-1/2" 11 250-011 | 5/16"-18 50 800-420 | 1/8"x 2" 120
o 803-230 | 3/8"-16x 3" 9 250-012 | 3/8"-16 50 800-520 | 5/32"x 2" 70
E 807-005 | 1/4"-28 x 1/2" 50 251-010 | 1/4"-28 50 License Plate Fastener
.: 807-010 | 1/4"-28 x 1" 45 251-011 | 5/16"-24 50 848-010 | 1/4"(14) x 3/4" [ 20
3 807-015 | 1/4"-28 x 1-1/2" 32 251-012 | 3/8"-24 50 Hex Stud Nut
“ 807-020 | 1/4"-28 x 2" 24 Flat Washer 849-003 | 3/8"-24 x 5/16" Brass | 12
& 807-107 5;1 6"-24 x 3/4" 31 825-010 1;4" 187
807-110 | 5/16"-24 x 1" 27 825-011 | 5/16" 167
Y 807-115 | 571624 x 1-1/2" 21 825-012 | 3/8" 110 [ Assortment SKU Count | 60|
SN 807-120 | 5/16"-24 x 2" 17 Split Lock Washer | Assortment Cabinet Count | 1|
S 807-130 | 5/16"-24 x 3" 12 818-010 | 1/4" 240 -
DO 807210 | 3/8'-24 x 1" 20 818-011 | 5/16" 175 | Assortment Piece Count | 3322 |
=
2
-l 025-160 DEALER-PAK® STANDARD FASTENERS, GRADE 5 - POPULAR
Q B Popular assortment of Grade 5 fasteners consisting of cap screws, hex nuts, flat and spring lock washers, # Q 0 O /g

cotter pins, battery hardware, license plate hardware, stove bolts w/nuts, sheet metal screws and grease fittings.

NEW!
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw Hex Head Cap Screw (continued) Hex Head Cap Screw (continued)
803-005 | 1/4"-20 x 1/2" 50 803-025 | 1/4"-20 x 2-1/2" 18 803-120 | 5/16"-18 x 2" 17
803-007 | 1/4"-20 x 3/4" 50 803-107 | 5/16"-18 x 3/4" 31 803-125 | 5/16"-18 x 2-1/2" 14
803-010 | 1/4"-20 x 1" 45 803-110 | 5/16"-18 x 1 27 803-130 | 5/16"-18 x 3" 12
803-015 | 1/4"-20 x 1-1/2" 32 803-112 | 5/16"-18-1-1/4" 23 803-207 | 3/8"-16 x 3/4" 22
803-020 | 1/4"-20 x 2" 24 803-115 | 5/16"-18 x 1-1/2" 21 803-210 | 3/8"-16x 1" 20

30 (continued)




025-160 DEALER-PAK® STANDARD FASTENERS, GRADE 5 - POPULAR (convinucd)

Assort./

Part# Size Box Qty.
Hex Head Cap Screw (continued)

803-212 |3/8"-16 x 1-1/4" 18
803-215 |3/8"-16 x 1-1/2" 16
803-217 |3/8"-16 x 1-3/4" 14
803-220 |3/8"-16x 2" 13
803-225 |3/8"-16 x 2-1/2" 11
803-230 [3/8"-16x 3" 9
803-310 |7/16"-14 x 1" 13
803-312 |7/16"-14 x 1-1/4" 11
803-315 |7/16"-14-1-1/2" 10
803-320 |7/16"-14-2" 8
803-325 |7/16"-14-2-1/2" 7
803-410 |1/2"-13-1" 10
803-415 |1/2"-13-1-1/2" 9
803-420 |1/2"-13-2" 7
803-425 |1/2"-13-2-1/2" 6
Hex Nut

810-010 |1/4"-20 95
810-011 |5/16"-18 62
810-012 13/8"-16 45

Part#

Size

Hex Nut (continued)

810-013
810-014

7/16"-14
1/2"-13

Nylon Ring Insert Hex Lock Nut

250-012
250-010
250-011
250-014
250-013
Flat Wash
825-010
825-011
825-012
825-013
825-014
Split Lock
818-010
818-011
818-012

3/8"-16
1/4"-20
5/16"-18
1/2"-13
7/16"-14
er

1/ n
5/16"
3/8"
7/16"
1/2"
Washer
1/4"
5/16"
3/8"

818-013

7/16"

Assort./
Box Qty.

Assort./

Part# Size Box Qty.

Split Lock Washer (continued)

818-014 [1/2" 70

Fender Washer

367-028 |1/4" 50

367-130 |3/8" 50

367-029 |5/16" 50

367-128 |1/4" 50

Battery Hardware

844-003 |5/16"x 1" | 12

844-004 |3/8"x 3/8" Side Terminal Bolt| 4

Cotter Pin

800-215 |3/32"x 1-1/2" 200

800-415 |1/8"x 1-1/2" 140

800-420 |1/8"x 2" 120

800-520 5/32"x 2" 70
| Assortment SKU Count | 60 |

| Assortment Cabinet Count |

1

| Assortment Piece Count | 3133

025-320 DEALER-PAK® FASTENERS, STANDARD GRADE 5 - FULL

* Popular assortment of Grade 5 fasteners consisting of cap screws, hex nuts, flat and spring

lock washers, cotter pins, battery hardware, license plate hardware, stove bolts w/nuts, sheet metal screws and grease fittings.
Assort./

Assort./

el O00.

Assort./

Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw Hex Head Cap Screw (continued) Nylon Ring Insert Hex Lock Nut (continued)
803-005 | 1/4"-20 x 1/2" 803-435 | 1/2"-13 x 3-1/2" 8 250-011 | 5/16"-18 50
803-007 | 1/4"-20 x 3/4" 50 803-440 | 1/2"-13 x 4" 7 251-010 | 1/4"-20 50
803-010 | 1/4"-20 x 1" 45 803-615 | 5/8"-11 x 1-1/2" 9 251-012 | 3/8"-24 50
803-012 | 1/4"-20 x 1-1/4" 37 803-620 | 5/8"-11 x 2" 8 251-011 | 5/16"-24 50
803-015 | 1/4"-20 x 1-1/2" 32 803-625 | 5/8"-11 x 2-1/2" 7 250-014 | 1/2"-13 50
803-020 | 1/4"-20 x 2" 24 803-630 | 5/8"-11 x 3" 6 250-013 [ 7/16"-14 50
803-025 | 1/4"-20 x 2-1/2" 18 803-640 | 5/8"-11 x 4" 5) Flat Washer

803-030 | 1/4"-20 x 3" 14 807-005 | 1/4"-28 x 1/2" 50 825-010 | 1/4" 187
803-107 | 5/16"-18 x 3/4" 31 807-007 | 1/4"-28 x 3/4" 50 825-011 | 5/16" 167
803-110 | 5/16"-18 x 1" 27 807-010 | 1/4"-28 x 1" 45 825-012 | 3/8" 110
803-112 | 5/16™-18 x 1-1/4" 23 807-012 | 1/4™-28 x 1-1/4" B/ 825-013 | 7/16" 95
803-115 | 5/16"-18 x 1-1/2" 21 807-015 | 1/4"-28 x 1-1/2" 32 825-014 | 1/2" 50
803-120 | 5/16"-18 x 2" 17 807-020 | 1/4"-28 x 2" 24 "825-016 | 5/8" 60
803-125 | 5/16"-18 x 2-1/2" 14 807-025 | 1/4"-28 x 2-1/2" 18 Split Lock Washer

803-130 | 5/16"-18 x 3" 12 807-030 | 1/4"-28 x 3" 14 818-010 | 1/4" 240
803-135 | 5/16"-18 x 3-1/2" 18 807-107 | 5/16™-24 x 3/4" 31 818-011 | 5/16" 175
803-140 | 5/16"-18 x 4" 13 807-110 | 5/16"-24 x 1" 27 818-012 | 3/8" 137
803-207 | 3/8"-16 x 3/4" 22 807-112 | 5/16"-24 x 1-1/4" 23 818-013 | 7/16" 95
803-210 | 3/8"-16 x 1" 20 807-115 | 5/16"-24 x 1-1/2" 21 818-014 | 1/2" 70
803-212 | 3/8"-16 x 1-1/4" 18 807-120 | 5/16"-24 x 2" 17 818-016 | 5/8" 80
803-215 | 3/8"-16 x 1-1/2" 16 807-125 | 5/16"-24 x 2-1/2" 14 Fender Washer

803-217 | 3/8"-16 x 1-3/4" 14 807-130 | 5/16"-24 x 3" 12 367-028 | 1/4" 50
803-220 | 3/8"-16 x 2" 13 807-135 | 5/16"-24 x 3-1/2" 18 367-130 | 3/8" 50
803-225 | 3/8"-16 x 2-1/2" 11 807-140 | 5/16"-24 x 4" 13 367-029 | 5/16" 50
803-230 | 3/8"-16 x 3" 9 807-207 | 3/8"-24 x 3/4" 22 367-128 | 1/4" 50

-235 | 3/8™-16 x 3-1/2" 14 807-210 | 3/8™-24 x 1" 20 367-030 | 3/8" 50

803-240 | 3/8"-16 x 4" 12 807-212 | 3/8"-24-1-1/4" 18 Battery Hardware

803-245 | 3/8"-16 x 4-1/2" 8 807-215 | 3/8"-24 x 1-1/2" 16 844-003 | 5/16" x 1" 12
803-250 | 3/8"-16 x 5" 8 807-217 | 3/8"-24 x 1-3/4" 14 844-004 | 3/8" x 3/8" 4
803-310 | 7/16"-14 x 1" 13 807-220 | 3/8"-24 x 2" 13 Cotter Pin
803-312 | 7/16™-14 x 1-1/4" 11 807-225 | 3/8™-24 x 2-1/2" 11 800-210 | 3/32"x 1" 300
803-315 | 7/16"-14 x 1-1/2" 10 807-230 | 3/8"-24 x 3" 9 800-415 | 1/8"x 1-1/2" 140
803-317 | 7/16"-14 x 1-3/4" 9 Hex Nut 800-420 | 1/8"x 2" 120
803-320 | 7/16"-14 x 2" 8 810-010 | 1/4"-20 95 800-520 | 5/32" x 2" 70
803-325 | 7/16"-14 x 2-1/2" 7 810-011 | 5/16"-18 62 800-620 | 3/16" x 2" 65
803-330 | 7/16"-14 x 3" 6 810-012 | 3/8"-16 45 License Plate Fastener

803-335 | 7/16"-14 x 3-1/2" 10 810-013 | 7/16"-14 24 848-002 | 1/4"-20 x 1/2" 35
803-340 | 7/16"-14 x 4" 8 810-014 | 1/2"-13 17 848-010 | 1/4"-14 x 3/4" 20
803-410 | 1/2"-13 x 1" 10 810-016 | 5/8"-11 17

803-412 | 1/2"-13 x 1-1/4" 9 814-010 | 1/4"-28 95
803-415 | 1/2-13 x 1-1/2" g 814-011 | 5/16"-24 62 | Assortment SKU Count | 120 |
803-417 | 1/2"-13 x 1-3/4" 8 814-012 | 3/8"-24 45 -

803-420 | 1/2-13x 2* 7 Nylon Ring Insert Hex Lock Nut | Assortment Cabinet Count | 2 |
803-425 | 1/2"-13 x 2-1/2" 6 250-012 | 3/8"-16 50 -

803-430 1/2"_1 3x 3" 5 250-010 1/4"_20 50 | Assortment Piece Count | 4710 |

£
oy
Iy
p
£
®
.
(7]
8
3
3
=3
@

31



Dealer-Pake Assortments

025-350 DEALER-PAK® FASTENERS, METRIC CLASS 8.8 - FINE PITCH ﬂ O =

* Popular assortment of metric 8.8 standard, fine & exira fine pitch fasteners that includes cap screws, JIS cap screws,
hex nuts, nylon ring insert lock nuts, wing nuts, flat, split lock and wave spring washers.

Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Hex Head Cap Screw Hex Head Cap Screw (continued) Extra Fine Cap Screw (continued)
875-016 | M4-0.7 x 16mm 33 875-597 | M10-1.50 x 120mm 6 876-650 | M12-1.25 x 50mm |
875-110 | M5-0.8 x 10mm 32 875-630 | M12-1.75 x 30mm 4 Hex Nut
875-116 | M5-0.8 x 16mm 28 875-635 | M12-1.75 x 35mm 3 878-005 | M5-0.8 90
875-120 | M5-0.8 x 20mm 26 875-640 | M12-1.75 x 40mm 8 878-006 | M6-1.0 70
875-210 | M6-1.0 x 10mm 28 875-650 | M12-1.75 x 50mm 3 878-007 | M7-1.0 55
875-212 [ M6-1.0 x 12mm 28 875-660 | M12-1.75 x 60mm 3 878-008 | M8-1.25 40
875-216 | M6-1.0 x 16mm 26 875-670 | M12-1.75 x 70mm 8 878-010 | M10-1.50 25
875-220 | M6-1.0 x 20mm 22 875-680 | M12-1.75 x 80mm 4 878-012 [ M12-1.75 16
875-225 | M6-1.0 x 25mm 20 875-690 | M12-1.75 x 90mm 4 Fine Hex Nut
875-230 | M6-1.0 x 30mm 20 875-692 | M12-1.75 x 100mm 4 878-108 | M8-1.00 25
875-235 [ M6-1.0 x 35mm 18 875-695 | M12-1.75 x T10mm 4 878-210 | M10-1.25 16
875-240 | M6-1.0 x 40mm 18 875-697 | M12-1.75 x 120mm 4 878-212 | M12-1.50 11
875-245 | M6-1.0 x 45mm 18 876-420 | M8-1.0 x 20mm 12 Extra Fine Hex Nut
875-250 | M6-1.0 x 50mm 16 876-440 | M8-1.0 x 40mm 8 878-110| M10-1.00 | 16
875-260 | M6-1.0 x 60mm 12 876-450 | M8-1.0 x 50mm 6 878-112 | M12-1.25 11
875-270 [ M6-1.0 x 70mm 9 876-460 | M8-1.0 x 60mm 5 Wing Nut
875-280 | M6-1.0 x 80mm 16 876-470 | M8-1.0 x 70mm 4 878-506 | M6-1.0 | 6
875-320 | M7-1.0 x 20mm 14 876-480 | M8-1.0 x 80mm 8 878-508 | M8-1.25 6
875-350 | M7-1.0 x 50mm 10 876-520 | M10-1.0 x 20mm 7 Nylon Ring Insert Hex Lock Nut
875-416 | M8-1.25 x 16mm 16 876-525 | M10-1.0 x 25mm 6 878-306 | M6-1.00 20
875-420 [ M8-1.25 x 20mm 16 876-530 | M10-1.0 x 30mm 6 878-308 | M8-1.25 16
875-425 | M8-1.25 x 25mm 14 876-550 | M10-1.0 x 50mm 5 878-310 | M10-1.50 12
875-430 | M8-1.25 x 30mm 13 876-570 | M10-1.25 x 70mm 4 Flat Washer
875-435 | M8-1.25 x 35mm 12 876-580 | M10-1.25 x 80mm 6 879-205 | M5 125
875-440 | M8-1.25 x 40mm 10 876-590 | M10-1.25 x 90mm 6 879-206 | M6 100
875-445 [ M8-1.25 x 45mm 9 876-592 | M10-1.25 x T00mm 6 879-207 | M7 85
875-450 | M8-1.25 x 50mm 9 876-620 | M12-1.50 x 20mm 5 Flat Washer
875-460 | M8-1.25 x 60mm 8 876-651 | M12-1.50 x 50mm 3 879-208 | M8 70
875-470 | M8-1.25 x 70mm 7 876-690 | M12-1.50 x 90mm 4 879-210 | M10 50
875-480 | M8-1.25 x 80mm 12 876-692 | M12-1.50 x 100mm 4 879-212 | M12 30
875-490 | M8-1.25 x 90mm 10 Fine Cap Screw Split Lock Washer
875-492 | M8-1.25 x 100mm 10 876-430 | M8-1.00 x 30mm 10 879-005 | M5 125
875-495 | M8-1.25 x 110mm 8 876-630 | M12-1.50 x 30mm 4 879-006 | M6 95
875-497 | M8-1.25 x 120mm 8 876-640 | M12-1.50 x 40mm 4 879-007 | M7 80
875-520 | M10-1.50 x 20mm 8 Fine JIS Cap Screw 879-008 | M8 65
875-525 [ M10-1.50 x 25mm 8 877-520 | M10-1.25 x 20mm 7 879-010 | M10 50
875-530 | M10-1.50 x 30mm 8 877-525 | M10-1.25 x 25mm 7 879-012[ M12 40
875-540 | M10-1.50 x 40mm 7 877-530 | M10-1.25 x 30mm 6 Wave Spring Washer
875-545 | M10-1.50 x 45mm 6 877-535 | M10-1.25 x 35mm 6 879-106 | M6 85
875-550 | M10-1.50 x 50mm 6 877-540 | M10-1.25 x 40mm 6 879-108 | M8 50
875-560 | M10-1.50 x 60mm 3 877-550 | M10-1.25 x 50mm 5
875-570 | M10-1.50 x 70mm 3 877-56.0 M10-1.25 x 60mm 4 | Assortment SKU Count | 120 |
875-580 | M10-1.50 x 80mm 6 Extra Fine Cap Screw
875-590 | M10-1.50 x 90mm 6 876-540 | M10-1.00 x 40mm 6 | Assortment Cabinet Count | 2|
875-592 | M10-1.50 x 100mm 6 876-625 | M12-1.25 x 25mm 4 -
875-595 | M10-1.50 x 110mm 6 876-635 | M12-1.25 x 35mm 4 | Assortment Piece Count | 2340 |

025-555 DEALER PAK> MAINTENANCE HARDWARE

* Popular assortment of fasteners consisting of dlips, pins, wing nuts, washers,
woodruff keys, vacuum caps, grease fittings and speed nuts.

e "6 YO0 NEW!

2
s
o
£
]
a
<
x
S
%
L3
5
@
Q

Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Throttle Ball Joint Cotter Pin (continued) Wing Nut
115-002 | 1/4"-28 | 5 135-210| 3/32" x 1" 100 255-010| 1/4"-20 (Coarse) | 50
115-003 | 5/16"-24 5 135-215| 3/32" x 1-1/2" 100 255-011| 5/16"-18 (Coarse) 50
Linkage Clip 135-220| 3/32"x 2" 100 Tooth Lock Washer
118-085 | 1/4" | 25 135-410| 1/8"x 1" 100 292-114 | 1/4" (External) 100
Clevis Pin 135-412| 1/8" x 1-1/4" 100 292-118 | 5/16" (External) 100
120-002 | 5/16" x 1" | 10 135-415| 1/8"x 1-1/2" 100 292-120 | 3/8" (External) 100
120-040 | 1/4"x 2" 10 135-417| 1/8" x 1-3/4" 100 293-220 | 3/8" (Internal) 100
Hitch Pin 135-420| 1/8"x 2" 100 Grease Fitting
121-003 | 7/64" x 2-1/4" | 25 135-510| 5/32" x 1" 100 485-401 | 1/8" (Straight) 10
121-005 | 5/32" x 2-15/16" 10 135-515| 5/32" x 1-1/2" 100 485-701 | 1/4"-28 (Short Straight) 25
Cotter Pin 135-520] 5/32" x 2" 100 485-705 | 1/4"-28 (Short 90°) 25
135-110| 1/16" x 1" 100 135-615| 3/16" x 1-1/2" 100
135-115| 1/16" x 1-1/2" 100 135-620| 3/16"x 2" 100 (continued)

32




Dealer-Pake® Assortments

025-555 DEALER PAK> MAINTENANCE HARDWARE (continued)

Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size
Woodruff Key E-Clip (continued) Speed Nut (continued)
595-061 | 3/16" x 47/64" | 25 633-031 | 5/16" | 25 700-525 |5/16"-18 25
Brass Hex Stud Nut Vacuum Cap 700-526 |5/16"-18 25
680-104 | 3/8-16" x 5/8" | 25 650-002 3/16" (Rubber) | 10
680-003 |3/8"-24 x 5/16" 25 I(§5|IJ-(lBl13h1/4" (Rubber) 10
Roll Pin ilot Bushing
623-011 | 1/8" x 3/4" | 25 690-014 | 503" x 1.093'x.750" | 5 [ Assortment SKU Court | 45|
623-017 | 3/16" x 1" 25 Speed Nut | Assortment Cabinet Count | 1 |
E-Clip 700-523 | 1/4"-20 ‘ 25 =
633- 025 [ 174 | 25 700-524 | 1/4"-20 25 | Assortment Piece Count | 2450 |

DEALER-PAK® - EMPTY HARDWARE OPTIONS

PART# Description

001-560-C  Top of Dealer-Pak Cabinet
001-555-C  Dealer-Pak 60-Unit Cabinet
001-565-C  Bottom of Dealer-Pak Cabinet
002-565-C  1/4" USS Nuts

Installer-Pake Assoriments

INSTALLER-PAK® ASSORTMENTS

* Focused product mix to service the most common
service dealer repairs.

* Portable or stationery drawer assortment. Keep in frame
or carry fo the job.

* Provides the ability o create a customized product mix to
eliminate lost baytime and money.

* Most assortments include drawers, dividers and labels for set-up.

* Merchandising is available separately for update assortments.
Please see page  for part numbers and descriptions.

SJUSWILIOSSY o )nd-1o|[Dysu]

Stock “X”

I P ® A 0 C & S G for overall

NSTALLER-FAK™ ASSORTMENTS — UVERALL COVERAGE & JTOCKING GU B

Page Drawer| Assortment 75% 85% 95%

Part # | New| # | Description Count | SKU Count
047-092 34 | Installer-Pak® Qil Drain Plug Gaskets 1 32 X
047-191 | x 34 | Installer-Pak® Qil Drain Plugs with Gaskets 1 32 X
047-614 | x 34 | Installer-Pak® Chrome Wheel Nuts 2 27 X | X
047-616 | x 35 | Installer-Pak® Wheel Hardware - Fast (Only Top Movers) 2 36 X | X
047-617 | x 35 | Installer-Pak® Wheel Hardware - Popular (Complete Coverage) 4 103 X
047-676 35-36 | Installer-Pak® Standard Double-Ended Wheel Studs 2 32 X | X
047-679 36 | Installer-Pak® Metric Double-Ended Studs 1 16 X | X

33



-
S
-
=
=3
"
“
<
X
8
(%
=
=
S
“
=

34

Installer-Pake Assortments

047-092 INSTALLER-PAK® OIL DRAIN PLUG GASKETS

* A choice of eight materials to replace original equipment gasket.

* A must have assortment for lube shops.

Part# Size

Assort./
Box Qty.

Aluminum
095-015 | 1/2"D.0., 9/16", M14 | 15
095-143 | M12 25
Copper
095-001 | 1/2",1/2"S.0., M12,

M12 S.0. 25
095-002 | 5/8", M16, M16.4 25
095-003 | 5/8"S.0., 11/16", M18 25
095-004 | 11/16" S.0,, 3/4" 25
095-005 | 7/8", M22 25
095-010 | 1/2'D.0., 1/2" TO,,

M14, M14 S.0. 25
Fiber
097-016 | M12 25
097-017 | M16 25
097-018 | 11/16" S.0., M18 25
097-019 | M20 25
097-020 | 1", M25 25
097-026 | 1/2"D.0., 9/16", M14 25

0000

Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty.
Fiber (continued) Rubber
097-027 | 1/2", M12 S.0. | 25 097-119 | M12 | 10
Nylon Rubber/Metal
097-001 | 1/2", M12, M12 S.0. 25 097-021 | 1/2", M12, M12 S.0. 25
097-002 | 1/2"T.0., 5/8", 097-025 | 1/2'D.0., 1/2"T0,,
M14 S.0., M16 25 9/16", M14 10
097-003 | 5/8"S.0.,11/16", M16.4 25 Metal Crush
097-004 | 11/16" S.0., 3/4", M18 25 095-014 | 1/2", M12 S.0. 25
097-005 | 7/8", M22 25 Synthetic
097-010 | 1/2"S.0.,,1/2"D.0., 097-127 | 1/2", M12, M12 S.0. 25
9/16", M14 25 097-128 | 1/2"D.0., M14 25
097-012 | 3/4"S.0., 13/16", M20 25
097-022 | 1/2", M12, M12 S.0. 10
Nylon Ribbed
097-116 | M12 25 | Assortment SKU Count | 32
097-117 | 1/2", M12 S.0. 25
097-118 | 1/2"S.0., 1/2"D.0,, | Assortment Drawer Count | 1
1210, M14 2 | Assortment Piece Count | 745

047-191 INSTALLER-PAK® OIL DRAIN PLUGS W/GASKETS

* 12 different thread sizes to cover most import and dometsic vehicles.
* Includes problem solving oversize, piggyback and universal rubber drain plug.
* Features latest OEM styles: molded gasket and inset gasket drain plugs.

.

* A must have assortment for lube shops. NEWI
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Drain Plug - Standard 090-034 | M12-1.75 5 0il Drain Plug - Magnetic w/Gasket (continued)
090-005 | 1/2"-20 5 090-049 | M12-1.25 5 090-043 | 1/2"-20 5
090-033 | M14-1.50 5 090-052 | 1/2"-20 5 090-091 | M12-1.75 Inset Gasket 5
090-038 | M12-1.25 5 090-053 | M14-1.50 5 Pipe Plug
090-042 | M18-1.50 5 090-058 | 1/2"'-20 Molded Gasket 5 090-019 | 3/8"-18 5
090-066 | M12-1.75 5 090-059 | M12-1.75 Molded Gasket 5 090-022 | 1/2"-14 5
090-075 | M14-1.50 5 090-060 | M12-1.75 Inset Gasket 5 090-026 | 1/4"-18 5
090-162 | M14-1.50 (Inset Gasket) 5 090-079 | M12-1.75 Inset Gasket 5 090-028 | 3/8"-18 5
0il Drain Plug - Oversize w/Gasket 090-098 | M14-1.50 Molded Gasket o) 090-046 * 1/8"-27 5
090-015 | 1/2"-20 S.0. 5 090-115 | M14-1.50 5
090-031 | 1/2"-20 D.0. 5 090-156 | M12-1.75 Inset Gasket 5 | Assortment SKU Count| 32
090-032 | 1/2"-20 T.0. 5 090-161 | M14-1.50 Inset Gasket 5
090-035 | 1/2"-20 S.O(.]Piggyback 5 ggnnlr)gig ngi qwagnetic w/Gasket | Assortment Drawer Count | 1
090-082 | M14-1.5 S.0. 5 - -1.5 :
0il Drain Plug - Pilot Point w/Gasket | [ Assortment Piece Count | 160
047-614 INSTALLER-PAK® CHROME WHEEL NUTS NEW!
* Includes 6 most common nut styles.
* A must have assortment for fire and wheel shops.
Assort./ Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty. Part# Size Box Qty.
Wheel Nut Acorn Wheel Nut Duplex Acorn (continued) 611-156 | 1/2"-20, Duplex, 1" Shank 10
611-097 | 7/16"-20 10 611-170 | 9/16"-18 611-209 | 1/2"-20, Short Shank 10
611-098 | 1/2"-20 10 611-187 | M14-1.50 10 Wheel Nut Cragar SST MAG
611-099 | M12-1.25 10 611-204 | 1/2"-20 10 611-083 | 7/16"-20 10
611-100 | M12-1.50 10 Wheel Nut MAG 611-157 | 1/2"-20 10
611-185 | M14-1.50, 2PC 10 611-101 | 7/16"-20 10 611-184 | M12-1.50 10
Wheel Nut Acorn Bulge Seat 611-102 | 1/2"-20, Short Shank 10
611-082 | 7/16"-20 10 611-103 | M12-1.25, Short Shank 10
611-153 | 1/2"-20 10 6}”34 IVH%JZ.SO, Short Shank 10
611-186 | M14-1.50 10 611-105 | 7/16"-20 0
611-174 | M12-1.25 10 611-106 | 1/2"-20 10 [ Assortment SKU Count | 27
611'182 M12-1 50 10 611'107 M12-1 25 10 | Assortment Drawer Count | 2
Wheel Nut Duplex Acorn 611-108 | M12-1.50 10
611-155 | 1/2'-20 10 | Assortment Piece Count | 270




047-616 & 047-617 INSTALLER-PAK® WHEEL HARDWARE

* A must have assortment for tire and wheel shops.

Asst#

Coverage 75% 95%
Part # | Size

Wheel Stud

610-103 | 1/2"-20 x 1-19/32" 10
610-109 | 1/2"-20 x 1-5/8" 10
610-138 | 1/2"-20 x 1-17/32" 10
610-159 | 1/2"-20 x 1-5/8" 10
610-174 | 1/2"-20 x 1-3/4" 10
610-176 | 1/2"-20 x 2" 10
610-179 | 7/16"-20 x 1-3/4" 10
610-186 | 7/16"-20 x 1-1/2" 10 10
610-194 | 9/16"-18 x 3-17/32" 10
610-219 | 1/2"-20 x 2" 10
610-228 | 9/16"-18 x 2-25/32" 10
610-235 | 1/2"-20 x 1-21/32" 10
610-240 | M12-1.25 x 32mm 10
610-244 | M12-1.50 x 37mm 10 10
610-253 | M12-1.50 x 38.5mm 10
610-254 | M12-1.50 x 41.5mm 10 10
610-260 | 1/2"-20 x 1-13/16" 10 10
610-262 | M12-1.50 x 37.5mm 10
610-266 | M12-1.50 x 40mm 10 10
610-269 | M12-1.50 x 36mm 10 10
610-275 | M12-1.50 x 41.5mm 10
610-278 | 9/16"-18 x 2-5/8" 10
610-285 | M12-1.50 x 41mm 10 10
610-287 | 1/2"-20 x 1-29/32" 10
610-290 | 1/2"-20 x 2-3/16" 10
610-303 | 9/16"-18 x 3-9/32" 10
610-312 | M12-1.50 x 44.5mm 10 10
610-320 | M12-1.25 x 41.5mm 10
610-324 | M12-1.50 x 34.5mm 10
610-325 | M14-1.50 x 49mm 10
610-326 | M14-1.50 x 76mm 10
610-327 | M14-1.50 x 45.5mm 10 10
610-328 | M14-1.50 x 43mm 10
610-329 | M14-1.50 x 43mm 10
610-332 | M14-1.50 x 54.5mm 10 10
610-333 | M14-1.50 x 90.5mm 10
610-336 | M12-1.25 x 37.5mm 10
610-340 | M12-1.50 x 42mm 10 10
610-345 | 1/2"-20 x 1-7/8" 10
610-360 | M12-1.50 x 42mm 10
610-362 | M12-1.50 x 34mm 10
610-364 | 1/2"-20 x 1-15/32" 10
610-365 | M12-1.50 x 51.5mm 10
610-368 | 1/2"-20 x 1-31/32" 10
610-369 | M12-1.50 x 46mm 10 10
610-378 | M12-1.25 x 42mm 10 10
610-379 | 1/2"-20 x 1-15/16" 10
610-384 | M12-1.50 x 44.5mm 10
610-390 | M12-1.75 x 51mm 10
610-391 | 1/2"-20 x 2-3/32" 10
610-416 | M12-1.50 x 52mm 10
610-419 | 9/16"-18 x 19/32" 10
610-424 | M14-2.0 x 73.3mm 10
610-428 | M14-1.50 x 65.4mm 10

Asst#
Coverage 75%  95%
Part # | Size
Wheel Bolt
610-018 | 1/2"-20 x 1" 10
610-025 | 7/16"-20 x 1-5/16" 10
610-395 | 1/2"-20 10
610-410 | M12-1.50 x 46mm 10
610-414 | M12-1.50 x 45mm 10 10
Wheel Nut - Open
611-014 | 7/16"-20 x 9/16" 25 25
611-016 | 1/2"-20 x 5/8" 25 25
611-027 | 1/2"-20 x 9/16" 25 25
611-052 | 9/16"-18 x 3/4" 10 10
611-053 | 9/16"-18 x 21/32", Conical Face | 10 10
611-055 | 5/8"-18 x 21/32" 10
611-061 | 9/16"-18 x 31/32" 10
611-062 | M12-1.50 x 14mm 10 10
611-063 | M12-1.50 x 23mm 10 10
611-064 | M12-1.25 x 16mm 10
611-065 | M12-1.25 x 16mm 10 10
611-066 | M12-1.50 x 16mm 10 10
611-071 | 1/2"-20 x 1-15/32" 10 10
611-072 | M12-1.50 x 18mm 10 10
611-074 | M12-1.50 x 31mm 10 10
611-076 | M12-1.25 x 24mm 10
611-077 | M12-1.50 x 27mm 10
611-084 | M12-1.50 x 36mm 10 10
611-092 | 9/16"-18 x 1" 10
611-093 | 1/2"-20 x 15/16" 10
611-094 | 1/2"-20 x 1-5/8" 10 10
611-098 | 1/2"-20 10 10
611-109 | M12-1.50 x 27.5mm 10 10
611-110 | M14-1.50 x 20.5mm 10 10
611-114 | M12-1.25 x 29mm 10 10
611-115 | M14-1.50 x 28.5mm 10 10
611-117 | M12-1.50 x 32mm 10
611-121 | 1/2"-20 x 5/8" 10
611-122 | 1/2"-20 x 1-5/16" 10 10
611-127 | 9/16"-18 x 1-1/16" 10
611-133 | M12-1.50 x 30mm 10
611-136 | M12-1.50 x 37mm 10
611-137 | M12-1.50 x 40mm 10
611-138 | M12-1.50 x 35mm 10 10
611-141 | M12-1.50 x 26mm 10
611-144 | M12-1.50 x 19.5mm 10
611-149 | M14-1.50 x 25.5mm 10
611-150 | M12-1.50 x 31mm 10 10
611-151 | M12-1.50 x 34mm 10
611-163 | 1/2"-20 x 29/32" 10
611-167 | M12-1.50 x 47mm 10
611-171 | 1/2"-20 x 1-1/4" 10
611-172 | M12-1.75 x 22.5mm 10
611-196 | M14-2.0 x 22.5mm 10
| Assortment SKU Count | 36 | 103
| Assortment Drawer Count | 2 | 4
| Assortment Piece Count | 405 | 1075 |

047-676 INSTALLER-PAK® STANDARD DOUBLE-ENDED STUDS

Part#
Stud
675-001
675-003
675-004

Size

5/16"-24 x 3/4", 5/16"-18 x 1/2", 1-1/2"
3/8"-24 x 1", 3/8"-16 x 5/8", 2"
3/8"-16 x 1", 3/8"-16 x 5/8", 2-1/8"

Part#

Size

Stud (continued)
675-006 | 3/8"-16 x 3/4", 3/8"-16 x 2", 1-1/4", 4"

675-007 | 3/8"-24 x 1", 3/8"-16 x 3/4", 2-3/4"

SHUSUIHIOSSY ) Dd-13]Dysu]




Installer-Pake Assortments

047-676 INSTALLER-PAK® STANDARD DOUBLE-ENDED STUDS (continued)

"E Assort./ Assort./
T Part# Size Box Qty. Part# Size Box Qty.
i Stud (continued) Stud (continued)
': 675-010 | 7/16"-20 x 3/4", 7/16"-14 x 3/4", 2-1/4" 10 675-099 | 3/8"-24 x 2", 3/8"-16 x 5/8", 3" 10
o 675-011| 7/16"-20 x 1-7/8", 7/16"-14 x 5/8", 3-1/4" 10 675-101 | 3/8"-16 x 1-1/8", 3/8"-16 x 5/8", 2" 10
A 675-031 | 1/2"-20 x 1-1/16", 1/2"-13 x 3/4", 2-1/2" 10 675-104 | 7/16"-14 x 15/16", 7/16"-14 x 3/4", 2" 10
& 675-041 | 7/16"-20 x 7/8", 7/16"-14 x 3/4", 2" 10 675-106 | 7/16"-14 x 1-1/4", 7/16"-14 x 3/4", 2-1/2" 10
675-056 | 1/2"-20 x 15/16", 1/2"-13 x 5/8", 2" 10 675-107 | 7/16"-20 x 1-3/8", 7/16"-14 x 3/4", 2-1/2" 10
@ 675-070 | 3/8"-24 x 3/4", 3/8"-16 x 1/2", 1-3/4" 10 675-108 | 7/16"-20 x 1-13/16", 7/16"-14 x 3/4", 3" 10
i 675-082 | 1/2"-20 x 2", 1/2"-13 x 3/4", 3" 10 675-109 | 1/2"-20 x 1", 1/2"-13 x 3/4", 2-1/4" 10
- 675-085 | 1/4"-28 x 1/2", 1/4"-20 x 1/2", 1-1/4" 10 675-111 | 3/8"-16 x 1-7/8", 3/8"-16 x 9/16", 3-1/4" 10
x 675-086 | 1/4"-28 x 3/4", 1/4"-20 x 1/2", 1-1/2" 10 675-115 | 3/8"-16 x 1-1/2", 3/8"-16 x 7/16", 2-7/32" 10
3 675-091 | 5/16"-24 x 5/8", 5/16"-18 x 7/16", 1-1/4" 10 675-116 | 3/8"-16 x 7/16", 3/8"-16 x 1-5/8", 1", 3-5/16" 10
—] 675-092 | 5/16"-24 x 7/8", 5/16"-18 x 9/16", 1-3/4" 10 675-201 | 5/16"-24 x 1-1/2", 5/16"-18 x 5/8", 3" 10
S 675-093 | 5/16"-24 x 1", 5/16"-18 x 9/16", 2" 10
0 675-094 | 5/16-24 x 1-1/2", 5/16™18 x 1/2", 2-1/2" 10 | Assortment SKU Count | 32 |
= 675-095 | 5/16"-18 x 7/8", 5/16"-18 x 7/16", 1-1/2" 10
o 675-006 | 5/16'18 x 1", 5/16'18 x 7/16", 5" 10 | Assortment Drawer Count | 2 |
675-098 | 3/8™-24 x 3/A", 3/8"-16 x 1/2", 1-1/2" 10 [ Assortment Piece Count | 320 |

047-679 INSTALLER-PAK® METRIC DOUBLE-ENDED STUDS w

Assort./ Assort./
Part# Size Box Qty. Part# Size Box Qty.
Stud Stud (continued)
675-315 | M6-1.0 x 17mm, M6-1.0 x 7.5mm, 27.5 mm 10 675-350 | M10-1.5 x 27mm, M10-1.5 x 12mm, 42mm 10
675-316 | M6-1.0 x 16mm, M6-1.0 x 7.5mm, 32.5 mm 10 675-351 | M10-1.5 x 27mm, M10-1.5 x 12mm, 47mm 10
675-330 | M8-1.25 x 20mm, M8-1.25 x 10mm, 30mm 10 675-352 | M10-1.5 x 27mm, M10-1.5 x 12mm, 52mm 10
675-331 | M8-1.25 x 16mm, M8-1.25 x 10mm, 35mm 10 675-353 | M10-1.5 x 28mm, M10-1.5 x 12mm, 57mm 10
675-332 | M8-1.25 x 21mm, M8-1.25 x 10mm, 40mm 10 675-359 | M10-1.25 x 21mm, M10-1.25 x 13mm, 41mm 10
675-333 | M8-1.25 x 23mm, M8-1.25 x 10mm, 45mm 10
675-334 | M8-1.25 x 23mm, M8-1.25 x 10mm, 50mm 10
675-335 | M8-1.25 x 23mm, M8-1.25 x 10mm, 55mm 10 | Assortment SKU Count | 16|
675-336 | M8-1.25 x 24mm, M8-1.25 x 10mm, 60mm 10 | Assortment Drawer Count | 1 |
675-338 | M8-1.25 x 24mm, M8-1.25 x 10mm, 70mm 10 -
675-339 | M8-1.25 x 18mm, M8-1.25 x 17mm, 38mm 10 | Assortment Piece Count | 160 |

INSTALLER-PAK® - EMPTY HARDWARE OPTIONS

PART# Description

003-545-E Black/Orange Dorman Decal
1099235 8" Black Base

9999212 4 Drawer Empty Cabinet
9999213 2 Drawer Empty Cabinet
9999801-1 Adjustable Dividers, Single Pack
9999909 Adjustable Black Drawer
9999916 16-Compartment Drawer
9999920 20-Compartment Drawer
9999924 24-Compartment Drawer
9999932 32-Compartment Drawer

36



Why TEcH TraYs &
VaLUE Packs?

* Contains the fastest moving parts installers use fo get the job done

* Have the parts there when you need them — comprehensive coverage of the most common items
* Stock hardware the smart way — lower cost hardware placed in trays for higher profits
* Convenience and portability at an affordable price

* Making storage easy by having only two plastic size trays

* Makes reordering effortless by using the convenient Dorman reorder form

e Eliminate wasted bay time and money waiting for the part — potential bay time saved
— an average of $720 per tray!

* Specialty trays available for specialty installers — body shops, oil & lube, transmission, tire & wheel

3\

Catalog (DHP24010)

«CTlo,, Additional Dorman boxed product
located in the Dorman Automotive
Hardware Catalog (2500021)

«CTIoy, Additional Dorman boxed product
located in the Dorman Hard Parts

«CTlo,,  Additional Dorman boxed product
location in the Motormite Catalog
(Mm24010)

€10, Additional Tites! product located in
a the Dorman Automotive Hardware
Catalog (2500021)

TecH Travs — OveraL Coverace & StockinG Guipe

Installer

g
=
3
Coverage <
Page Assortment 75% 85% 95% ?.
Part # |New | # |Description SKU/Piece Count (-]
030-136 38 | Cotter Pins Tech Tray 12 SKUs, 390 pieces X1 X | X | X ;
030-155 | X 38 | Double Ended Studs 16 SKUs, 128 pieces X 5
030-165 | X 39 | Self Drilling Screws 12 SKUs, 240 pieces X g
030-180 39 | Cabin Air Filter Hardware Tech Tray 13 SKUs, 105 pieces X '-”o-
030-202 | X 41 | Window Guides 12 SKUs, 48 pieces X
030-203 | X 41 | Wiper Linkage Bushings 6 SKUs, 24 pieces X
030-204 | X 42 | Spark Plug Wire Retainers 12 SKUs, 48 pieces X
030-205 | X 42 | Heater Hose Connectors 12 SKUs, 36 pieces X
030-206 | X 43 | Exhaust Hardware 12 SKUs, 24 pieces
030-208 | X 43 | Door Hinge Pins 12 SKUs, 24 pieces X
030-211 | X 44 | Control Knobs 12 SKUs, 36 pieces X
030-400 45 | License Plate Hardware Tech Tray 15 SKUs, 300 pieces X X
030-496 45 | Vacuum Tees & Connectors Tech Tray 23 SKUs, 115 pieces X
030-539 46 | il Drain Plugs with Gaskets Tech Tray 22 SKUs, 44 pieces X X | X
030-541 46 | il Drain Plug Gaskets Tech Tray 13 SKUs, 105 pieces X X | X
030-611 47 | Wheel Nut Covers Tech Tray 12 SKUs, 36 pieces X X | X
030-630 47 | Shop Hardware Tech Tray 24 SKUs, 260 pieces X
030-709 48 | Push-In Nylon Christmas Tree Fasteners Tech Tray 12 SKUs, 60 pieces X
030-720 | X 48 | GM/Chrysler Body Retainers Tech Tray 20 SKUs, 272 pieces X
030-722 | X 49 | Ford Body Retainers Tech Tray 13 SKUs, 160 pieces X
030-724 | X 49 | Import Body Retainers Tech Tray 15 SKUs, 195 pieces X
030-726 | X 50 | Metric Body Bolts and Nuts Tech Tray 20 SKUs, 205 pieces X
030-728 | X 50 | Push In/Screw In Retainers Tech Tray 20 SKUs, 220 pieces X
800-094 51 | Quick Disconnect™ Cooling/Transmission Gonnectors & Clips Tech Tray| 7 SKUs, 44 pieces X X
800-095 51 | Quick Disconnect™ Connectors Tech Tray 12 SKUs, 12 pieces X
800-096 52 | Quick Disconnect™ Retaining Clips Tech Tray 6 SKUs, 26 pieces X | X | X
800-101 | X 52 | Quick Disconnect™ Transmission Line Connectors Tech Tray 16 SKUs, 28 pieces X
800-102 | X 53 | Quick Disconnect™ Qil Line Connectors Tech Tray 10 SKUs, 32 pieces X
800-103 | X 53 | Quick Disconnect™ Master Tech Tray 19 SKUs, 54 pieces X | X
800-296 | X 54 | Quick Disconnect™ Fuel Line Connectors Tech Tray 11 SKUs, 44 pieces X X
800-299 54 | Quick Disconnect™ Fuel Line & Sending Unit Repair Tech Tray 6 SKUs, 8 pieces X
800-300 | X 56 | Quick Disconnect™ Fuel Line Repair Kit 26 SKUs, 104 pieces X X | X
80021 X 55 | Distributor 0-Rings Tech Tray 12 SKUs, 60 pieces X X
80022 X 55 | Coolant 0-Rings Tech Tray 12 SKUs, 60 pieces X X

37



£
-
s
(]
5
=
<
-

38

Tech Tray Asso

Part # 030-136

COTTER PINS TECH TRAY

800-110

116° x 1"

800-215

3/32" x 1-1/2"

800-410

1/8"x 1*

800-415

1/8" x 1-1/2°

800-420

1/8" x 2°

800-520

532" x 2"

Gy 303 A I Gy | oy on 59 | O 120 [ | =%] oy 28
800-210 800-220 800-412 800-417 800-515 800-620
332" x 1* 3/32"x 2° 1/8" x 1-1/4° 1/8" x 1-3/4° 5/32" x 1-1/2" NEx2
Q
Gov 30 | v a0 | Goyise | | iy 2% | O vas Oyas | Gise Oy 35 | G 200 | Gz | es | Gy 28

Part # 030-155

675-095

A-5M16"-18 x 7/8"
B-5/16"-18 x 716"
C-3/16"

675-093

A-5M16"-24 x 1"
B-5M16"-18 x 9/16"
C-716"

D-2"

D-1-q/2"

675-111
A-3/8"-16 x 1-5/8"
B-3/8"16x1/2"
C-15/16"

D-31116"

675-332

A - M8-1.25 x 21mm
B -M8-1.25 x 10mm

DOUBLE ENDED STUDS

675-091
A -5/16"-24 x 5/8"
B-5M16"-18 x 716"
C-316"

675-101

A-3/8"16 x 1-1/8"
B-3/8"16 x 5/8"
c-1/4"

D-2v

675-098
A-318"-24 x 3(4"
B-3/8"16 x 1/2"
c-14"
D-1-172"

675-333

A -MB8-1.25 x 23mm
B -M8-1.25 x 10mm

675-001

A-5M16"-24 x 1/2"
B -5M16"-18 x 3/4"
C-1/4"

D-1-12"

B-3/8"-16 x 5/8"
c-12"
D-2-1/8"

ASST.

675-003
A-3/8"-24x 1"
B-3/8"-16 x 5/8"
c-3/8"
o-2"

675-334

A -M8-1.25 x 23mm
B -M8-1.25 x 10mm

675-092
A-5/16"-24 x 7/8"
B-5M16"-18 x 9/16"
C-5M16"
D-1-3/14"

A-318"-16 x 1-1/2"
B-3/8"-16 x T[116"
C-1/4"

D-2-7132"

675-106

A-THE"14x 1-1/4"
B-TH16"-14 x 3/4"
c-12"

D-2-1/2"

675-359

A-M10-1.25 x 21mm
B -M10-1.25 x 13mm

C-9mm C-12mm C-17Tmm C-7mm
D-40mm D -45mm D -50mm 0 -41mm




Part # 030-165

700-202

#8-18 x 1/2"
Hex Washer Head

700-206

#10-16 x 3/4"
Hex Washer Head

s

REORDER
aTv:s0

700-201

#8-18 x 3/4"
Phillips Pan Head

=

700-207

#1016 x 1"
Hex Washer Head

RECADER ASST. | REORDER ASST, | REORDER ASST,
QTY:50 aTY:20 | QTy:as oTY:20 | ary:so Ty a0

700-203

#8-18 x 3/4"
Hex Washer Head

700-213

#12-14 x 3/4"
Hex Washer Head

SELF-DRILLING SCREWS

700-214
#8-18x 1"
Hex Washer Head

700-224

#12-14 x 1"
Hex Washer Head

e

700-204

#10-16 x 1/2"
Hex Washer Head

700-208

1/4"-14 x 3/4"
Hex Washer Head

P

RECRDER
QTY: 50

700-205

#10-16 x 5/8"
Hex Washer Head

700-215

1/4"-14 x 1"
Hex Washer Head

Part # 030-180

700-700
Ford Taurus/Sable
4mm Screw

-

700-701
Ford Contour/Mystique
Self-Tapping Screw

700-702

Ford Contour/Mystique
Black Plastic Cap

700-703

Ford Taurus/Sable
Retainer Clip

CABIN AIR FILTER HARDWARE TECH TRAY

700-704

Ford Taurus/Sable
Push-On Clip

700-705

Ford Taurus/Sable
Plastic Screw

—

REORDER
ary: 158

ASSORTMENT
aTy: 10

700-706

General Motors
Screw Rivet

REORDER

ASSORTMENT
ary:10 aTy:§

General Motors
Screw Rivet

arty:15 aTy:10

700-708

General Motors
Screw Cap

REORDER ASSORTMENT
ary:1s ary: 10
700-709

Ford Contour/Mystique
Screw-in Clip

700-710

Lincoln Continental
Retainer Screw

e

700-711

Oldsmobile Alero/Chevy
Malibu
Cowl Retainer

REORDER
ary:is

700-712

Lincoln LS/Ford T-Bird
Cow! Retainer

REORDER
OTY: 15

ASSORTMENT
ary: 10

i ASSORTMENT
oTY: s

sjuawipiossy Anij yraj

39



700-887 | 700-888 700-889

Fron & Rear Rear Front Rear Rear Rear
Chevrolet/GMC Truck: Buiek: Century, Electra, Buick: Electra, Le Sabre, Bufek: Eleclra, Le Sabre, Chevrolel: Celebrily; Buick: Buick: Electra, LaSabre;
ST Series Blazer, Jmmy, | Le Sabre, Skylark: Cadillac: | Park Ave; Cadilac: Deville, | Park Ave; Cadiftac: Deville, | Cenfury; Oldsmobile: Clera; | Cadilac: Seville; Chevrolel:
Pickups, Sonoma 1994-82: | Davilla, Fi a ! Fi O Wo: B8 Fi d; O 88 Pontiac: 6000 Caprice; Oldsmobile: Delta
ol Bravada cl Caprice, Celebrily, | Delta Foyale, 98 Regency; | Delta Royale, 98 Regency; 1996-89 88, 98 Regency; Pontiac:

1994-91 Citation, Impala; Chevrolet! Pontiac: Boanawile Pontiac: Bonneville Bonnewille 1992-80

GMC Truck: ST Series 199385 199385
Biazer, Jimmy, Pickups;
Oldsmabile: Ciera, Delta 88,
Omaega, 28 Ragency; Ponliac:
BO00, Phoenix 1994-80

700-891 ' "~ 700-894 700-895

FRear Rear Rear FRear Len Right
Chevrolet: Corsica Dodge: Dakota Buick: Skyhawk: Cadillac: Chevrolel Corsica Buick: Electra Park Ave, Buick: Eleclra Park Ave,
1994-87 199487 Cimarron; Cheviolel: 1956-87 LeSabre, Somersel, Skylark; | LeSabre, Somersel, Skylark;
Cavailer; Oldsmobie: Cadilac: Fleetwood, Deville; | Cadiliac: Fleetwood, Deville;
Firenza; Pontiac; J2000, Oidsmobile: 88, 98 Regency, | Oldsmaobile: 88, 98 ,
Sunbird 1954-82 Calais, Delta Royale; Ponliac: | Calais, Dalta Royale; Ponfiac:
Bonnavitie, Grand Am Borneville, Grand Am
1996-85 1996-85

I;i

Part # 030-203 WIPER LINKAGE BUSHINGS

=
S
o
£
(]
“
“
<
g
-
§
|

118-301 118-302 118-303 118-304 118-305 118-306

Chrysler Toyota Avalon, Toyota Avalon, Nissan Allima GM Trucks Jeep Cherokee
1974 + Up Camry 2001-97; Camry 2001-97; 2001-88 2005-88 2000-93
Corolla 2002-98 - Corolla 2002-98 -
4 needed. 1 needed.

Recrder Assortment| |Reorder Assortment | |Reorder Assortment| |Reorder Assortment| |Reorder Assortment | |Reorder Assortment
Qty. 5 Qty. 4 Qty. 5 Qty. 4 Qty. 5 Qty. 4 Qty. 5 Qy. 4 Qty. 5 Qy. 4 Qty. 5 Qty. 4

40



Part # 030-204 SPARK PLUG WIRE RETAINERS

647-100 647-101 | 647-102 647-103 647-104 | 647-105
Various GM 8 Cyl. Various GM 8 Cyl. Universal - Locking 6,7.8mm, [ GM - Locking 7mm. Four Universal - 67,8 mm. GM - Locking 7mm. Two
Cars & Trucks Cars & Trucks four wire. wira, bracket siyle. Designed so refainer slofs wire, brackel sfyla,
can be separaled.

647-106 647-107 | 647-109 647-110 647-111
Ford - Locking 7mim.  Three Ford - Lecking 7mrm, Ford Explorer 2001-91, Ford Explorer 2001-91, Ford Explorer 2001-91, Ford Aercslar 1997-91,
wire, slud slolled. Two wire, slud siotfed, Ranger 2003-91, Ranger 2003-91, Ranger 2003-91, Explorer 2001-91,
Agrostar 1897-91 Agrostar 1897-91 Asrostar 1997-91 Ranger 2003-91
e s Al by A el = = e =

Part # 030-205 HEATER HOSE CONNECTORS

spuawipiossy Anij yraj

500-010 500-011 | 500-014
Bd" x 344" 34" x 58" &8 x 58" 1/2° x 58" 12 x 12 12 x 38°

[
orva

38" x 38 144" x 1440 Elbow 58" x 38" x 58° Elbow 58" x 58" 38" Hose x 144" NPT x 58" Hose x 1™ 14 UNS x

1"Long 2*Long; GM 3.8L 1995-90

FECRDER WERT | FEORDER A WEET, | AEGROER o = WEsT | meoncen [
ant s ary ary s arva | arva Im—m are orv3 m:ul arra | orva arv3

a1



=
S
o
-
(]
“
“
<
3
~
§
|

42

675-216
Chevrolel/GMC Truck
1996-88
M10-1.5 x 77mm

675-207

675-209

675-210 675-212
GM C.K.R.V Serigs Chrysler 1999-88
1991-83 MB-1.25 x 3
X816 % 3.5

GM 1996-82
M10-1.5 x 72mm

" (OTY:
675-208

675-217
GM 1996-95

50L& S57L,
316 x 2-1/4"

75-2 675-221
GM 1990-71 GM CK.A.V Series 1987-83 GM 1987-79 GM 1995-72 GM 1996-86 Toyota AV and Celica
3816 x 1-34° 16 x 4.5 16 x 2-1316° M10-1.5 x 102mm Mi0-1.5
M10-1.25 x 67mm
Fi %
y
P ] P 0 IR e P P e P

| GM25L & Toyota 1997-88,
M10-1.5

675-218

Part # 030-208

703-263
GM S10 Blazer, Jimmy,

Pickups 1994-82;
Safan, Astro 1998-85

703-269
Ford F150-350 Pickups
908-80.

(bushing).
342" x 3.57" (pin)

1 3
Sizes: .345° x 480" x .295%

703-264

GM Cars & Trucks 19598-60.
Sizes: 344" x 480" x 370"
(bushing), .344° x 420" x
305" (bushing),
342" x 4.167" (pin)

703-270

Ford Cars & Trucks:
F582-1622800A,
1L5Z2-1622810-AA,
F45X-6322800-B

DOOR HINGE PINS

703-265

GM §10 Pickups, Blazer,
Bravada, Jimmy, Sonoma
200394

| 703-271
Ford Capri, Mustang
1998-79

703-266

GM Cars 1998-80.
345" x 420" x 305"

{bushing),
342 x 3.863° {pin)

703-272

Dodge Truck B Series Vans,
D/W Series Pickups,
Ramcharger 1997-84,

Sizes: 376" x 495" x 250"

(bushing), .374" x 2.495°
(pin), .374" x 3.590" (pin)

703-267

GM C&K Series Pickups
2004-99

703-273

Dodge Ram Trucks 2002-94.
Sizes: .376" x 495" x 250"
(bushing), .345" x 430" x
300" (bushing),

373" x 3.25" (pin),
342" x 2.79" (pin)

703-268

GM Full-Size Vans -
Express, Savana 2004-96

Sizes: (ID x OD x Height)
3447 x 490" x 370",
344" x 480" x 375",
345" x 420" x 305",
376" x 495" x .250"

0 9%g




Part # 030-206

EXHAUST HARDWARE

675-210

675-212 675-217 675-218

675-216

Chevrolel/GMC Truck GM C.K.R.V Serigs Chiyslar 1999-88 GM 1996-82 GM 1998-95 GM 251 & Toyola 1997-88,
1996-88 1991-83 MB-1.25 x 37 M10-1.5 x 72mm 50L& 57L, M10-1.5
M10-1.5 x 77mm 3816 x 3.5° 316 x 2-1/4"

oy
675-208

675-207 675-209 7 675-221
GM 1990-71 GM CK.A.V Series 1987-83 GM 1987-79 GM 1995-72 GM 1996-86 Toyota AV and Celica
3816 x 1-34° 16 x 4.5 16 x 2-1316° M10-1.5 x 102mm Mi0-1.5
M10-1.25 x 67mm
Fi %
y
P ] P 0 IR e P P e P

Part # 030-208

DOOR HINGE PINS

spuawipiossy Anij yraj

703-265 703-266

GM Cars 1998-80.

703-268
GM Full-Size Vans -

703-263 703-264

703-267

GM 510 Blazer, Jimmy,

Pickups -82;
Safan, Astro 1998-85

703-269
Ford F150-350 Pickups
1998-80.
Sizes: .345° x 480" x .295%

(bushing).
342" x 3.57" (pin)

GM Cars & Trucks 19598-60.
Sizes: 344" x 480" x 370"
(bushing), .344° x 420" x
305" (bushing),
342" x 4.167" (pin)

703-270

Ford Cars & Trucks:
F582-1622800A,
1L5Z2-1622810-AA,
F45X-6322800-B

ASST_ | REDRDER

GM §10 Pickups, Blazer,
Bravada, Jimmy, Sonoma
200394

GTY.
703-271 |
Ford Capri, Mustang
1998-79

345" x 420" x 305"

{bushing),
342 x 3.863° {pin)

703-272

Dodge Truck B Series Vans,
D/W Series Pickups,
Ramcharger 1997-84,

Sizes: 376" x 495" x 250"

(bushing), .374" x 2.495°
(pin), .374" x 3.590" (pin)

GM C&K Series Pickups
2004-99

703-273

Dodge Ram Trucks 2002-94.
Sizes: .376" x 495" x 250"
(bushing), .345" x 430" x
300" (bushing),

373" x 3.25" (pin),
342" x 2.79" (pin)

Express, Savana 2004-96

Sizes: (ID x OD x Height)
3447 x 490" x 370",
344" x 480" x 375",
345" x 420" x 305",
376" x 495" x .250"

0 9%g

43



Tech Tray Assortments

Part # 030-400

LICENSE PLATE HARDWARE TECH TRAY

a4

910-010

1/4"-20
Hex Nuts

ABSI

395-012

1/4" x 3/14"
License Plale Screws

OTY: 23

G

REORDER
aTY: 25

ASSORTMENT
GTY: 20

851-211

1/4"-20 x 6/8"
Slotied Round Head
Machine Screws

851-303
#14 x 3/4"

Hex Slotted Washer Head
Shesat Metal Screws

395-061

395-051

#8-#10
Grill Nuts with 1/2" Head

]
OTY: 28
395-060

#14 x 3/4"
Hex Slotled Washer Head
Sheet Metal Screws

395-062

851-406

#8 x 1/2"
Phillips Pan Head
Sheet Metal Screws

918-010

1/4"
Split Lock Washers

423-216

ME-1.0 x 16mm
Hex Head Cap Scrows

REOADER
aTY: 25

922-010

Flat Washers

#14 x 3/4" #14 x 3/4" 1/4" x 1-1/4" 1/a"
Slotted Pan Head Phillips Pan Head Phillips Pan Head Square Nylon Nuts
Sheet Metal Screws Self-Tapping Screws Type A Sheet Metal Screws P
2
£ b | formmese |
o v ? ' —
(3
v
)
<
3
S
< Part # 030-496 VACUUM TEES & CONNECTORS TECH TRAY
& . .
493-025 493-043 493-046 493-058 493-016 493-010
Connector Connector Connector Tee Tee Tee, 7/32° x 7/32" x 7/32"
1/8" x 1/8* 144" x 316 3/8" x 3/8° 118" x 1/8" x 1/4* 316" x 316" x 1/8" |l |
S — = = ol
e - | ¢ - f—\n—-—nq (—— —
T RN I | L J
ol | | | [vs | | ovs | i o (] % [Scww]| W [a
493-060 493-006 493-007 493-014 493-050 493-054
Connector Connector Tee Tes Tee Tee, 1/4" x 1/4" x 1/4*
1/8" x 3/16" 174" x 174" 764" x 7/64" x 7/64"° 1/8" x 316" x 1/8" 316" x 316" x 316" =
" eorder r gorder } r = v i .
] [ =) S| el b EFdaR ISR A
493-057 493-045 493-052 493-047 493-051 493-013
Connector Connector Tee Tee, 1/8" x 1/4" x 1/4" Tee, 316" x 316" x 1/4" Tee, 5/16" x 5/16" x 516"
1/8" x 1/4° 5/16" x 516" 1/8% % 1/8" x 1/8" - i -
B - o — - g
e EE] =ErEsE] e | W e ww] T (e O e
493-026 493-044 493-053 493-009 493-017
Connector Connector Tee Tee Tee
3/16" x 316" 38" x 1/4* 1/8" x 1/8" x 3/16" 5/32" x 5/32" x 5/32° e x 11’4'1}?_1_6'
: J} . ll 'I:
Reorder | Assot | Reorder | Assot. | Reorder [ (3] Assort | Reorder Assot. | Reorder | i I\ Assort
Qty. 10 | a5 | .10 Q. 5 Qty. 10 | ay.5 | ay.10 I ay 5 | Q1o | | Qty §




090-005 090-034 090-042 090-055 090-075 090-088
1/2*-20 M12-1.75 M18-1.5 M22-1.5 M14-1.5 M12-1.5
Standard Pilot Point Standard Standard Standard Standard
Reorder l | Assot | Reorder | | Assort. | Feorder l ‘ Assot | Roorder | I Assot | Foorder I Assort. | Roorder | | Assort
Qty. 5 Q. 2 Cty. 5 Qy. 2 Qty. 5 Q.2 Cty. 5 ay. 2 Qty. 5 aty. 2 Qty. 5 Qty, 2
090-015 090-038 090-049 090-058 090-076 090-098
1/2"-20 M12-1.25 M12-1.25 1/2°-20 M14-1.25 M14-1.5
Single Oversized Standard Pilot Point Pilot Point w/ Pilot Point Pilot Point w/
" Molded Molded
Gasket Gasket
il

Reordor | | Assort. | Reorder | | Assot. | Reorder | | Assot. | Roorder | I Assot. | Reorder ] Assot. | Reorder | | Assort
Qty. § Qy 2 Cty. 5 Qy. 2 Qty. § Q.2 Cty. 5 Qy.2 aty. 5 ay. 2 Qty. § Oty 2
090-031 090-039 090-052 090-059 090-079
1/2°-20 M16.4-1,33 1/2°-20 M12-1.75 M12-1.75
Double Oversized Standard Filot Paint Pilot Point w/ Pilat Point w/

Molded Gasket Inset Gasket

Reordar | Reorder | I Assot. | Reordar | Assot. | Reorder | | Assot. | Reorder Assort
Oty. 5 Cty. 5 Qty. 2 Q. 5 Qty. 2 Qty. 5 Qty. 2 Qly. 5 aty. 2
090-033 090-040 090-053 090-060 090-084
M14-15 M20-1.5 M14-1.5 M12-1.75 M16-1.5
Standard Standard Pilot Paint Pilot Point Pilat Paint

. wiinset I. I |

3 Gasket e ”lll I

\ h‘“ il'llljll "E

{ . T
Reordar Asson Reorder % Assor. Reorder Asson, Reordal Assort. Reorder Assort
Qty. 5 J l Qty. 2 .5 | l Qty. 2 Qty. § l l 2 Cty. 5 | J ary.2 ory.sJ l aty, 2

Part # 030-541

OIL DRAIN PLUG GASKETS TECH TRAY

095-001 095-014 097-003 097-016 097-022
(Ch?r%al 1/2° Metal Crush 1/2° Nylon 11/16" FiberM12 Mylon 1/2° (M12)
S o ] [as [few] | o | e | a5 | Te | o
095-002 095-015 097-004 097-018 097-025
Copper5/8" Aluminum Nylon 3/4° FiberM18 RubberMetal
(M16) ld.Sm/,—-—-n-‘_k\ (M18) — 916"
Reordar Assor | Reorder Aot | Rooder | | Asset | Feoder Asson. | Pearder — Assor.
Qty. 25 l | Qty. 5 Qty. 15 | | Cty. 5 Cty. 25 | Qty. 5 Qty. 25 | Qty. 5 Qty. 10 | | Qty. 5
095-004 097-001 997-095 297-01 9 097-026
Copper3/4 Nylon 1/2° (M12) (ﬁﬂél; 78 — h;bzgr Fiber9M16
o - e

Reorder Assort. Roordor Assort. Reorder Assort. Reordar Assort. Reordar Assort.
Qty. 25 | Qty. 5 Qty. 25 | Q.5 | Qy.2s | Qty. 5 Cty. 25 | Qty. 5 Qty. 25 | Qty. 5
095-010 097-002 097-010 097-021 097-027
Coppera/16" Mylon 5/8" Nylon 8/16" RubbenMetal Fiber 1/2*

: 1/2° (M12) :
Rearder ’ ’ Asson. | Roorder Assort. | Reorder Assort. | Reorder Assort. | Reorder Assort
Cy. 25 | ays | oyzs | ay 10 | on2s | ays | Q.25 | ay5 | Cu.25 | Qty. 5

spuawipiossy Anij yraj

a5



Tech Tray Assortments

60% of vehicles with

Part # 030-611 WHEEL NUT COVERS TECH TRAY

611-606 611-608 611-610

M24-2.0 M24-2.0 M27-2.0 M24-2.0 M24-2.0 M24-2.0
Buick, Chevrolet, Buick, Chevrolet, Chevrolet/GMC/Cadillac Buick, C| A Ch, fet L inafAPV, Chevrolet/GMC
Oldsmobile, Pontiac Oldsmobile Trucks & SUVs Oldsmobile, Pontiac Oldsmobile Cutiass/Silhouette, Trucks & SUVs
2002-62 1999-89 2002-88 2000-92 1997-88
18mm 18mm 23mm 18mm 19mm 19mm
Black Grey Black Stainless Steel Gray Black

ASSORTMENT
ony: 3

611-619 611-620 611-621 611-623 611-624

M24-2.0 M24-2.0 M24-2.0 M27-2.0 M24-2.0
Pontiac Bonneville Buick, Chevrolet, Pontiac Buick, Chevrolet, Cadillac Escalade, Cadillac Escalade, Buick Century, Regal
1999-95 2005-00 Pontiac, Saturn Chevrolet/GMC Truck Chevrolet/GMC Truck 2005-97
19mm 18mm 2005-99 - 19mm

Black Black 19mm 22mm Gray

Gn Black
2 ey
S
o
&
2
“ REQROER ASSORTMENT REOADER ASSORATMENT REORDER
< arvs ] ] arv:a arv:s | arvi:a ary: s I ary:3
g
-
5 Part # 030-630 SHOP HARDWARE TECH TRAY
& L] L]
595-056 595-070 623-017 632-037 118-102 633-018
Woodruff Key (#2) ‘Woodruff Key (#A) 3/16" x 1" Roll Pin 3/8" External Retaining .028 Wire Dia. x 316" E-Clip
3/32'W x 15/32°L x 3M6"H 1/4"W x 55/64°L x 23/84°H Ring 5/64" Grv. Dia. x

9/32" Length Hair Pin

-~ A, = O o= o

= = =% o= ] s | s | B e =%
595-057 595-064 623-056 632-050 118-103 633-025

Woodruff Key (#3) ‘Woodruff Key (#15) 3/16" x 1-1/2" Roll Pin 1/2° External Retaining .028 Wire Dia. x 1/4" E-Clip

1/8"W x 31/64°L x 3116"H 1/4"W x 63/64"L x 27/64°H Ring 1/8" Grv. Dia. x

15/32" Length Hair Pin
- A | — e O

Gy2s Gir1o | Grpss owe | oz | G | Gy 2s G | oo 100 Ghas | Gyas )
595-068 623-046 623-022 632-062 118-104 633-031

Woodruff Key (#5) 1/8" x 1" Roll Pin 1/4" x 1-1/4" Roll Pin 5/8" External Retaining .032 Wire Dia. x 5/16" E-Clip

1/8"W x 39/64°L x 15/64"H Ring 5/32" Grv. dia. x

15/32" Length Hair Pin
Rearder | | Assorl. | Reorder ] Asson | Reorder | Assort. | Reorder | Assort | Recrder | Assort | Reorder Assar
Oty. 25 Oty 10 | Oty 28 Oty 10 | Oty 28 Oty § Oty 25 Oty 10 | 0wy 100 Oty 25 | Oty 28 Oty 10

595-059 623-051 623-062 632-075 118-105 633-037
Woodruff Key (#6) 5/32" x 1" Rall Pin 1/4" x 1-1/2" Rell Pin 3/4" External Retaining .047 Wire Dia. x 3/8" E-Clip
5/32"W x 39/64"L x 15/64"H Ring 316" Grv. Dia. x

18/32" Length Hair Pin

Fsarder Assort | Feorder Assort Recedar Assan Aearder Assart Recedar Assort | Reorder Assarl
Qty. 25 Oty 15 | ary.25 Oty 10 | Cy.28 oty § | o285 Oty 10 | Gty 100 Gty 25 | Oty.285 Qty 10

46




Tech Tray Assortments

Part # 030-709 PUSH-IN NYLON CHRISTMAS TREE FASTENERS TECH TRAY

GM/CHRYSLER BODY RETAINERS TECH TRAY

. 3
700-333 700-337 700-339 700-367 700-414 703-467
Panel Retainar Panel Retainer Panel Retainer Panel Retainer Panel Retainer Panel Retainer
11/32" x 916" 5/16" x 15M16" 5/16" x 3/4" 516" x 1/2° 5/16" x 17 516" x 1"
x 3/4° x15/16" x 3/4% 10 7/8" x 3/4" x 34" x 34
HRaorder Assor Reordar Assort Roordor Assort Reorder Assort Roorder Assort Reordar Assort
Qty. 15 | ] Qty. § Gty 15 | ay 5 | Q. 28 | | aty. § Qty. 25 | | aty. § Qty. 25 | Q.5 | o 25 [ Q. §
700-336 700-338 700-343 700-413 700-416 703-478
Panel Retainer Panel Retainer Panel Retainer Panel Retainer Panel Retainer Panel Retainer
5/16" x 3/4" 5/16° x 1-1/8" 516" x 3/4° 5/16" x 5/8" 11/32" x 1-1/8° 11/32° x 11/16°
x 78" x 15/16" x 34" 1o 7/8" x 25/32" x 58" x 916"
2
i —
-
)
<
Reorder Assort Reordar Assort RAeorder Assort Reorder Asson Reordar Assort Raardar Assort a
Qty. 25 aly. 5 aty. 15 ay. 5 Qry. 25 ay. § aty, 15 aly. 5 oy, 15 ay s | oy 2s aty. 5 A
S
(1]
=1
(7]

700-365
Trim Panel Retainer

Molding Retainer
#10-24 x 1" Chrysler

703-478
Trim Panel Retainer

700-339 700-330
Bump;r T:im Panel Trim Panel Retainer Trim Panel Retainer Trim Panel Retainer
etainer

700-420 703-467 700-871
Trim Panel Retainer | Door Panel Retainer Window Guide

700-414 | 700-415
Trim Panel Retainer Trim Panel Retainer

e e

RECADER AESORTMENT | REORDER ASSORTMENT | REORDER ASSORTMENT | REORDER
aTY:25 aTY:15 OTY:35 aTY:15 aTY:35 oTY: 15 oTY: 25

47




Tech Tray Assortments

48

REORDER

Reveal Molding Clip

ASBORTMENT
QTY: 50 aTY: 18

700-399
Door Panel Retainer

700-340

700-474

Hood Insulation
Retainer

Reveal Molding Clip

700-413
Panel Trim Retainer

700-337
Panel Trim Retainer

Splash Shield
Retainer

700-865

Hood Insulation
Retainer

700-398

Trim Panel Retainer

700-335

Panel Trim Retainer

700-416

Bumper Trim Panel Panel Trim Retainer | Panel Trim Retainer
Retainer
m W REORDER | [AssonTiEnT [ REoRDER | [ssorTuEnT

Part # 030-724

IMPORT BODY RETAINERS TECH TRAY

700-731 700-732 700-733 700-734 700-412 700-418
Panel Retainer Panel Retainer Panel Retainer Panel Retainer Panel Retainer Headliner Retainer
Nissan Nissan Nissan Nissan Nissan Honda
"’)}' iy = .3
ASSORTMENT | REORDER ASSORTMENT
QTY: 15 QTy: 15 OTY: 15 aTY: 15 QTY: 15 aTy: 15 QTY: 15 aTY: 15 QTY: 15 QTy: 15 OTY: 15
700-419 00-4 D0-866 00-4
Bumper Retainer Panel Retainer Hood/Trunk Molding Panel Retainer Panel Retainer
Toyota Nissan Retainer Toyota Toyota
| Honda ’ ' E

703-481

REORDER
QOTY: 28

700-462

700-467

Panel Retainer Grill Retainer Grill Retainer Weatherstrip Retainer
Honda Toyola Honda Honda
= = 2
REORDER ASSORTMENT REORDER ASSORTMENT | REORDER ASSORTMENT REORDER ASSORTMENT
QTY: 25 Qry: 10 QTY: 25 oTY: § QTY: 16 Qry: 5 OTY: 25 aTY: 15

700-464




Tech Tray Assortments

Part # 030-726 METRIC BODY BOLTS AND NUTS TECH TRAY

700-254 | 700-261 | 700-251 | | 700-250 | 700-256
M4.2-1. 41 x 20mm Eody Bolt| ME-1.0 x 20mm Body Bolt ME-1.0 x 24mm Body Bolt ME-1.0 x 25mm Body Bolt ME-1.0 x 28mm Body Bolt
Torx Head 24mm Washer T6mm Washer 1émm Washer

REGROER

aTY:23

vz | 258 '

L

ME.3-1. 0 x ZIJrllrll Body Bolt | MB-1.25 x 20mm Body Bolt | M8-1.25 x 25mm Body Bolt | M8-1.25 x 30mm Body Bolt M10-1.50 x 40mm Body Bolt
Indented Hex Head Indented Hex Head 2amm Washer 30mm Washer
700- 2?0 700-272 - 700-538 700-539
M6-1.0 Washered Nut Ma-1.25 Washered Nut M10-1.50 Flange Nut MB-1.0 Speed Nut ME-1.0 Speed Nut
“U* Type 5, 13.5mm Throat “U" Type 5, 19.5mm Throat
n!msn AEEORTMENT | REGADER AEEORTUENT RECRUER ASEGRTUENT | REGROER AEEORTUENT
QWH aryiis OTY: 15 QT s ary:s aTyiie ary:2s QTY: 0
700-527 700-528
M6.3-1.0 Speed Nut ME.3 Speed Nut Mg-1.: 53pend Nut M8-1.25 Speed Nut M10-1.50 Speed Nut

“U” Type 5, 18.5mm Throat “U* Type 2, 10mm Throat “U* Type 5, 14.3mm Throat “U* Type 5, 20.6mm Throat “U* Type 5, 19mm Throat

[EE] e

g
s
)
<
3
S
3
3
C

NEW! s

700-576 700-578 700-579 700-581 700-571
1/4" (.250) 1/4" (,.250) 1/4" (.250) 516" (.3125) 716" (.4375)
PushRivet Push Rivet PushRivet PushRivet Push Rivet

700-572 700-575 700-577 700-574 700-573
716" (.4375) 1/2" (.500) 9/16" (.5625) 6.3mm 8mm
PushRivet Push Shoulder Rivet PushRivet Push Rivet Push Rivet
A?SOMENY ASSONT REORDER ASSORTMENT)
; aTY: s aryiia 3 o QrY.35 aTY: 18
700-706 700-585 700-589 700-852
716" ( 4375) 1/4" (.250) 1/4" (.250) 1/8" (.250) 1/4" (.250)
PushRivet Screw Rivet Screw Rivet Screw Rivet Screw Rivet
Ff OAOE T | l&wlllﬂ.'ﬂ REORDER I.S-SQ“Y(NI' REORDER ASSORTMENT | REORDER ASSORTUENT | REORDER ASSORTMENT)
oTY.35 QrY. 15 aryiis | amvis arviis | grv.as grviis | grris Ty 15
700-864 700-853 700-850 700-863
1/4" (.250) .410" 1/4" (.250) 8mm 10mm
Secraw Rivat Serew Rivet Push Rivat Screw Rivet Push Rivet

- -

uomm REDHDER ASSORTMENT | REDRDER m REDHDER HEORDER ASSORTMENT
-:rrv-ll hris oTv: 18 aTv: e OTV: 18 o‘rv-m arvie arv: s aTvig

49



'_ ,-11 ..".‘.

. g i S

Tech Tray Assortments

Part # 800-094* COOLING / TRANSMISSION CONNECTORS & CLIPS TECH TRAY

L] L]
800-401 800-402 800-608 800-003 800-005
Heater Hose Connector | | Heater Hose Connector 47144 HELP® 55147 Help! Retainers, 5/16"
2002-1990 1995-1989 5/16" Tube Retainers 5/16" GM, Chrysler
GM3.1,3.4,5.7,6.0, GM Astro / Safari 1994-1982 Ford
6.2,7.0,7.4 Ford Various Models =
s
- /\
: ¥
Reorder Assortment| | Reorder Assortment |
Qty. 5 Qty. 10 Qty. 5 Qty. 10
800-004 800-006
55148 Help! Retainers, 3/8"
Retainers, 3/8" GM, Chrysler
Ford
Reorder Assortment| | Reorder Assortment| | Reorder Assortment| | Reorder Assortment| | Reorder Assortment |
‘u-) Qty. 1 Qly. 2 Qty. 1 Qty. 1 Qty. 1 Qty. 1 Qty. 5 Qty. 10 Qty. 5 Qty. 10
s
£
o
(7]
(7]
<
& Part # 800-095* CONNECTORS TECH TRAY
Ty
h L] L]
k-
[ 800-120 800-121 800-401 800-402 800-403 800-404
Steel Body Fuel Connector Steal Body Fuel Connector Heater Hose Connector, Heater Hose Connector, 47165 HELP! 47164 HELP!
518" ane 2002-1900, GM 3.1, 3.4, 1995-1988 GM Astra/Safari Heater Hose Connector, Heater Hose Connectar,
5.7 (Carvette Only), 6.2 Ford Trucks 2003-1986 w/S/8" Ford Trucks 2003-1986 w/3/4”

Facrder Assortment | | Rearder Assortment | | Rearder Assorment | | Reondar Recrder Assortment | | Rearder Assoriment
aty. 1 | oty 1 Q.1 | a1 oty 1 | | ary. 1 Gy 1 ary, 1 | aty. 1 Gty 1 | Oy 1
800-602 800-603 800-604 800-605 800-606 800-608
Pt tesinn C igsion G i G igsion C A 47144 HELP!
Ford Various Models, 2002-1996 GM Trucks G, GK 2003-1996 GM Trucks S/T, C/K, 2003-1996 GM Trucks ST, C/K, 2003-1996 GM Trucks SIT, Ford Various Models,
2003-1893, 378" Tube Astro/Safari Astro/Safari, 2000-1998 w Body Astro/Safari 1994-1982, 516" Tube
A —
-
Asorder | Agsormont | | Asorder |Aamrum Rearder | |-lucmm Fscrder l | Assortment | | Aeonder l |A»nnm-m Rearder | ‘ Assortment
Qry. 1 Oty 1 Qty. 1 a1 on 1 Oty 1 oy 1 Oty 1 a1 oy 1 o1 Oty 1

*See Dorman Hard Parts Catalog, DHP24011, and Dorman OE Solutions Supplement, 2500019 for complete Quick Disconnect application information.

50




Tech Tray Assortments

Part # 800-096* RETAINING CLIPS TECH TRAY

800-003 800-004 800-005 800-006 800-007 800-008

55147 HELP! 55148 HELP! GM Retainers, 5/16" | | GM Retainers, 3/8" | [55137 HELP! 55138 HELP!

Ford Retainers, 5/16'( | Ford Retainers, 3/8" Ford Metal Retainers,| |Ford Metal Retainers
10.5mm 13mm

=

Reorder Assortment| | Reorder Assortment| |Reorder Assortment| | Reorder Assortment| | Reorder Assortment| | Reorder Assortment
Qty. 5 Qty. 5 Qty. 5 Qty. 5 Qty. 5 Qty. 5 Qty. 5 Qty. 5 Qty. 3 Qty. 3 Qty. 3 Qty. 3

Part # 800-101* TRANSMISSION LINE CONNECTORS TECH TRAY

B00-601 800-602 800-603 B00-604

Ford Taurus & Mercury Sable GM C&K Series and G Series Trucks GM C&K Series, L&M Series
and S&T Series Trucks

spuawipiossy Anij yraj

B00-605 ‘ 800-608

GM C&K Series, S&T Series, L&M Series GM C&K Series Trucks Ford 1994-82
Trucks and W-Body Cars S/16" Tube

Dodge Ram Trucks & Vans,
Jeep Grand Cherokee

B00-752
GM Cars 3/8", 1/2", 5/8" Connector Clips

assonTMENT | neanoen ABSONTUERT ’ r AZBOMTMENT
Ty 1 T 1 T 1 + i arY: 4EA

~ 0

nesnoen
ary: 1

*See Dorman Hard Parts Catalog, DHP24011, and Dorman OE Solutions Supplement, 2500019 for complete Quick Disconnect application information.

51



=
S
()
£
o
“
“
;
-
kS
[ ]

52

GM C/K Trucks 2003-96

GM C & K Series Trucks

0il Cooler Line Connector

800-801
3/8" Connector Clip

WECHLIER
ar: 1

800-801
1/2" Connector Clip

Oil Cooler Line Connector

800-710

Oil Cooler Line Connector
GM

NEW! 50

800-711
Oil Cooler Line Connector
GM

Qil Cooler Retaining Clips
Pilastic

RECSIDES
ar

¢ % -
) i (
b & ]
MEQRDER ASSORTUENT | RECRDER ASSORTUENT | REORDER AISORTMENT | REC) ENT
arvid arva oy d aTr e atrid arv: 4 o 2 aTY: 2

WEQRGER
are

800-003
Fuel Line Clip
Ford 5/16"

800-011
Nylon Fuel Line Union
8"

800-401

Heater Hose Quick Connectors
GM Cars & Trucks

E |
\\;J.

GEEEESY

800-004
Fuel Line Clip
Ford 3/8"

800-012
Nylon Fuel Line Union
5/16"

[+ vy v =

800-402
Heater Hose Quick Connectors
GM 4.3L

F- |

ASSORTMENT|  REGRDER
oTY: 2 QT 1

Fuel Line Clip
GM 5/16"

Heater Hose Quick C:
Ford Cars & Trucks, 3/4" Tube

Heater Hose Retaining Clip
Small

800-005

800-404

800-006
Fuel Line Clip
GM 3/8"

Quick Ci

Connector Qil Cooler Retaining Clip
GM

REORDER
aTv.2

NEW! <10,

800-007
Fuel Line Retainer Clip
Ford 10.5mm

800-610

800-405

ASSORTMENT | PEORDER
aTy:z ary: 4

Ford with 5/16" Tube

Steel Connector Clip
fhish

800-801

N\

ASSORTMENT|
ar.a

800-801

Dodge Trucks & Vans, Jeep

REORDER
ary: 1

FECRDER
arr:4

Steel Connector Clip
'

Quick Ci

800-801
Steel Connector Clip
172"

REORDER
Ty 4

ASSORTMENT
arY:4

*See Dorman Hard Parts Catalog, DHP24011, and Dorman OE Solutions Supplement, 2500019 for complete Quick Disconnect application information.




Nylon to Steel
Connector 1/4"

800-146.5

Nylon to Nylon
Connector 1/4"

Nylon to Steel
Connector 5/16"

800-147.5

Nylon to Nylon
Connector 5/16"

REORDER
arv:s

ASSORTMENT | REORDER
QTy: 4 aTy: §

Nylon to Steel
Connector 3/8"

800-148.5

Nylon to Nylon
Connector 3/8"

800-141.5

Steel to Steel
Connector 1/4"

= 3

REORDER ASSORTMENT
arY: § OTY: 4

800-011
Nylon Union 5/16"

Tech Tray Assortments

800-142.5

Steel to Steel
Connector 5/16"

800-143.5

Steel to Steel
Connector 3/8"

™ *
7 S P
N
REORDER ASSORTMENT | REORDER ASSORTMENT
Qary: & aTy: 4 OTY: 5 OTY: 4
800-012
Nylon Union 3/8"
et ]

ASSORTMENT
QTy: 4

REORDER ASSORTMENT
Qary: 2 QTY: 4

REORDER ASSORTMENT
aTY: 2 QTy: 4

Part # 800-299* FUEL LINE & SENDING UNIT REPAIR TECH TRAY

L] L]
800-231 800-233 800-229 800-230 800-011 800-012
Sending Unit Repair | |Sending Unit Repair | |Sending Unit Repair | |Sending Unit Repair | |Mylon Union 5/16" MNylon Union 3/8"
W/Steel Nut Wi/Steel Nut Double Bead Double Bead
5/16"x4-3/4" 3/8"x4-3/4" 5/16"x4-3/4" 3/8°x4-3/4"
Reorder Assortment| | Recrder Assortment| |Reorder Reorder| Assortment| | Reorder Assortment| |Reorder Assortment
Qty. 1 Qty. 1 Qty. 1 Qty. 1 Qty. 1 Qty. 1 Qty. 1 Oty. 1 Qty. 2 Qty. 2 Qty. 2 Qty. 2

*See Dorman Hard Parts Catalog, DHP24011, and Dorman OE Solutions Supplement, 2500019 for complete Quick Disconnect application information.

spuawipiossy Anij yraj

53



Part # 80021

rder Dorman

DISTRIBUTOR O-RINGS TECH TRAY

Order Dorman

£
-
s
(]
5
=
<
-

54

Part# 099-400

OE 10477565
2004-82 Chevy -

Qil Pump Drive Gasket
Junta de Impulsién de
Bomba del Aceite Garniture

Part# 099-401

OE 22131-12P02
1988-84 Nissan 240 SX
1989-84 300 ZX

1994-85 Maxima

2000-86 Nissan Truck

Re-Order Dorman
Part# 099-402

OE 22131-40F00
1997-86 Nissan

Pickups

1994-89 240 SX

Re-Order Dorman
Part# 099-403

OE 30110-PA1-732
1986 & Up Honda
Accord & Civic

OE FS0118201
1999-93 Mazda 626,
Millenia 2.5L

most V6s

Re-Order Dorman
Part# 099-405

OE 90099-14091
1994-89 Toyota Tercel
1997-88 Corolla

Re-Order Dorman
Part# 099-406

OE 90099-14127
1997-92 Toyota Corolla
1995-90 MR2

1999-94 Celica

1995 & Up Tacoma
1996-92 Camry

2000-96 Rav4

1996 & Up 4Runner

Re-Order Dorman
Part# 099-407

OE 96711-35030
1993-1987 Toyota
Corolla, Tercel,

MR2, Celica

D’Entrainement de 2004-87 Pathfinder

Pompe D'Huile

REORDER ASSORTMENT | REORDER ASSORTMENT | REORDER ASSORTMENT | REORDER ASSORTMENT | REORDER ASSORTMENT]
QTY: 5 QTY: 5 QTY: 5 QTY: 5 QTY: 5 QTY: 5 QTY: 5 QTY: 5 QTY: 5 QTY: 5

Re-Order Dorman
Part# 099-408

OE B9TF-12143-A
1989-80 Ford

Crown Victoria,

Mustang,

1993, 1991-89 T-Bird

Re-Order Dorman
Part# 099-409

OE F1DZ-12143-A
1994-91 Ford Contour
1995-90 Taurus 3.8L

REORDER
QTY: 5

OE 90099-14089

1996-86 Toyota Camry & Corolla

REORDER
QTY: 5

ASSORTMENT | REORDER
QTY: 5

QTY: 5
Re-Order Dorman

Part# 099-410

ASSORTMENT | REORDER
QTY: 5 QTY: 5

ASSORTMENT | REORDER
QTY: 5 QTY: 5

ASSORTMENT | REORDER
QTY: 5 QTY: 5

Re-Order Dorman

Part# 099-411

OE 02875923

1982 & Up Dodge All V-8

ASSORTMENT | REORDER
QTY: 5 QTY: 5

ASSORTMENT|
QTY: 5

ASSORTMENT|
QTY:5

Part # 80022

Part# 099-412

OE 4746864
Dodge All V8

O

Re-Order Dorman ‘

2004

Re-Order Dorman ‘
OE 24502846

2002-95 Camaro 3.8L

COOLANT O-RINGS TECH TRAY

Part# 099-413

Re-Order Dorman
Part# 099-414

OE 24572538
Chevy Lumina, Impala {2002-95 Chevy Cavalier
1999-97 Malibu 3.4L

o

Re-Order Dorman
Part# 099-415
OE 24573057

2002-95 Chevy Cavalier
1999-97 Malibu 3.4L

Part# 099-416
OE 24501563

2002-95 Camaro 3.8L

Re-Order Dorman

2004 Chevy Lumina, Impala |1999-93 Mazda 626,

Re-Order Dorman
Part# 099-417

OE KL0115591

Millenia 2.5L Most Vés

QTY: 5

OE 90301-37005
2000-1992 Toyota Camry 4 cyl
Large O-Ring

Anillo “O” Grande

Grande Bague

OE F1VY-8507-A
2004-92 Ford Crown Victoria
2000-96 Mustang 4.6L

REORDER
QTY:5

REORDER| |ASSORTMENT | REORDER

Re-Order Dorman
Part# 099-418

Re-Order Dorman
Part# 099-421

QTY: 5 QTY: 5

Small O-R

Petite Bag

ASSORTMENT
QTY: 5

Joint Intéri

ASSORTMENT | REORDER
QTY: 5 QTY: 5

ASSORTMENT | REORDER| |[ASSORTMENT [REORDER| |ASSORTMENT

Re-Order Dorman
Part# 099-419

OE 96761-24017
2000-1992 Toyota Camry 4 cyl

ing

Anillo “O” Pequefo

ue

Re-Order Dorman
Part# 099-422

OE 21049-31U02
1999-95 Nissan Maxima
Inner Seal

Sello Intert

no
eur

OE MD030764
1989-83 Plymouth
Laser, Talon,
Mitsubishi

Re-!
[

Outer Seal
Sello Externo
Joint Extérieur

ASSORTMENT | REORDER
QTY: 5 QTY: 5

REORDER| [ASSORTMENT | REORDER

Re-Order Dorman
Part# 099-420

OE 21049-31U03
1999-95 Nissan Maxima

ASSORTMENT]
QTY: 5

ASSORTMENT]
QTY: 5

Order Dorman
art# 099-423

ASSORTMENT]
QTY:5

NEW! <20,




800-135 (1 Pleco)

800-136.5 (5 Pack)
1/4* Nylon to Steel
Compression Union

laTY- 4
800-135 (1 Pioce)
B800-137.5 (5 Pack)

516" Nylon to Steel
Compression Union

orviz | ¢

2 Pack)

5 Pack) 816" Barbed Union
Metric Fitting

10mm Nylon to 16mm

8-

800-078
B800-078.5

B00-012 (2 Pack)

B00-011 (2 Fack)

800-079 (2 Pack)
800-079.5 (5 Pack)

ary:z

Metric Fitting Bmm
5M16"Nylon to 14mm

arvie |

/8" Barbed Union

516" Steel to 516”
@mm Nylon Straight

B00-081 (2 Pack)
B00-081.5 (5 Pack)

B00-083 (2 Pack)
800-083.5 (5 Pack)

516" Steel to 5M16™
Bmm Nylon Elbow

|

18" Steel to 38"
10mm Nylon Straight

arv:4

114" Steel to 516"
Bmm Mylon Straight

=

ary:2

(2 Pack]

800-084
800-084.5 (5 Pack)

516" Steel to 3/8"
10mm Nylon Straight

B00-085 (2 Pack)

B00-085.5 (5 Pack)

8" Steel to 5M6"
‘Bmm MNylon Straight

2

B00-086 (2 Pack)
800-086.5 (5 Pack)

3/8" Steel to
10mm Nylon Elbow

1/4* Nylon ta Nylon
Union

/8" Nylon to Nylon
Comp Union

a1y 4

arve] orvz [ o ] oma |
B800-135 (1 Piecs) 800-145 (1 Pisca) 800-091 (2 Pack) 800-092 (2 Pack)
B800-138.5 (5 Pack) B00-147.5 (5 Pack) B800-091.5 (5 Pack) 800-092.5 (5 Pack)
/8* Nylon 1o Steel 516" Nylon to Nylon 378 Stoel 1o S/16° /16" Steel 1o 38"
Union Comp Union 8mm MNylon Elbow 10mm Nylon Elbow
ary: 4 ﬁ arv:4
B00-145 (1 Piace) B00-145 (1 Picce)
B00-146.5 (5 Pack) 800-148.5 (5 Pack)

aTY: 2
—

Order Quick Disconnect™
Reference Poster # 2500000 for
quick & easy product identification.

DORMARNT

(®[3SOLUTIONS"

800-300
Fuel Line Repair Kit

2
=
~—y
‘
S
=
g
=
3
3
3




USS GBS RN
Standard Hardwdre sl = 4
For Older U Vehicles

:J fjhs 53
Part # 799-301 USS Grade 5 Standard Hardware Value Pack
* 14 SKUs, 96 pieces <TI0y,

* Tray measures 8-7/8" x 5-1/2" x 1"

Hex Head Cap Screws: (6) 1/4"-20 x 3/4" * (6) 1/4"-20x 1" *

(4) 5/16"-18 x 1-1/2" = (4) 3/8"-16 x 1-1/2" = (3) 7/16"-14 x 2"

Hex Nuts: (12) 1/4"-20 * (8) 5/16"-18 * (4) 3/8"-16 * (3) 7/16"-14
Flat Washers: (8) 3/8" = (10) 5/16"

Split Lock Washers: (12) 1/4" * (8) 5/16" * (8) 3/8"

Metric Glassi8; RN,
SIS Hardiargs % X N

For Asian Vehicles N o .};}f Q
v A%
/8 3
-J 2 _Ej JIJJ:J:J J \J \gr}-}
799-305
Part # 799-305 Metric Class 8 JIS Hardware Value Pack
* 15 SKUs, 128 pieces <TI0y,

* Tray measures 8-7/8" x 5-1/2" x 1"

Hex Head Cap Screws: (8) M6-1.0 x 16mm ©

(8) M6-1.0 x 20mm * (6) M6-1.0 x 30mm © (6) M8-1.25 x 16mm *
(4) M8-1.25 x 20mm © (10) M8-1.25 x 25mm © (4) M10-1.25 x 20mm ¢
(2) M10-1.25 x 30mm * (2) M10-1.25 x 35mm

Hex Nuts: (16) M6-1.0 ¢ (12) M8-1.25  (4) M10-1.25

Flat Washers: (20) M6 * (16) M8 * (10) M10

Vietric G1daS5i8; -
DINHardiwargs™ % 3 Ny
For US and e i
S O O .
J'r_‘/ﬂn:,:, ~/ ‘gr]—/

799-310

Part # 799-310 Metric Class 8 DIN Hardware Value Pack
* 16 SKUs, 126 pieces «CTlo,
* Tray measures 8-7/8" x 5-1/2" x 1" ©

Hex Head Cap Screws: (6) M6-1.0 x 10mm

(6) M6-1.0 x 12mm © (6) M6-1.0 x 16mm * (6) M6-1.0 x 20mm
(6) M6-1.0 x 25mm © (6) M6-1.0 x 30mm * (4) M8-1.25 x 20mm
(4) M8-1.25 x 25mm © (4) M8-1.25 x 30mm © (2) M10-1.50 x 30mm
Hex Nuts: (16) M6-1.0 * (6) M8-1.25 ¢ (2) M10-1.50

Flat Washers: (30) M6 ¢ (12) M8 = (10) M10

NCC o

JbbPieces

799-320

Part # 799-320 USS Grade 5 Standard Hardware Value Pack

* 31 SKUs, 366 pieces CTIoy
* Tray measures 14-1/4" x 11-1/2" x 2-1/2"

Hex Head Cap Screws: (20) 1/4"-20 x 3/4" * (12) 1/4"-20 x 1" *

(12) 5/16"-18 x 3/4" * (12) 5/16"-18 x 1" = (10) 5/16"-18 x 2"

(6) 3/8"-16 x 1" * (6) 3/8"-16 x 1-1/4" = (10) 3/8"-16 x 1-1/2"

(12) 3/8"-16 x 2" = (8) 3/8"-16 x 2-1/2" * (8) 3/8"-16 x 3" * (6) 7/16"-14 x 1"
Hex Nuts: (20) 1/4"-20 * (12) 5/16"-18 * (16) 3/8"-16 = (10) 7/16"-14
(6) 1/2"-13 © (4) 9/16" * (4) 5/8"-11

Flat Washers: (20) 1/4" * (20) 5/16" = (20) 3/8" = (16) 7/16" * (8) 1/2" *
(6) 9/16"

Split Lock Washers: (16) 1/4" © (20) 5/16"  (12) 3/8" = (20) 7/16" *

(6) 9/16" = (8) 5/8"

798-321

Part # 799-321 Class 8/8.8 Metric Hardware Value Pack

* 32 SKUs, 514 pieces &CTIoy,
* Tray measures 14-1/4" x 11-1/2" x 2-1/2"

Hex Head Cap Screws: (20) M4-.7 x 20mm ¢ (20) M5-0.8 x 25mm
(20) M6-1.0 x 10mm © (20) M6-1.0 x 12mm * (20) M6-1.0 x 16mm ©
(20) M6-1.0 x 20mm © (12) M6-1.0 x 25mm * (12) M6-1.0 x 30mm *
(12) M7-1.0 x 20mm © (8) M8-1.25 x 20mm © (6) M8-1.25 x 25mm *
(6) M8-1.25 x 30mm © (16) M8-1.25 x 40mm * (6) M10-1.50 x 30mm
Hex Nuts: (20) M4-.7 = (20) M5-.8 * (20) M6-1.0 * (16) M7-1.0
(12) M8-1.25 = (8) M10-1.50

Flat Washers: (20) M4 * (20) M5 © (20) M6 * (20) M7 * (12) M8 *
(8) M10

Split Lock Washers: (20) M4 © (20) M5 ¢ (20) M6 © (20) M7

(20) M8 = (20) M10




799-323

Part # 799-323 E-Clips and Snap Rings Value Pack

* 16 SKUs, 305 pieces &<lloy,
 Tray measures 8-7/8" x 5-1/2"x 1"

E-Clips: (25) 1/8" © (25) 5/32" = (25) 3/16" = (25) 1/4" *

(20) 5/16" = (20) 3/8" = (15) 1/2" = (10) 3/4"

Internal Snap Rings: (25) 1/4" * (20) 5/16" = (20) 3/8" = (15) 1/2"
External Snap Rings: (20) 3/8" * (15) 5/8" * (15) 3/4" * (10) 1"

2o dl Part # 799-335 sSHoy,
I A:TYd Washers Value Pack
* 8 SKUs, 94 pieces
* Tray measures

4-1/2"x 5-1/2" x 2-1/2"
Flat Washers: (16) 1/4" ¢ (10) 5/16" ©
(8) 3/8" * (4) 7/16"
Split Washers: (20) 1/4" « (16) 5/16" ©
(12) 3/8" * (8) 1/2"

799-335

Part # 799-350 &CToy,
| Vacuum Caps
| Value Pack
* 6 SKUs, 30 pieces
* Tray measures
4-1/2"x 5-1/2" x 2-1/2"
Vacuum Caps: (5) 3/16" * (5) 7/32" ©
(5) 1/4" * (5) 5/16" = (5) 3/8"
(5) 5/32"

799-350

Part # 799-355 <TI0y,
Vacuum Connectors
Value Pack
* 8 SKUs, 65 pieces
* Tray measures
4-1/2" x 5-1/2" x 2-1/2"
Tee Connectors: (5) 5/32" * (5) 3/16"
Y Connectors: (5) 3/16"
Straight Connectors: (10) 1/8" ©
(10) 3/16" = (10) 1/4" *
(10) 1/4"x 1/8" = (10) 1/4"x 3/16"

799-360

Part # 799-360 Home Assortment Value Pack

* 16 SKUs, over 360 pieces

e Tray measures 8-7/8" x 5-1/2"x 1"

Cup Hooks - Brass: (8) 7/8" Push Pins: 15

Cup Hooks - White: (8) 7/8" Thumb Tacks: 20

Picture Hangers 10 Ibs.: 12 Plastic Anchors #4: (12) #8 w/Screws
Picture Hangers 20 Ibs.: 12 Plastic Anchors #10: (8) #14 w/Screws

Brads & Nails: .05 Ib - Brads 3/4" * .05 Ib - Brads 1" * .05 Ib - Brads 1-1/2"
Nails 5/8" © .05 Ib - Nails 1"  Nails 1-1/2"

Sheet Metal Screws: (30) #6 x 1/2" = (9) #10x 1-1/2"
Black Drywall Screws: (15) #6 x 1-5/8"
Wood Screws: (22) #8 x 1"

/&= Tl Part # 799-420 «CT10y,
Cotter Pins

~ Value Pack

* 7 SKUs, 106 pieces

* Tray measures

4-1/2" x 5-1/2" x 2-1/2"
Cotter Pins: (20) 1/16"x 1" ©
(16) 3/32" x 3/4" = (16) 3/32"x 1-1/2" *
(16) 7/64" x 1" = (10) 1/8"x 1-1/2"
(20) 1/8"x 2" * (8) 5/32"x 1-1/2"

Part # 799-430 CTI0y,
Stove Bolts with Nuts

Value Pack

* 13 SKUs, 108 pieces

* Tray measures
4-1/2" x 5-1/2" x 2-1/2"

Bolts: (6) #8-32x 1/2" ©

(6) #8-32 x 3/4" * (6) #10-24x 1" ¢
(6) #10-24 x 1-1/2" = (4)1/4"-20x 1" *
(4) 1/4"-20 x 1-1/2" © (4) 1/4"-20 x 2"
Hex Nuts: (12) #8-32 * (12) #10-24
* (12) 1/4"-20

Flat Washers: (12) #8 * (12) #10 ©
(12) 1/4"

Part # 799-440 &<Tloy,
4 Clamps Value Pack

* 7 SKUs, 35 pieces
 Tray measures
4-1/2" x 5-1/2" x 2-1/2"

@ Q‘ Hose Clamps (Fuel Injected): 5
\ Hose Clamps (Miniature): 5
Q Hose Clamps: (5) 17/32"-5/8"
Corbin Clamp: (5) 3/8"  (5) 9/16" *

AN (5) 5/8" «(5) 1/2"

798-440

799-430

g
3
v
-3
g
=4
3
S
@

57



"
3 e Camnmnecy
fes, % :

[ ]
=i L g Y
F

]

Part # 799-445
Aluminum Rivets
Value Pack

* 7 SKUs, 72 pieces
* Tray measures
4-1/2" x 5-1/2" x 2-1/2"

Aluminum Rivets:
12) 1/8" (.063-.125)
2) 1/8" (.188-.250)
) 1/8" (.313-.375)
) 5/32" (.126-.187)
) 5/32" (.251-.375)
3/16" (.126-.250)
3/16" (.251-.375)

Tl
<C 0,1/

[

(
(1
(
(
(
(
(

VVOON

Part # 799-446 Rivet Assortment Value Pack

* 16 SKUs, 155 pieces
* Tray measures 8-7/8" x 5-1/2" x

Aluminum: (12) 1/8" (.063-.125)

(10) 5/32" (251-.375) *
(10) 3/16" (.376-.500)

Aluminum Large Flange: (12) 1/8" (.188-.250) *

Steel: (12) 1/8" (.063-.125) *
(10) 1/8" (:251-.312)
Nylon Rivet: (6) 3/16" (.1875)

Nylon Rivet Grip: (2) 1/4" (5/32"-3/8")

Value Pack

(12) 1/8" (126-.187) *
(10) 3/16" (.126-.250) *

799-446

Ti
2O

B

(12) 1/8" (:313-.375) *
(10) 3/16" (.126-.250) *

(10) 3/16" (251-.375) *

(5) 3/16" (.251-.375)
(12) 1/8" (188-.250) *
(10) 3/16" (.251-.375)

Metric O-Rings

IVIETHICIU = iiYs

O o°o

) Q O
T Aasas

799-450

[ ——
derial Coatuency

i P/

Tt e L el

SIANUAraUERINGS

vl
| U PPeee
799-451

DORMAN

... Install Contidence

Part # 799-450
Metric 0-Rings Value Pack

* 8 SKUs, 172 pieces
* Tray measures

4-1/2" x 5-1/2" x 2-1/2"
Metric 0-Rings:

24) 5mm ID x 9mm 0D x 2mm
4) 6mm ID x 10mm OD x 2mm
) 7mm ID x 11mm OD x 2mm
) 8mm ID x 12mm OD x 2mm
) 10mm ID x 14mm 0D x 2mm
)
)
)

T
<201

10mm ID x 15mm 0D x 2.5mm
12mm ID x 17mm 0D x 2.5mm

(
(@
(
(
(
E
(12) 14mm ID x 19mm 0D x 2.5mm

2
2
2
2
2
1

r\>4>oo-l>4>

Part # 799-451
Standard 0-Rings Value Pack

* 8 SKUs, 144 pieces
* Tray measures &€
4-1/2" x 5-1/2" x 2-1/2"

Standard 0-Rings:

30) 1/4'ID x 3/8"0D x 1/16"

0) 5/16'ID x 7/16"0D x 1/16"
0) 5/16"ID x 1/2'0D x 3/32"
0) 3/8'ID x 9/16"0D x 3/32"
0) 7/16'ID x 5/8"0D x 3/32"
2) 1/2'ID x 11/16"0D x 3/32"
2)
2)
0)

110y,

9/16"ID x 3/4"0D x 3/32"
9/16"ID x 3/4"0D x 3/32"

(
(2
(
(
(
(
E
(10) 5/8"ID x 13/16"0D x 3/32"

2
2
2
1
1
1
1

Part # 799-452
Metric 0-Rings Value Pack

* 32 SKUs, 419 pieces
* Tray measures
9-3/8"W x 1-3/4"H

X 6-3/4'D <CT0,

Numbers Sizes Quantity | Numbers Sizes Quantity
On Kit 1D Section | InKit | OnKit D Section | In Kit @
R-01 3mm 1.5mm 20 R-17 20mm 3.5mm 10
R-02 4.4mm 2mm 20 R-18 22mm 3.5mm 10 O
R-03 Smm 2mm 18 R-19 23.5mm 3.5mm 10 Q
R-04 7mm 1.5mm 23 R-20 25mm 35mm | 10 |
R-05 10mm 1.5mm 23 R-21 26.5mm | 3.5mm 10 PROFESSIONAL QUALITY
R-06 13mm 1.5mm 23 R-22 28mm 3.5mm 10
R-07 10mm 2.5mm 14 R-23 30mm 3.5mm 10 BU Ng-:l(gé?ILE)
R-08 11mm 2.5mm 13 R-24 31mm 3.5mm 10
R-09 13mm 2.5mm 14 R-25 33mm 3.5mm 10
R-10 14mm 2.5mm 13 R-26 34.5mm 3.5mm 10
R-11 16mm 2.5mm 14 R-27 36mm 3.5mm 10
R-12 18mm 2.5mm 14 R-28 38mm 3.5mm 10
R-13 19mm 2.5mm 13 R-29 41mm 3.5mm 10
R-14 21mm 2.5mm 14 R-30 44mm 3.5mm 10
R-15 22mm 2.5mm 13 R-31 47mm 3.5mm 10
R-16 18mm 3.5mm 10 R-32 50mm 3.5mm 10



Value Pack  standard O-Rings

... nstall Confidence

799-453

A07 vicces

< > e

Part # 799-453
Standard 0-Rings
Value Pack

* 32 SKUs, 407 pieces

Numbers Nominal Slzes Quantity | Numb Nominal Sizes Quantity @ * Tray measures

OnKit [ D | OD tion| InKit | OnKit | D | O/D [Section| In Kit o O 9-3/8"W x 1-3/4"H x 6-3/4'D
R-01 1/8" 1/4" 1/16" 20 R-17 13/16" | 1-1/16"| 1/8" 10

R-02 316" | 516" | 116" | 20 | R-18 7/8" | 1-1/8" [ 18" | 10 o O O €TI0y,
R-03 14" | 3/8" | 116" | 20 | R-19_ [1516" |1-316"| 1/8" | 10

R-04 516" | 7716 | 116" | 20 | R-20 1 |14 18" [ 10 m
R-05 3/8" 1/2" 116" 20 R-21 1-1/16" | 1-5/16" | 1/8" 10

R-06 12" | 58" | 116" | 20 | R-22 1-1/8" | 1-3/8" | 1/8" | 10 PRngE:}S‘!%N(ﬁL"%?&Ijm

R-07 38" | 916" | 332" | 13 | R23  [1-316"| 1746 1/8" | 10

R08__ | 7/6" | 58" | 332" | 13 | R24 | 1-1/4" | 4-1/2"| 1/8" | 10 O-RINGS

R-09 1/2" |1116" | 352" | 13 | R-25  [1-516"|1-916"| 1/8" | 10

R-10 916" | 34" [ 332" | 13 | R-26 1-38" | 1-5/8" | 1/8" | 10

R-11 5/8" |1316" | 332" | 13 | R-27  [1-716"[1-11/16" 1/8" | 10

R-12_ |11/16" | 7/8" | 3/32" | 13 | R-28 1-1/2* | 1-3/4" | 1/8" | 10

R-13 3/4" | 1516" | 3/32" | 13 | R-29 1-5/8" | 1-7/8" | 1/8" | 10

R-14 13116" 1" 332" 13 R-30 1-3/4" 2 1/8" 10

R-15 7/8" |1-116" | 3/32" 13 R-31 1-7/8" | 2-1/8" 1/8" 10

R-16 34" | 1" | 18" | 10 | R32 2 [ 24" | 18" | 10

Part # 799-500
I~ ittocolll Stainless Steel Hardware

- Value Pack Al

ESSEY "dJ * 9 SKUs, 60 pieces @ VIdIntendanc J'Jr.JJJ'II#

:;EJ]”J.;..,-J LG 7
AP e Tray measures
bz 41/2"x 5-1/2" x 2-1/2" O
D S 9 Hex Head Cap Screws: (4) 5/16'-18x 1" * / Q
) Q (6) 1/4"-20 x 1-1/2" = (4) 3/8"16x 1" O Q
4 &% | HexNut: (8) 5/16" = (10) 1/4" « el
k2 g s |
(Ipre Flat Washers: (12) 1/4" * (8) 5/16" © an
DU (4) 3/8" 1)) #issas
799-500 799-550

.. m— Dt i 799-510 Al
- “DORMAN
, o g Nemaewi Stainless Steel Sheet m

Metal Screws Value Pack

SLdINIESSIS :;'HJ * 8 SKUs, 79 pieces

.4.-IJ

SIEE

\ CIEWS * Tray measures
J.lda..-d \J -}"‘J 4_1/2u X 5_1/2|| X 2_1/2||

Par.t #1799-550  (crio,
Maintenance m
Hardware
Value Pack
* 7 SKUs, 102 pieces
* Tray measures

4-1/2" x 5-1/2" x 2-1/2"
E-Clips Assortment: 18
Cotter Pins Assortment: 16
Roll Pins Assortment: 12
Speed Nuts Assortment: 10
Retaining Rings Assortment: 18

Hair Pins Assortment: 18
Push Nuts Assortment: 10

fi‘ % Stainless Steel Oval Head:
% (15) #6 x 1/2" *

(10) #8x 1/2" *

(10) #10 x 3/4" »

Stainless Steel Pan Head:
(10) #8 x 3/4" »

(10) #6 x 3/4" *

(6) #14x 1"

(10) #10x 1" « (8) #12x 1"

99200
99202
99204
99223
99239
99250
99252
99253

PART#

Description

13-1/8" Width x 2-5/16" Height x 9" Depth, Adjustable Bins
16-1/2" Width x 2-3/8" Height x 13" Depth w/Handle, 24-Bins
8" Width x 1-1/4" Height x 4" Depth, 6-Bins

13-1/8" Width x 2-5/16" Height x 9" Depth, 24-Bins

13-1/8" Width x 2-5/16" Height x 9" Depth, 12-Bins

13-1/8" Width x 2-5/16" Height x 9" Depth, 16-Bins

11" Width x 1-3/4" Height x 6-3/4" Depth, 12-Bins

11" Width x 1-3/4" Height x 6-3/4" Depth, 18-Bins




799-323

Part # 799-323 E-Clips and Snap Rings Value Pack

* 16 SKUs, 305 pieces &<lloy,
 Tray measures 8-7/8" x 5-1/2"x 1"

E-Clips: (25) 1/8" © (25) 5/32" = (25) 3/16" = (25) 1/4" *

(20) 5/16" = (20) 3/8" = (15) 1/2" = (10) 3/4"

Internal Snap Rings: (25) 1/4" * (20) 5/16" = (20) 3/8" = (15) 1/2"
External Snap Rings: (20) 3/8" * (15) 5/8" * (15) 3/4" * (10) 1"

2o dl Part # 799-335 sSHoy,
I A:TYd Washers Value Pack
* 8 SKUs, 94 pieces
* Tray measures

4-1/2"x 5-1/2" x 2-1/2"
Flat Washers: (16) 1/4" ¢ (10) 5/16" ©
(8) 3/8" * (4) 7/16"
Split Washers: (20) 1/4" « (16) 5/16" ©
(12) 3/8" * (8) 1/2"

799-335

Part # 799-350 &CToy,
| Vacuum Caps
| Value Pack
* 6 SKUs, 30 pieces
* Tray measures
4-1/2"x 5-1/2" x 2-1/2"
Vacuum Caps: (5) 3/16" * (5) 7/32" ©
(5) 1/4" * (5) 5/16" = (5) 3/8"
(5) 5/32"

799-350

Part # 799-355 <TI0y,
Vacuum Connectors
Value Pack
* 8 SKUs, 65 pieces
* Tray measures
4-1/2" x 5-1/2" x 2-1/2"
Tee Connectors: (5) 5/32" * (5) 3/16"
Y Connectors: (5) 3/16"
Straight Connectors: (10) 1/8" ©
(10) 3/16" = (10) 1/4" *
(10) 1/4"x 1/8" = (10) 1/4"x 3/16"

799-360

Part # 799-360 Home Assortment Value Pack

* 16 SKUs, over 360 pieces

e Tray measures 8-7/8" x 5-1/2"x 1"

Cup Hooks - Brass: (8) 7/8" Push Pins: 15

Cup Hooks - White: (8) 7/8" Thumb Tacks: 20

Picture Hangers 10 Ibs.: 12 Plastic Anchors #4: (12) #8 w/Screws
Picture Hangers 20 Ibs.: 12 Plastic Anchors #10: (8) #14 w/Screws

Brads & Nails: .05 Ib - Brads 3/4" * .05 Ib - Brads 1" * .05 Ib - Brads 1-1/2"
Nails 5/8" © .05 Ib - Nails 1"  Nails 1-1/2"

Sheet Metal Screws: (30) #6 x 1/2" = (9) #10x 1-1/2"
Black Drywall Screws: (15) #6 x 1-5/8"
Wood Screws: (22) #8 x 1"

/&= Tl Part # 799-420 «CT10y,
Cotter Pins

~ Value Pack

* 7 SKUs, 106 pieces

* Tray measures

4-1/2" x 5-1/2" x 2-1/2"
Cotter Pins: (20) 1/16"x 1" ©
(16) 3/32" x 3/4" = (16) 3/32"x 1-1/2" *
(16) 7/64" x 1" = (10) 1/8"x 1-1/2"
(20) 1/8"x 2" * (8) 5/32"x 1-1/2"

Part # 799-430 CTI0y,
Stove Bolts with Nuts

Value Pack

* 13 SKUs, 108 pieces

* Tray measures
4-1/2" x 5-1/2" x 2-1/2"

Bolts: (6) #8-32x 1/2" ©

(6) #8-32 x 3/4" * (6) #10-24x 1" ¢
(6) #10-24 x 1-1/2" = (4)1/4"-20x 1" *
(4) 1/4"-20 x 1-1/2" © (4) 1/4"-20 x 2"
Hex Nuts: (12) #8-32 * (12) #10-24
* (12) 1/4"-20

Flat Washers: (12) #8 * (12) #10 ©
(12) 1/4"

Part # 799-440 &<Tloy,
4 Clamps Value Pack

* 7 SKUs, 35 pieces
 Tray measures
4-1/2" x 5-1/2" x 2-1/2"

@ Q‘ Hose Clamps (Fuel Injected): 5
\ Hose Clamps (Miniature): 5
Q Hose Clamps: (5) 17/32"-5/8"
Corbin Clamp: (5) 3/8"  (5) 9/16" *

AN (5) 5/8" «(5) 1/2"

798-440

799-430

g
3
v
-3
g
=4
3
S
@

57



"
3 e Camnmnecy
fes, % :

[ ]
=i L g Y
F

]

Part # 799-445
Aluminum Rivets
Value Pack

* 7 SKUs, 72 pieces
* Tray measures
4-1/2" x 5-1/2" x 2-1/2"

Aluminum Rivets:
12) 1/8" (.063-.125)
2) 1/8" (.188-.250)
) 1/8" (.313-.375)
) 5/32" (.126-.187)
) 5/32" (.251-.375)
3/16" (.126-.250)
3/16" (.251-.375)

Tl
<C 0,1/

[

(
(1
(
(
(
(
(

VVOON

Part # 799-446 Rivet Assortment Value Pack

* 16 SKUs, 155 pieces
* Tray measures 8-7/8" x 5-1/2" x

Aluminum: (12) 1/8" (.063-.125)

(10) 5/32" (251-.375) *
(10) 3/16" (.376-.500)

Aluminum Large Flange: (12) 1/8" (.188-.250) *

Steel: (12) 1/8" (.063-.125) *
(10) 1/8" (:251-.312)
Nylon Rivet: (6) 3/16" (.1875)

Nylon Rivet Grip: (2) 1/4" (5/32"-3/8")

Value Pack

(12) 1/8" (126-.187) *
(10) 3/16" (.126-.250) *

799-446

Ti
2O

B

(12) 1/8" (:313-.375) *
(10) 3/16" (.126-.250) *

(10) 3/16" (251-.375) *

(5) 3/16" (.251-.375)
(12) 1/8" (188-.250) *
(10) 3/16" (.251-.375)

Metric O-Rings

IVIETHICIU = iiYs

O o°o

) Q O
T Aasas

799-450

[ ——
derial Coatuency

i P/

Tt e L el

SIANUAraUERINGS

vl
| U PPeee
799-451

DORMAN

... Install Contidence

Part # 799-450
Metric 0-Rings Value Pack

* 8 SKUs, 172 pieces
* Tray measures

4-1/2" x 5-1/2" x 2-1/2"
Metric 0-Rings:

24) 5mm ID x 9mm 0D x 2mm
4) 6mm ID x 10mm OD x 2mm
) 7mm ID x 11mm OD x 2mm
) 8mm ID x 12mm OD x 2mm
) 10mm ID x 14mm 0D x 2mm
)
)
)

T
<201

10mm ID x 15mm 0D x 2.5mm
12mm ID x 17mm 0D x 2.5mm

(
(@
(
(
(
E
(12) 14mm ID x 19mm 0D x 2.5mm

2
2
2
2
2
1

r\>4>oo-l>4>

Part # 799-451
Standard 0-Rings Value Pack

* 8 SKUs, 144 pieces
* Tray measures &€
4-1/2" x 5-1/2" x 2-1/2"

Standard 0-Rings:

30) 1/4'ID x 3/8"0D x 1/16"

0) 5/16'ID x 7/16"0D x 1/16"
0) 5/16"ID x 1/2'0D x 3/32"
0) 3/8'ID x 9/16"0D x 3/32"
0) 7/16'ID x 5/8"0D x 3/32"
2) 1/2'ID x 11/16"0D x 3/32"
2)
2)
0)

110y,

9/16"ID x 3/4"0D x 3/32"
9/16"ID x 3/4"0D x 3/32"

(
(2
(
(
(
(
E
(10) 5/8"ID x 13/16"0D x 3/32"

2
2
2
1
1
1
1

Part # 799-452
Metric 0-Rings Value Pack

* 32 SKUs, 419 pieces
* Tray measures
9-3/8"W x 1-3/4"H

X 6-3/4'D <CT0,

Numbers Sizes Quantity | Numbers Sizes Quantity
On Kit 1D Section | InKit | OnKit D Section | In Kit @
R-01 3mm 1.5mm 20 R-17 20mm 3.5mm 10
R-02 4.4mm 2mm 20 R-18 22mm 3.5mm 10 O
R-03 Smm 2mm 18 R-19 23.5mm 3.5mm 10 Q
R-04 7mm 1.5mm 23 R-20 25mm 35mm | 10 |
R-05 10mm 1.5mm 23 R-21 26.5mm | 3.5mm 10 PROFESSIONAL QUALITY
R-06 13mm 1.5mm 23 R-22 28mm 3.5mm 10
R-07 10mm 2.5mm 14 R-23 30mm 3.5mm 10 BU Ng-:l(gé?ILE)
R-08 11mm 2.5mm 13 R-24 31mm 3.5mm 10
R-09 13mm 2.5mm 14 R-25 33mm 3.5mm 10
R-10 14mm 2.5mm 13 R-26 34.5mm 3.5mm 10
R-11 16mm 2.5mm 14 R-27 36mm 3.5mm 10
R-12 18mm 2.5mm 14 R-28 38mm 3.5mm 10
R-13 19mm 2.5mm 13 R-29 41mm 3.5mm 10
R-14 21mm 2.5mm 14 R-30 44mm 3.5mm 10
R-15 22mm 2.5mm 13 R-31 47mm 3.5mm 10
R-16 18mm 3.5mm 10 R-32 50mm 3.5mm 10



Value Pack  standard O-Rings

... nstall Confidence

799-453

A07 vicces

< > e

Part # 799-453
Standard 0-Rings
Value Pack

* 32 SKUs, 407 pieces

Numbers Nominal Slzes Quantity | Numb Nominal Sizes Quantity @ * Tray measures

OnKit [ D | OD tion| InKit | OnKit | D | O/D [Section| In Kit o O 9-3/8"W x 1-3/4"H x 6-3/4'D
R-01 1/8" 1/4" 1/16" 20 R-17 13/16" | 1-1/16"| 1/8" 10

R-02 316" | 516" | 116" | 20 | R-18 7/8" | 1-1/8" [ 18" | 10 o O O €TI0y,
R-03 14" | 3/8" | 116" | 20 | R-19_ [1516" |1-316"| 1/8" | 10

R-04 516" | 7716 | 116" | 20 | R-20 1 |14 18" [ 10 m
R-05 3/8" 1/2" 116" 20 R-21 1-1/16" | 1-5/16" | 1/8" 10

R-06 12" | 58" | 116" | 20 | R-22 1-1/8" | 1-3/8" | 1/8" | 10 PRngE:}S‘!%N(ﬁL"%?&Ijm

R-07 38" | 916" | 332" | 13 | R23  [1-316"| 1746 1/8" | 10

R08__ | 7/6" | 58" | 332" | 13 | R24 | 1-1/4" | 4-1/2"| 1/8" | 10 O-RINGS

R-09 1/2" |1116" | 352" | 13 | R-25  [1-516"|1-916"| 1/8" | 10

R-10 916" | 34" [ 332" | 13 | R-26 1-38" | 1-5/8" | 1/8" | 10

R-11 5/8" |1316" | 332" | 13 | R-27  [1-716"[1-11/16" 1/8" | 10

R-12_ |11/16" | 7/8" | 3/32" | 13 | R-28 1-1/2* | 1-3/4" | 1/8" | 10

R-13 3/4" | 1516" | 3/32" | 13 | R-29 1-5/8" | 1-7/8" | 1/8" | 10

R-14 13116" 1" 332" 13 R-30 1-3/4" 2 1/8" 10

R-15 7/8" |1-116" | 3/32" 13 R-31 1-7/8" | 2-1/8" 1/8" 10

R-16 34" | 1" | 18" | 10 | R32 2 [ 24" | 18" | 10

Part # 799-500
I~ ittocolll Stainless Steel Hardware

- Value Pack Al

ESSEY "dJ * 9 SKUs, 60 pieces @ VIdIntendanc J'Jr.JJJ'II#

:;EJ]”J.;..,-J LG 7
AP e Tray measures
bz 41/2"x 5-1/2" x 2-1/2" O
D S 9 Hex Head Cap Screws: (4) 5/16'-18x 1" * / Q
) Q (6) 1/4"-20 x 1-1/2" = (4) 3/8"16x 1" O Q
4 &% | HexNut: (8) 5/16" = (10) 1/4" « el
k2 g s |
(Ipre Flat Washers: (12) 1/4" * (8) 5/16" © an
DU (4) 3/8" 1)) #issas
799-500 799-550

.. m— Dt i 799-510 Al
- “DORMAN
, o g Nemaewi Stainless Steel Sheet m

Metal Screws Value Pack

SLdINIESSIS :;'HJ * 8 SKUs, 79 pieces

.4.-IJ

SIEE

\ CIEWS * Tray measures
J.lda..-d \J -}"‘J 4_1/2u X 5_1/2|| X 2_1/2||

Par.t #1799-550  (crio,
Maintenance m
Hardware
Value Pack
* 7 SKUs, 102 pieces
* Tray measures

4-1/2" x 5-1/2" x 2-1/2"
E-Clips Assortment: 18
Cotter Pins Assortment: 16
Roll Pins Assortment: 12
Speed Nuts Assortment: 10
Retaining Rings Assortment: 18

Hair Pins Assortment: 18
Push Nuts Assortment: 10

fi‘ % Stainless Steel Oval Head:
% (15) #6 x 1/2" *

(10) #8x 1/2" *

(10) #10 x 3/4" »

Stainless Steel Pan Head:
(10) #8 x 3/4" »

(10) #6 x 3/4" *

(6) #14x 1"

(10) #10x 1" « (8) #12x 1"

99200
99202
99204
99223
99239
99250
99252
99253

PART#

Description

13-1/8" Width x 2-5/16" Height x 9" Depth, Adjustable Bins
16-1/2" Width x 2-3/8" Height x 13" Depth w/Handle, 24-Bins
8" Width x 1-1/4" Height x 4" Depth, 6-Bins

13-1/8" Width x 2-5/16" Height x 9" Depth, 24-Bins

13-1/8" Width x 2-5/16" Height x 9" Depth, 12-Bins

13-1/8" Width x 2-5/16" Height x 9" Depth, 16-Bins

11" Width x 1-3/4" Height x 6-3/4" Depth, 12-Bins

11" Width x 1-3/4" Height x 6-3/4" Depth, 18-Bins




Paris Store Drawer Assortments

EMPTY HARDWARE OPTIONS - PARTS STORE STOCK

001-005-C Left Countertop Five-Frame (28" x 87-1/2") Width
001-015-C Center Countertop Five-Frame (28" x 87-1/2") Width
001-020-C Separate Countertop Five-Frame (28" x 87-1/2") Width
001-060-C Left Countertop Three-Frame (28" x 53") Width
001-070-C Center Countertop Three-Frame (28" x 53") Width
001-075-C Separate Countertop Three-Frame (28" x 53") Width
005-900 Orange Frames (No Drawers)

005-901 Black Frames (No Drawers)
005-910 Empty Drawer W/ 12 Dividers
005-911 Empty Drawer W/ Blank Decal and Divider Labels

005-915 6" High Base

005-920 End Panel

005-922 12-5/8" Long Divider (Full Length)
005-925 3-5/8" Drawer Divider

005-930-D Blank Drawer Decal

005-930-T Blank Drawer Labels (Tabs)

EMPTY HARDWARE OPTIONS - DEALER-PAK

PART# Description

001-560-C  Top of Dealer-Pak Cabinet
001-555-C  Dealer-Pak 60-Unit Cabinet
001-565-C  Bottom of Dealer-Pak Cabinet
002-565-C  1/4" USS Nuts

Parts Store Drawer Assortments

EMPTY HARDWARE OPTIONS - INSTALLER DRAWERS

PART# Description

003-545-E Black/Orange Dorman Decal
1099235 8" Black Base

9999212 4 Drawer Empty Cabinet
9999213 2 Drawer Empty Cabinet
9999801-1 Adjustable Dividers, Single Pack
9999909 Adjustable Black Drawer
9999916 16-Compartment Drawer
9999920 20-Compartment Drawer
9999924 24-Compartment Drawer
9999932 32-Compartment Drawer

OPEN HOLE BINS

PART# Description

9999972 72-Hole Bin Black
015-048 16-Hole Bin, 9-1/2" High x 35-1/4" Wide x 12" Deep

015-049 40-Hole Bin, 21-1/2" High x 35-1/4" Wide x 12" Deep
015-050 72-Hole Bin, 42" High x 35-1/4" Wide x 12" Deep
015-051 Steel Base Unit for use with open hole bins

015-055 Bin Labels, 1-1/4" x 2-7/8"

EMPTY HARDWARE OPTIONS - TECH TRAYS
PART# Description

99200 13-1/8" Width x 2-5/16" Height x 9" Depth, Adjustable Bins
99202 16-1/2" Width x 2-3/8" Height x 13" Depth w/Handle, 24-Bins
99204 8" Width x 1-1/4" Height x 4" Depth, 6-Bins

99223 13-1/8" Width x 2-5/16" Height x 9" Depth, 24-Bins

99239 13-1/8" Width x 2-5/16" Height x 9" Depth, 12-Bins

99250 13-1/8" Width x 2-5/16" Height x 9" Depth, 16-Bins

99252 11" Width x 1-3/4" Height x 6-3/4" Depth, 12-Bins

99253 11" Width x 1-3/4" Height x 6-3/4" Depth, 18-Bins

60




799-323

Part # 799-323 E-Clips and Snap Rings Value Pack

* 16 SKUs, 305 pieces &<lloy,
 Tray measures 8-7/8" x 5-1/2"x 1"

E-Clips: (25) 1/8" © (25) 5/32" = (25) 3/16" = (25) 1/4" *

(20) 5/16" = (20) 3/8" = (15) 1/2" = (10) 3/4"

Internal Snap Rings: (25) 1/4" * (20) 5/16" = (20) 3/8" = (15) 1/2"
External Snap Rings: (20) 3/8" * (15) 5/8" * (15) 3/4" * (10) 1"

2o dl Part # 799-335 sSHoy,
I A:TYd Washers Value Pack
* 8 SKUs, 94 pieces
* Tray measures

4-1/2"x 5-1/2" x 2-1/2"
Flat Washers: (16) 1/4" ¢ (10) 5/16" ©
(8) 3/8" * (4) 7/16"
Split Washers: (20) 1/4" « (16) 5/16" ©
(12) 3/8" * (8) 1/2"

799-335

Part # 799-350 &CToy,
| Vacuum Caps
| Value Pack
* 6 SKUs, 30 pieces
* Tray measures
4-1/2"x 5-1/2" x 2-1/2"
Vacuum Caps: (5) 3/16" * (5) 7/32" ©
(5) 1/4" * (5) 5/16" = (5) 3/8"
(5) 5/32"

799-350

Part # 799-355 <TI0y,
Vacuum Connectors
Value Pack
* 8 SKUs, 65 pieces
* Tray measures
4-1/2" x 5-1/2" x 2-1/2"
Tee Connectors: (5) 5/32" * (5) 3/16"
Y Connectors: (5) 3/16"
Straight Connectors: (10) 1/8" ©
(10) 3/16" = (10) 1/4" *
(10) 1/4"x 1/8" = (10) 1/4"x 3/16"

799-360

Part # 799-360 Home Assortment Value Pack

* 16 SKUs, over 360 pieces

e Tray measures 8-7/8" x 5-1/2"x 1"

Cup Hooks - Brass: (8) 7/8" Push Pins: 15

Cup Hooks - White: (8) 7/8" Thumb Tacks: 20

Picture Hangers 10 Ibs.: 12 Plastic Anchors #4: (12) #8 w/Screws
Picture Hangers 20 Ibs.: 12 Plastic Anchors #10: (8) #14 w/Screws

Brads & Nails: .05 Ib - Brads 3/4" * .05 Ib - Brads 1" * .05 Ib - Brads 1-1/2"
Nails 5/8" © .05 Ib - Nails 1"  Nails 1-1/2"

Sheet Metal Screws: (30) #6 x 1/2" = (9) #10x 1-1/2"
Black Drywall Screws: (15) #6 x 1-5/8"
Wood Screws: (22) #8 x 1"

/&= Tl Part # 799-420 «CT10y,
Cotter Pins

~ Value Pack

* 7 SKUs, 106 pieces

* Tray measures

4-1/2" x 5-1/2" x 2-1/2"
Cotter Pins: (20) 1/16"x 1" ©
(16) 3/32" x 3/4" = (16) 3/32"x 1-1/2" *
(16) 7/64" x 1" = (10) 1/8"x 1-1/2"
(20) 1/8"x 2" * (8) 5/32"x 1-1/2"

Part # 799-430 CTI0y,
Stove Bolts with Nuts

Value Pack

* 13 SKUs, 108 pieces

* Tray measures
4-1/2" x 5-1/2" x 2-1/2"

Bolts: (6) #8-32x 1/2" ©

(6) #8-32 x 3/4" * (6) #10-24x 1" ¢
(6) #10-24 x 1-1/2" = (4)1/4"-20x 1" *
(4) 1/4"-20 x 1-1/2" © (4) 1/4"-20 x 2"
Hex Nuts: (12) #8-32 * (12) #10-24
* (12) 1/4"-20

Flat Washers: (12) #8 * (12) #10 ©
(12) 1/4"

Part # 799-440 &<Tloy,
4 Clamps Value Pack

* 7 SKUs, 35 pieces
 Tray measures
4-1/2" x 5-1/2" x 2-1/2"

@ Q‘ Hose Clamps (Fuel Injected): 5
\ Hose Clamps (Miniature): 5
Q Hose Clamps: (5) 17/32"-5/8"
Corbin Clamp: (5) 3/8"  (5) 9/16" *

AN (5) 5/8" «(5) 1/2"

798-440

799-430

g
3
v
-3
g
=4
3
S
@

57



"
3 e Camnmnecy
fes, % :

[ ]
=i L g Y
F

]

Part # 799-445
Aluminum Rivets
Value Pack

* 7 SKUs, 72 pieces
* Tray measures
4-1/2" x 5-1/2" x 2-1/2"

Aluminum Rivets:
12) 1/8" (.063-.125)
2) 1/8" (.188-.250)
) 1/8" (.313-.375)
) 5/32" (.126-.187)
) 5/32" (.251-.375)
3/16" (.126-.250)
3/16" (.251-.375)

Tl
<C 0,1/

[

(
(1
(
(
(
(
(

VVOON

Part # 799-446 Rivet Assortment Value Pack

* 16 SKUs, 155 pieces
* Tray measures 8-7/8" x 5-1/2" x

Aluminum: (12) 1/8" (.063-.125)

(10) 5/32" (251-.375) *
(10) 3/16" (.376-.500)

Aluminum Large Flange: (12) 1/8" (.188-.250) *

Steel: (12) 1/8" (.063-.125) *
(10) 1/8" (:251-.312)
Nylon Rivet: (6) 3/16" (.1875)

Nylon Rivet Grip: (2) 1/4" (5/32"-3/8")

Value Pack

(12) 1/8" (126-.187) *
(10) 3/16" (.126-.250) *

799-446

Ti
2O

B

(12) 1/8" (:313-.375) *
(10) 3/16" (.126-.250) *

(10) 3/16" (251-.375) *

(5) 3/16" (.251-.375)
(12) 1/8" (188-.250) *
(10) 3/16" (.251-.375)

Metric O-Rings

IVIETHICIU = iiYs

O o°o

) Q O
T Aasas

799-450

[ ——
derial Coatuency

i P/

Tt e L el

SIANUAraUERINGS

vl
| U PPeee
799-451

DORMAN

... Install Contidence

Part # 799-450
Metric 0-Rings Value Pack

* 8 SKUs, 172 pieces
* Tray measures

4-1/2" x 5-1/2" x 2-1/2"
Metric 0-Rings:

24) 5mm ID x 9mm 0D x 2mm
4) 6mm ID x 10mm OD x 2mm
) 7mm ID x 11mm OD x 2mm
) 8mm ID x 12mm OD x 2mm
) 10mm ID x 14mm 0D x 2mm
)
)
)

T
<201

10mm ID x 15mm 0D x 2.5mm
12mm ID x 17mm 0D x 2.5mm

(
(@
(
(
(
E
(12) 14mm ID x 19mm 0D x 2.5mm

2
2
2
2
2
1

r\>4>oo-l>4>

Part # 799-451
Standard 0-Rings Value Pack

* 8 SKUs, 144 pieces
* Tray measures &€
4-1/2" x 5-1/2" x 2-1/2"

Standard 0-Rings:

30) 1/4'ID x 3/8"0D x 1/16"

0) 5/16'ID x 7/16"0D x 1/16"
0) 5/16"ID x 1/2'0D x 3/32"
0) 3/8'ID x 9/16"0D x 3/32"
0) 7/16'ID x 5/8"0D x 3/32"
2) 1/2'ID x 11/16"0D x 3/32"
2)
2)
0)

110y,

9/16"ID x 3/4"0D x 3/32"
9/16"ID x 3/4"0D x 3/32"

(
(2
(
(
(
(
E
(10) 5/8"ID x 13/16"0D x 3/32"

2
2
2
1
1
1
1

Part # 799-452
Metric 0-Rings Value Pack

* 32 SKUs, 419 pieces
* Tray measures
9-3/8"W x 1-3/4"H

X 6-3/4'D <CT0,

Numbers Sizes Quantity | Numbers Sizes Quantity
On Kit 1D Section | InKit | OnKit D Section | In Kit @
R-01 3mm 1.5mm 20 R-17 20mm 3.5mm 10
R-02 4.4mm 2mm 20 R-18 22mm 3.5mm 10 O
R-03 Smm 2mm 18 R-19 23.5mm 3.5mm 10 Q
R-04 7mm 1.5mm 23 R-20 25mm 35mm | 10 |
R-05 10mm 1.5mm 23 R-21 26.5mm | 3.5mm 10 PROFESSIONAL QUALITY
R-06 13mm 1.5mm 23 R-22 28mm 3.5mm 10
R-07 10mm 2.5mm 14 R-23 30mm 3.5mm 10 BU Ng-:l(gé?ILE)
R-08 11mm 2.5mm 13 R-24 31mm 3.5mm 10
R-09 13mm 2.5mm 14 R-25 33mm 3.5mm 10
R-10 14mm 2.5mm 13 R-26 34.5mm 3.5mm 10
R-11 16mm 2.5mm 14 R-27 36mm 3.5mm 10
R-12 18mm 2.5mm 14 R-28 38mm 3.5mm 10
R-13 19mm 2.5mm 13 R-29 41mm 3.5mm 10
R-14 21mm 2.5mm 14 R-30 44mm 3.5mm 10
R-15 22mm 2.5mm 13 R-31 47mm 3.5mm 10
R-16 18mm 3.5mm 10 R-32 50mm 3.5mm 10



Value Pack  standard O-Rings

... nstall Confidence

799-453

A07 vicces

< > e

Part # 799-453
Standard 0-Rings
Value Pack

* 32 SKUs, 407 pieces

Numbers Nominal Slzes Quantity | Numb Nominal Sizes Quantity @ * Tray measures

OnKit [ D | OD tion| InKit | OnKit | D | O/D [Section| In Kit o O 9-3/8"W x 1-3/4"H x 6-3/4'D
R-01 1/8" 1/4" 1/16" 20 R-17 13/16" | 1-1/16"| 1/8" 10

R-02 316" | 516" | 116" | 20 | R-18 7/8" | 1-1/8" [ 18" | 10 o O O €TI0y,
R-03 14" | 3/8" | 116" | 20 | R-19_ [1516" |1-316"| 1/8" | 10

R-04 516" | 7716 | 116" | 20 | R-20 1 |14 18" [ 10 m
R-05 3/8" 1/2" 116" 20 R-21 1-1/16" | 1-5/16" | 1/8" 10

R-06 12" | 58" | 116" | 20 | R-22 1-1/8" | 1-3/8" | 1/8" | 10 PRngE:}S‘!%N(ﬁL"%?&Ijm

R-07 38" | 916" | 332" | 13 | R23  [1-316"| 1746 1/8" | 10

R08__ | 7/6" | 58" | 332" | 13 | R24 | 1-1/4" | 4-1/2"| 1/8" | 10 O-RINGS

R-09 1/2" |1116" | 352" | 13 | R-25  [1-516"|1-916"| 1/8" | 10

R-10 916" | 34" [ 332" | 13 | R-26 1-38" | 1-5/8" | 1/8" | 10

R-11 5/8" |1316" | 332" | 13 | R-27  [1-716"[1-11/16" 1/8" | 10

R-12_ |11/16" | 7/8" | 3/32" | 13 | R-28 1-1/2* | 1-3/4" | 1/8" | 10

R-13 3/4" | 1516" | 3/32" | 13 | R-29 1-5/8" | 1-7/8" | 1/8" | 10

R-14 13116" 1" 332" 13 R-30 1-3/4" 2 1/8" 10

R-15 7/8" |1-116" | 3/32" 13 R-31 1-7/8" | 2-1/8" 1/8" 10

R-16 34" | 1" | 18" | 10 | R32 2 [ 24" | 18" | 10

Part # 799-500
I~ ittocolll Stainless Steel Hardware

- Value Pack Al

ESSEY "dJ * 9 SKUs, 60 pieces @ VIdIntendanc J'Jr.JJJ'II#

:;EJ]”J.;..,-J LG 7
AP e Tray measures
bz 41/2"x 5-1/2" x 2-1/2" O
D S 9 Hex Head Cap Screws: (4) 5/16'-18x 1" * / Q
) Q (6) 1/4"-20 x 1-1/2" = (4) 3/8"16x 1" O Q
4 &% | HexNut: (8) 5/16" = (10) 1/4" « el
k2 g s |
(Ipre Flat Washers: (12) 1/4" * (8) 5/16" © an
DU (4) 3/8" 1)) #issas
799-500 799-550

.. m— Dt i 799-510 Al
- “DORMAN
, o g Nemaewi Stainless Steel Sheet m

Metal Screws Value Pack

SLdINIESSIS :;'HJ * 8 SKUs, 79 pieces

.4.-IJ

SIEE

\ CIEWS * Tray measures
J.lda..-d \J -}"‘J 4_1/2u X 5_1/2|| X 2_1/2||

Par.t #1799-550  (crio,
Maintenance m
Hardware
Value Pack
* 7 SKUs, 102 pieces
* Tray measures

4-1/2" x 5-1/2" x 2-1/2"
E-Clips Assortment: 18
Cotter Pins Assortment: 16
Roll Pins Assortment: 12
Speed Nuts Assortment: 10
Retaining Rings Assortment: 18

Hair Pins Assortment: 18
Push Nuts Assortment: 10

fi‘ % Stainless Steel Oval Head:
% (15) #6 x 1/2" *

(10) #8x 1/2" *

(10) #10 x 3/4" »

Stainless Steel Pan Head:
(10) #8 x 3/4" »

(10) #6 x 3/4" *

(6) #14x 1"

(10) #10x 1" « (8) #12x 1"

99200
99202
99204
99223
99239
99250
99252
99253

PART#

Description

13-1/8" Width x 2-5/16" Height x 9" Depth, Adjustable Bins
16-1/2" Width x 2-3/8" Height x 13" Depth w/Handle, 24-Bins
8" Width x 1-1/4" Height x 4" Depth, 6-Bins

13-1/8" Width x 2-5/16" Height x 9" Depth, 24-Bins

13-1/8" Width x 2-5/16" Height x 9" Depth, 12-Bins

13-1/8" Width x 2-5/16" Height x 9" Depth, 16-Bins

11" Width x 1-3/4" Height x 6-3/4" Depth, 12-Bins

11" Width x 1-3/4" Height x 6-3/4" Depth, 18-Bins




Paris Store Drawer Assortments

EMPTY HARDWARE OPTIONS - PARTS STORE STOCK

001-005-C Left Countertop Five-Frame (28" x 87-1/2") Width
001-015-C Center Countertop Five-Frame (28" x 87-1/2") Width
001-020-C Separate Countertop Five-Frame (28" x 87-1/2") Width
001-060-C Left Countertop Three-Frame (28" x 53") Width
001-070-C Center Countertop Three-Frame (28" x 53") Width
001-075-C Separate Countertop Three-Frame (28" x 53") Width
005-900 Orange Frames (No Drawers)

005-901 Black Frames (No Drawers)
005-910 Empty Drawer W/ 12 Dividers
005-911 Empty Drawer W/ Blank Decal and Divider Labels

005-915 6" High Base

005-920 End Panel

005-922 12-5/8" Long Divider (Full Length)
005-925 3-5/8" Drawer Divider

005-930-D Blank Drawer Decal

005-930-T Blank Drawer Labels (Tabs)

EMPTY HARDWARE OPTIONS - DEALER-PAK

PART# Description

001-560-C  Top of Dealer-Pak Cabinet
001-555-C  Dealer-Pak 60-Unit Cabinet
001-565-C  Bottom of Dealer-Pak Cabinet
002-565-C  1/4" USS Nuts

Parts Store Drawer Assortments

EMPTY HARDWARE OPTIONS - INSTALLER DRAWERS

PART# Description

003-545-E Black/Orange Dorman Decal
1099235 8" Black Base

9999212 4 Drawer Empty Cabinet
9999213 2 Drawer Empty Cabinet
9999801-1 Adjustable Dividers, Single Pack
9999909 Adjustable Black Drawer
9999916 16-Compartment Drawer
9999920 20-Compartment Drawer
9999924 24-Compartment Drawer
9999932 32-Compartment Drawer

OPEN HOLE BINS

PART# Description

9999972 72-Hole Bin Black
015-048 16-Hole Bin, 9-1/2" High x 35-1/4" Wide x 12" Deep

015-049 40-Hole Bin, 21-1/2" High x 35-1/4" Wide x 12" Deep
015-050 72-Hole Bin, 42" High x 35-1/4" Wide x 12" Deep
015-051 Steel Base Unit for use with open hole bins

015-055 Bin Labels, 1-1/4" x 2-7/8"

EMPTY HARDWARE OPTIONS - TECH TRAYS
PART# Description

99200 13-1/8" Width x 2-5/16" Height x 9" Depth, Adjustable Bins
99202 16-1/2" Width x 2-3/8" Height x 13" Depth w/Handle, 24-Bins
99204 8" Width x 1-1/4" Height x 4" Depth, 6-Bins

99223 13-1/8" Width x 2-5/16" Height x 9" Depth, 24-Bins

99239 13-1/8" Width x 2-5/16" Height x 9" Depth, 12-Bins

99250 13-1/8" Width x 2-5/16" Height x 9" Depth, 16-Bins

99252 11" Width x 1-3/4" Height x 6-3/4" Depth, 12-Bins

99253 11" Width x 1-3/4" Height x 6-3/4" Depth, 18-Bins

60




ALPHABETICAL INDEX

Description Part #

2005 Wheel Hardware Update.... ....008-642..
Aluminum Rivets Value Pack.......... ....199-445 .
Cabin Air Filter Hardware Tech Tray .. ....030-180...
Clamps Value Pack...........cccocovvieunnns ....199-440 ..
Class 8/8.8 Metric Hardware Value Pack .. ...7199-321 ..
Control Knobs .........cccevevevivcvereieiiee.
Coolant 0-Rings Tech Tray
Cotter Pins Tech Tray ........
Cotter Pins Value Pack ..........cccccoveirercerinennn.
Dealer-Pak® Fasteners - Standard Grade 8 Coarse ..
Dealer-Pak® Fasteners, Metric Class 8.8 .................
Dealer-Pak® Fasteners, Metric Class 8.8 - Fine Pitch...
Dealer-Pak® Fasteners, Metric Class 8.8 - Fine Pitch...
Dealer-Pak® Maintenance Hardware......................
Dealer-Pak® Standard Fasteners, Grade 5.....
Dealer-Pak® Standard Fasteners, Grade 5 - Full....
Dealer-Pak® Standard Fasteners, Grade 5 - Popular.
Dealer-Pak® Wheel Hardware..............coccooeve.....
Distributor 0-Rings Tech Tray....
Door Hinge Pins.........c.ccccc.e.
DORMAN Body Hardware...........cccocvevireverreenirrennnnns
Dorman Chrome Wheel Hardware (Lock And Nut Sets)
Dorman Chrome Wheel Hardware (Lock Sets).........
Dorman Fasteners - Flat Wall........................
DORMAN License Plate Hardware .
Dorman® Quick Disconnect®....
Double Ended Studs..................
E-Clips and Snap Rings Value Pack ..
Exhaust Hardware......................
Expansion Plugs................
EZ Drain™ Qil Drain Valves....
Ford Body Retainers Tech Tray .........
GM/Chrysler Body Retainers Tech Tray.
Heater Hose Connectors...................
Home Assortment Value Pack ...
Import Body Retainers Tech Tray...
Installer-Pak® Chrome Wheel Nuts...........
Installer-Pak® Metric Double-Ended Studs
Installer-Pak® Qil Drain Plug Gaskets............
Installer-Pak® Qil Drain Plugs with Gaskets .........
Installer-Pak® Standard Double-Ended Wheel Studs ............ .
Installer-Pak® Wheel Hardware - Fast (Only Top Movers).....047-616
Installer-Pak® Wheel Hardware -

Popular (Complete COVErage).........ccouueurureneenencunineneineneens 047-617
License Plate Hardware Tech Tray .........c.ccc..... ....030-400 ..

Maintenance Fasteners - Clevis, Cotter & Roll Pins... ....008-171..
Maintenance Hardware Value Pack.................... ....7199-550 ..
Metric and Standard Double Ended Studs. ....008-677
Metric and Standard Double Ended Studs...........ccccoevrvnnennd 008-678
Metric Automotive Class 10/10.9 Hex Head Cap Screws,

Nuts, Washers M12 thru M16..........cocooveeeciieiieceene 008-161.............. 7
Metric Automotive Class 10/10.9 Hex Head Cap Screws,

Nuts, Washers M6 thru M10..........ccccoovvvieciicceean, 0
Metric Body Bolts and Nuts Tech Tray ......
Metric Class 8 DIN Hardware Value Pack..
Metric Class 8 JIS Hardware Value Pack................ccccoevnvee.
Metric Class 8/8.8 Hex Head Cap Screws, Nuts, Washers

MAO thrt MI2 oo 008-163............. 8
Metric Class 8/8.8 Hex Head Cap Screws, Nuts, Washers
M4 THIU M8 ..o 008-162.......... 7-8

Description Part # Page #

Metric 0-Rings Value Pack.
Metric 0-Rings Value Pack ...
0il Drain Plug and Gasket Kit.........
Qil Drain Plug and Gasket Update Kit.
Qil Drain Plug Gaskets...................
Qil Drain Plug Gaskets............
Qil Drain Plug Gaskets Tech Tray
Qil Drain PIugs ....cceevvrrerenenee
Oil Drain PIugS «.....coeveevevrereceeireennns
Qil Drain Plugs with Gaskets Tech Tray ..
Qil-Tite!® Drain Plugs and Gaskets ........
Push In/Screw In Retainers Tech Tray...............
Push-In Nylon Christmas Tree Fasteners Tech Tray ...
Quick Disconnect™ Connectors Tech Tray.........ccccoeeevrenenee.
Quick Disconnect™ Cooling/Transmission Connectors &

ClipS TECH TraY ..o 800-094
Quick Disconnect™ Fuel Line &

Sending Unit Repair TeCh Tray ........cccocveveerieerieriiennieenenns 800-299
Quick Disconnect™ Fuel Line Connectors Tech Tray . ...800-296 ..
Quick Disconnect™ Fuel Line Repair Kit ............... ...800-300..
Quick Disconnect™ Master Tech Tray............... ...800-103...

Quick Disconnect™ Qil Line Connectors Tech Tray ... ...800-102 ...
Quick Disconnect™ Retaining Clips Tech Tray .........cccccuee... 800-096
Quick Disconnect™ Transmission Line

Connectors TECh Tray .......coveeeveveiririicceeeeeeeee e 800-101

...199-446 ..
...030-165..
...030-630..
...030-204 ..
.912117 ...

Rivet Assortment Value Pack..
Self Drilling Screws.............
Shop Hardware Tech Tray...
Spark Plug Wire Retainers..........
SPINDLE-TITE!™ Spindle Hardware ...

Stainless Steel Hardware Value Pack.............. ...799-500 ..
Stainless Steel Sheet Metal Screws Value Pack ................... 799-510
Standard Automotive Grade 8 Hex Head Cap Screws,

Nuts, Washers 1/2" thru 3/4" ........ccccovvvieeeeeeeeenn, 008-151............. 5
Standard Automotive Grade 8 Hex Head Cap Screws,

Nuts, Washers 1/4" thru 7/16" .........ccovvvvvirincnnines 008-150.......... 4-5
Standard Grade 5 Hex Head Cap Screws, Nuts,

Washers 1/2" thrt 3/4" ..o 008-156............. 6
Standard Grade 5 Hex Head Cap Screws, Nuts,

Washers 1/4" thru 7/16" ........c.oovvieeeeeieeeeeeeeeeee 008-155.......... 5-6

Standard 0-Rings Value Pack.

Standard O-Rings Value Pack....
Stove Bolts with Nuts Value Pack ..............
USS Grade 5 Standard Hardware Value Pack.
USS Grade 5 Standard Hardware Value Pack.
VACU-TITE!® Vacuum Connectors & Tubing ..
Vacuum Caps Value PackK..........c.ccccoveuenee

Vacuum Connectors Value Pack ........
Vacuum Tees & Connectors Tech Tray...
Washers Value Pack...............c.........

Wheel Hardware.....
Wheel Hardware.....
Wheel Hardware.........

Wheel Hardware Update.
Wheel Hardware Update .
Wheel Hardware Update.
Wheel Nut Covers ..............

Wheel Nut Covers Tech Tray... .
Window Guides.................. ...030-202 ..
Wiper Linkage BuShings...........ccccooveviveeiviiiicccceeses 030-203...........

...199-451 ..

NUMERICAL INDEX

SJUSLILIOSSY JaMDI( 304§ SLID]

Part # Page # Part # Page # Part # Page # Part # Page # Part # Page # Part # Page # Part # Page #
005-098 ....... 008-650 025-320 ........ 31 030-539........ 45 047-679 799-335 ........ 57 800-094 ........ 50
005-100........ 008-651 . 025-350 ........ 32 030-541 ........ 45 512110 ... 799-350 ........ 57 800-095
005-113 .......... 008-652 025-555...32-33 030-611 ........ 46 512114.......... 799-355 ........ 57 800-096
005-114 ....... 008-657 ... 030-136 ........ 38 030-630 ........ 46 512115 ... 799-360 ........ 57 800-101
005-563 .......... 008-658 ... 030-155 ........ 38 030-709 ........ 47 512116 ... 799-420 ........ 57 800-102
008-150........ 008-662.... 030-165 ........ 39 030-720 ........ 47 512117.......... 799-430 ........ 57 800-103
008-151 .......... 008-663 ... 030-180 ........ 39 030-722 ........ 48 512118 ... 799-440 ........ 57

008-155........ - 008-664 ... 030-202 ........ 40 030-724 ........ 48 512120.......... 799-445 ........ 58

008-156 .......... 008-677 030-203 ........ 40 030-726 ........ 49 512327 ... 799-446 ........ 58

008-160 .......... 008-678 . 030-204 ........ 41 030-728 ........ 49 512338.......... 799-450 ........ 58

008-161 .......... 015-624 . 030-205 ........ 41 047-092 ........ 34 799-301 .. 799-451 ........ 58 800-300
008-162....... 025-070 . 030-206 ........ 42 047-191 ........ 34 799-305 799-452 ........ 58 800-999
008-163 .......... 025-075 . 030-208 ........ 42 047-614 ........ 34 799-310 799-453 ........ 59

008-171....... 025-085...29-30 030-211 ........ 43 047-616 ........ 35 799-320 799-500 ........ 59

008-640 .......... 025-150 ........ 30 030-400 ........ 44 047-617 ........ 35 799-321 799-510 ........ 59

008-642 .......... 025-160...30-31 030-496 ........ 44 047-676 ...35-36 799-323 799-550 ........ 59

61



Paris Store Drawer Assortments

EMPTY HARDWARE OPTIONS - PARTS STORE STOCK

001-005-C Left Countertop Five-Frame (28" x 87-1/2") Width
001-015-C Center Countertop Five-Frame (28" x 87-1/2") Width
001-020-C Separate Countertop Five-Frame (28" x 87-1/2") Width
001-060-C Left Countertop Three-Frame (28" x 53") Width
001-070-C Center Countertop Three-Frame (28" x 53") Width
001-075-C Separate Countertop Three-Frame (28" x 53") Width
005-900 Orange Frames (No Drawers)

005-901 Black Frames (No Drawers)
005-910 Empty Drawer W/ 12 Dividers
005-911 Empty Drawer W/ Blank Decal and Divider Labels

005-915 6" High Base

005-920 End Panel

005-922 12-5/8" Long Divider (Full Length)
005-925 3-5/8" Drawer Divider

005-930-D Blank Drawer Decal

005-930-T Blank Drawer Labels (Tabs)

EMPTY HARDWARE OPTIONS - DEALER-PAK

PART# Description

001-560-C  Top of Dealer-Pak Cabinet
001-555-C  Dealer-Pak 60-Unit Cabinet
001-565-C  Bottom of Dealer-Pak Cabinet
002-565-C  1/4" USS Nuts

Parts Store Drawer Assortments

EMPTY HARDWARE OPTIONS - INSTALLER DRAWERS

PART# Description

003-545-E Black/Orange Dorman Decal
1099235 8" Black Base

9999212 4 Drawer Empty Cabinet
9999213 2 Drawer Empty Cabinet
9999801-1 Adjustable Dividers, Single Pack
9999909 Adjustable Black Drawer
9999916 16-Compartment Drawer
9999920 20-Compartment Drawer
9999924 24-Compartment Drawer
9999932 32-Compartment Drawer

OPEN HOLE BINS

PART# Description

9999972 72-Hole Bin Black
015-048 16-Hole Bin, 9-1/2" High x 35-1/4" Wide x 12" Deep

015-049 40-Hole Bin, 21-1/2" High x 35-1/4" Wide x 12" Deep
015-050 72-Hole Bin, 42" High x 35-1/4" Wide x 12" Deep
015-051 Steel Base Unit for use with open hole bins

015-055 Bin Labels, 1-1/4" x 2-7/8"

EMPTY HARDWARE OPTIONS - TECH TRAYS
PART# Description

99200 13-1/8" Width x 2-5/16" Height x 9" Depth, Adjustable Bins
99202 16-1/2" Width x 2-3/8" Height x 13" Depth w/Handle, 24-Bins
99204 8" Width x 1-1/4" Height x 4" Depth, 6-Bins

99223 13-1/8" Width x 2-5/16" Height x 9" Depth, 24-Bins

99239 13-1/8" Width x 2-5/16" Height x 9" Depth, 12-Bins

99250 13-1/8" Width x 2-5/16" Height x 9" Depth, 16-Bins

99252 11" Width x 1-3/4" Height x 6-3/4" Depth, 12-Bins

99253 11" Width x 1-3/4" Height x 6-3/4" Depth, 18-Bins

60




ALPHABETICAL INDEX

Description Part #

2005 Wheel Hardware Update.... ....008-642..
Aluminum Rivets Value Pack.......... ....199-445 .
Cabin Air Filter Hardware Tech Tray .. ....030-180...
Clamps Value Pack...........cccocovvieunnns ....199-440 ..
Class 8/8.8 Metric Hardware Value Pack .. ...7199-321 ..
Control Knobs .........cccevevevivcvereieiiee.
Coolant 0-Rings Tech Tray
Cotter Pins Tech Tray ........
Cotter Pins Value Pack ..........cccccoveirercerinennn.
Dealer-Pak® Fasteners - Standard Grade 8 Coarse ..
Dealer-Pak® Fasteners, Metric Class 8.8 .................
Dealer-Pak® Fasteners, Metric Class 8.8 - Fine Pitch...
Dealer-Pak® Fasteners, Metric Class 8.8 - Fine Pitch...
Dealer-Pak® Maintenance Hardware......................
Dealer-Pak® Standard Fasteners, Grade 5.....
Dealer-Pak® Standard Fasteners, Grade 5 - Full....
Dealer-Pak® Standard Fasteners, Grade 5 - Popular.
Dealer-Pak® Wheel Hardware..............coccooeve.....
Distributor 0-Rings Tech Tray....
Door Hinge Pins.........c.ccccc.e.
DORMAN Body Hardware...........cccocvevireverreenirrennnnns
Dorman Chrome Wheel Hardware (Lock And Nut Sets)
Dorman Chrome Wheel Hardware (Lock Sets).........
Dorman Fasteners - Flat Wall........................
DORMAN License Plate Hardware .
Dorman® Quick Disconnect®....
Double Ended Studs..................
E-Clips and Snap Rings Value Pack ..
Exhaust Hardware......................
Expansion Plugs................
EZ Drain™ Qil Drain Valves....
Ford Body Retainers Tech Tray .........
GM/Chrysler Body Retainers Tech Tray.
Heater Hose Connectors...................
Home Assortment Value Pack ...
Import Body Retainers Tech Tray...
Installer-Pak® Chrome Wheel Nuts...........
Installer-Pak® Metric Double-Ended Studs
Installer-Pak® Qil Drain Plug Gaskets............
Installer-Pak® Qil Drain Plugs with Gaskets .........
Installer-Pak® Standard Double-Ended Wheel Studs ............ .
Installer-Pak® Wheel Hardware - Fast (Only Top Movers).....047-616
Installer-Pak® Wheel Hardware -

Popular (Complete COVErage).........ccouueurureneenencunineneineneens 047-617
License Plate Hardware Tech Tray .........c.ccc..... ....030-400 ..

Maintenance Fasteners - Clevis, Cotter & Roll Pins... ....008-171..
Maintenance Hardware Value Pack.................... ....7199-550 ..
Metric and Standard Double Ended Studs. ....008-677
Metric and Standard Double Ended Studs...........ccccoevrvnnennd 008-678
Metric Automotive Class 10/10.9 Hex Head Cap Screws,

Nuts, Washers M12 thru M16..........cocooveeeciieiieceene 008-161.............. 7
Metric Automotive Class 10/10.9 Hex Head Cap Screws,

Nuts, Washers M6 thru M10..........ccccoovvvieciicceean, 0
Metric Body Bolts and Nuts Tech Tray ......
Metric Class 8 DIN Hardware Value Pack..
Metric Class 8 JIS Hardware Value Pack................ccccoevnvee.
Metric Class 8/8.8 Hex Head Cap Screws, Nuts, Washers

MAO thrt MI2 oo 008-163............. 8
Metric Class 8/8.8 Hex Head Cap Screws, Nuts, Washers
M4 THIU M8 ..o 008-162.......... 7-8

Description Part # Page #

Metric 0-Rings Value Pack.
Metric 0-Rings Value Pack ...
0il Drain Plug and Gasket Kit.........
Qil Drain Plug and Gasket Update Kit.
Qil Drain Plug Gaskets...................
Qil Drain Plug Gaskets............
Qil Drain Plug Gaskets Tech Tray
Qil Drain PIugs ....cceevvrrerenenee
Oil Drain PIugS «.....coeveevevrereceeireennns
Qil Drain Plugs with Gaskets Tech Tray ..
Qil-Tite!® Drain Plugs and Gaskets ........
Push In/Screw In Retainers Tech Tray...............
Push-In Nylon Christmas Tree Fasteners Tech Tray ...
Quick Disconnect™ Connectors Tech Tray.........ccccoeeevrenenee.
Quick Disconnect™ Cooling/Transmission Connectors &

ClipS TECH TraY ..o 800-094
Quick Disconnect™ Fuel Line &

Sending Unit Repair TeCh Tray ........cccocveveerieerieriiennieenenns 800-299
Quick Disconnect™ Fuel Line Connectors Tech Tray . ...800-296 ..
Quick Disconnect™ Fuel Line Repair Kit ............... ...800-300..
Quick Disconnect™ Master Tech Tray............... ...800-103...

Quick Disconnect™ Qil Line Connectors Tech Tray ... ...800-102 ...
Quick Disconnect™ Retaining Clips Tech Tray .........cccccuee... 800-096
Quick Disconnect™ Transmission Line

Connectors TECh Tray .......coveeeveveiririicceeeeeeeee e 800-101

...199-446 ..
...030-165..
...030-630..
...030-204 ..
.912117 ...

Rivet Assortment Value Pack..
Self Drilling Screws.............
Shop Hardware Tech Tray...
Spark Plug Wire Retainers..........
SPINDLE-TITE!™ Spindle Hardware ...

Stainless Steel Hardware Value Pack.............. ...799-500 ..
Stainless Steel Sheet Metal Screws Value Pack ................... 799-510
Standard Automotive Grade 8 Hex Head Cap Screws,

Nuts, Washers 1/2" thru 3/4" ........ccccovvvieeeeeeeeenn, 008-151............. 5
Standard Automotive Grade 8 Hex Head Cap Screws,

Nuts, Washers 1/4" thru 7/16" .........ccovvvvvirincnnines 008-150.......... 4-5
Standard Grade 5 Hex Head Cap Screws, Nuts,

Washers 1/2" thrt 3/4" ..o 008-156............. 6
Standard Grade 5 Hex Head Cap Screws, Nuts,

Washers 1/4" thru 7/16" ........c.oovvieeeeeieeeeeeeeeeee 008-155.......... 5-6

Standard 0-Rings Value Pack.

Standard O-Rings Value Pack....
Stove Bolts with Nuts Value Pack ..............
USS Grade 5 Standard Hardware Value Pack.
USS Grade 5 Standard Hardware Value Pack.
VACU-TITE!® Vacuum Connectors & Tubing ..
Vacuum Caps Value PackK..........c.ccccoveuenee

Vacuum Connectors Value Pack ........
Vacuum Tees & Connectors Tech Tray...
Washers Value Pack...............c.........

Wheel Hardware.....
Wheel Hardware.....
Wheel Hardware.........

Wheel Hardware Update.
Wheel Hardware Update .
Wheel Hardware Update.
Wheel Nut Covers ..............

Wheel Nut Covers Tech Tray... .
Window Guides.................. ...030-202 ..
Wiper Linkage BuShings...........ccccooveviveeiviiiicccceeses 030-203...........

...199-451 ..

NUMERICAL INDEX

SJUSLILIOSSY JaMDI( 304§ SLID]

Part # Page # Part # Page # Part # Page # Part # Page # Part # Page # Part # Page # Part # Page #
005-098 ....... 008-650 025-320 ........ 31 030-539........ 45 047-679 799-335 ........ 57 800-094 ........ 50
005-100........ 008-651 . 025-350 ........ 32 030-541 ........ 45 512110 ... 799-350 ........ 57 800-095
005-113 .......... 008-652 025-555...32-33 030-611 ........ 46 512114.......... 799-355 ........ 57 800-096
005-114 ....... 008-657 ... 030-136 ........ 38 030-630 ........ 46 512115 ... 799-360 ........ 57 800-101
005-563 .......... 008-658 ... 030-155 ........ 38 030-709 ........ 47 512116 ... 799-420 ........ 57 800-102
008-150........ 008-662.... 030-165 ........ 39 030-720 ........ 47 512117.......... 799-430 ........ 57 800-103
008-151 .......... 008-663 ... 030-180 ........ 39 030-722 ........ 48 512118 ... 799-440 ........ 57

008-155........ - 008-664 ... 030-202 ........ 40 030-724 ........ 48 512120.......... 799-445 ........ 58

008-156 .......... 008-677 030-203 ........ 40 030-726 ........ 49 512327 ... 799-446 ........ 58

008-160 .......... 008-678 . 030-204 ........ 41 030-728 ........ 49 512338.......... 799-450 ........ 58

008-161 .......... 015-624 . 030-205 ........ 41 047-092 ........ 34 799-301 .. 799-451 ........ 58 800-300
008-162....... 025-070 . 030-206 ........ 42 047-191 ........ 34 799-305 799-452 ........ 58 800-999
008-163 .......... 025-075 . 030-208 ........ 42 047-614 ........ 34 799-310 799-453 ........ 59

008-171....... 025-085...29-30 030-211 ........ 43 047-616 ........ 35 799-320 799-500 ........ 59

008-640 .......... 025-150 ........ 30 030-400 ........ 44 047-617 ........ 35 799-321 799-510 ........ 59

008-642 .......... 025-160...30-31 030-496 ........ 44 047-676 ...35-36 799-323 799-550 ........ 59

Learn more about brake parts on our website.

61


https://www.carid.com/brake-parts.html

	AutogradeAsstGuideCvr2006
	2500015_AssortmentGuide_pg_0i_06
	2500015_AssortmentGuide_pg_07_09
	2500015_AssortmentGuide_pg_10_13
	pg37

	2500015_AssortmentGuide_pg_14_18
	2500015_AssortmentGuide_pg_19_22
	2500015_AssortmentGuide_pg_23_27
	2500015_AssortmentGuide_pg_28_36
	2500015_AssortmentGuide_pg_37_40
	2500015_AssortmentGuide_pg_41_44
	2500015_AssortmentGuide_pg_45_48
	2500015_AssortmentGuide_pg_49_52
	2500015_AssortmentGuide_pg_53_56
	2500015_AssortmentGuide_pg_57_59
	2500015_AssortmentGuide_pg_57_60
	2500015_AssortmentGuide_pg_57_61
	NUMERICAL INDEX

	2500015_AssortmentGuide_pg_60
	2500015_AssortmentGuide_pg_61
	NUMERICAL INDEX




